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1. The Bamiyan Valley in the Hindu Kush mountains was a key node of the early Silk Routes.

Consider the following statements.

2. The Bamiyan Buddha statue was a confluence of Gupta, Sassanian and Hellenistic artistic
styles.

3. The remains of the Bamiyan Buddhas were the first site in Afghanistan to be inscribed in the
UNESCO list of world heritage sites.

Which of the above statements is/are correct?

@2 B)1,3

02,3 m1,2,3

Consider the following statements.

1. Magadha was one of the sixteen Mahajanapadas that emerged as the most powerful state and
the centre of a vast empire.

2. Ajatasatru was the first king of Magadha Empire.

3. Pataliputra was the first capital of Magadha.

Which of the above statements is/are correct?

@1 only (B) 1,2
o113 D)2,3

Consider the following pairs.

Mahajanapadas — Cities

1. Magadha — Rajagriha
2. Kosala — Taxila

3. Avanti — Ujjain

Which of the above pairs is/are correctly matched?
(A) 1 only 31,2

@:.3 (D) 2,3

The Chauth and Sardeshmukhi were taxes conceived during the times of
(A) Sambhaji @) shivaji Maharaj
(C) Madhavrao (D) Balaji Bajirao

The reign of Chandragupta-I started in the year
(A) 367 A.D. (B) 305 A.D.
(C) 307 A.D. @320 A.D.

Which among the following is not a correct pair?
(A) Ellora Caves — Rashtrakuta Rulers (B) Mahabalipuram — Pallava Rulers
(C) Khajuraho — Chandellas .Elephanta Caves — Maurya Era
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On which of the following systems of Hindu Philosophy, Shankaracharya wrote commentary in
9th century AD?

(A) Sankhya (B) Vaisheshika

(C) Yoga .Uttar Mimansa

Who was the last Hindu emperor of northern India?

.Harsha (B) Pulakesin II

(C) Rajyavardhana (D) Skandagupta

Who was the Viceroy of India when The Swadeshi Movement was proclaimed?
@)1.0rd Curzon (B) Lord Irwin

(C) Lord Willingdon (D) Lord Lansdowne

Who set up Swadesh Bandhab Samiti to propagate the Swadeshi Movement?
(A) Surendranath Banerjee (B) Rabindranath Tagore
(C) G K Gokhale .Ashwini Kumar Dutt

Which of the following battle is considered as the most decisive battle than the Battle of Panipat
for the Mughal conquest of India?

@)Battic of Khanwa (B) Battle of Ghaghra
(C) Battle of Chanderi (D) Battle of Ab Darrah Pass

Princely state “Jhansi” was annexed to the East India Company under which of the following

doctrine?
.Doctrine of Lapse (B) Doctrine of Basic Structure
(C) Doctrine of Eclipse (D) None of the above

Who among the following is the only female historian to write the historical account of Mughal
period during the Mughal Empire?

.Gulbadan Begum (B) Noorjahan Begum
(C) Jahanara Begum (D) Razia Begum

Who among the following is the author of the Book “The First Indian War of Independence
1857-1859”?

(A) Vinayak Damodar Savarkar .Karl Marx
(C) Sethani Kampani (D) Viscount Hardinge

Who among the following is described as “the best and bravest military leader of the rebel” by Sir
Hugh Rose, a Senior British Army Officer?

.Laxmi Bai (B) Kunwar Singh
(C) Amar Singh (D) Bahadur Shah Zafar
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1. Chandragupta Maurya’s conquest of parts of the region around 322 BC to 294 BC. He appointed
Pushyamitra as the ruler of Junagadh.

2. Emperor Ashoka left his mark on Gujarat through inscriptions on rocks near Junagadh during
the same period.

Evaluate the above mentioned statements.

(A) only 1 is correct (B) only 2 is correct

(C) both 1 and 2 are not correct. .both 1 and 2 are correct.

The use of Kharoshti in ancient Indian architecture is the result of India's contact with which
region?

(A) Central Asia (B) Iran

.Greece (D) China

Consider the following statements regarding Mauryan Kingdom.

1. The mainstay of economy in this period was agriculture. The Mauryan state founded new
agricultural settlements to bring fertile unused land under cultivation.

2. Sitadhyaksha officer was given the responsibility to look after the inland navigation.
Which of the above statements is/are correct?

.1 only (B) 2 only
(C) 1 and 2 both are correct (D) 1 and 2 both are not correct

1. Maratha leaders Damaji Gaekwad and Kadam Bande ruled over the territories of Gujarat,
with Gaekwad establishing a strong presence in Baroda.

2. Starting in 1850 AD, the British assumed control of the region, and this dominion continued
until India’s independence in 1947.

3. The Portuguese made their way to Gujarat and established footholds in areas such as Daman,
Diu, Dadra and Nagar Haveli during their colonial expansion.

Evaluate the statements.
(A) 1 and 2 are correct (B) 2 and 3 are correct
.1 and 3 are correct (D) 1, 2 and 3 all are correct.

From the following statements which statement is not correct?

(A) Indulal Yagnik played a pivotal role in leading a movement advocating for a separate Gujarat
State.

.On May 1, 1961, Gujarat was officially established as a distinct state, and Ahmedabad was
chosen as its capital city.

(C) In 1971, Ahmedabad made way for Gandhinagar, a modern city designed, to assume the role
of the capital of Gujarat.

(D) Gujarat faced significant challenges, including a devastating earthquake in 2001 with its
epicentre in Kutch.
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022. [Atun 1 : @i 2A3dE sfoum- Al UAH 21A-R Sl
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(A) 1247 2 2 8. @2 >3 w8,

(C) 12 3 AL 89, (D) 1,2, 3 dMIH 1L 69,
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(A) 1829 @117

(C) 1858 (D) 1853

024. WL el 2 58 53 edl ?

(A) S23g [QenaR (B) 33

() 313 €3 @321 2is Al il 2ucnm wigdol
025. Aisl8d gl (Lokhitwadi) 4l siaL oelldy ¢9 ?

(A) earrie u=zadl @i R 2ayn

(C) usiea duldg A3 (D) 44 205
026. ‘Adl, A& drs wieoL aulat’ - 2 [Qan sidl sgj ?

(A) RAHEWL URHE @)l [asiie

(C) ga-ie uadl (D) AN AH HIgH AU

027. 0A- VL s AHY YIRS 1826 1L %y HAMRUH (Jury Act of 1826) -l uvid [ARlY sul ?
(A) AYUAULL 61U (B) usiea 2ulde a3
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Who among the following is regarded as the real founder of the Portuguese colonial empire in
India?

(A) Vasco da Gama (B) Francisco de Almeida

(C) Columbus .Afonso de Albuquerque

1. First Governor of Bengal was Lord Amherst

2. First Governor-General of Bengal was Warren Hastings

3. First Governor-General of India was William Bentinck.

From the above mentioned statements, select proper option:

(A) 1 and 2 are correct .2 and 3 are correct

(O) 1 and 3 are correct (D) 1, 2 and 3 all are correct

When was the Hindu College, Calcutta established?
(A) 1829 @1517
(C) 1858 (D) 1853

Who established Prarthna Samaj?

(A) Ishwar Chandra Vidyasagar

(B) Derozio

(C) David Hare

.Atmaram Pandurang with the help of Keshav Chandra Sen

Who is called the “Lokhitwadi”?

(A) Dayanand Saraswati .Gopal Hari Deshmukh
(C) Mahadev Govind Ranade (D) Mul Sankara

Who had said, ‘Let’s go back to the Vedas’?

(A) Ramakrishna Paramahamsa .Swami Vivekananda
(C) Dayanand Saraswati (D) Raja Ram Mohan Roy

Which one of the following social reformers strongly opposed Jury Act of 1826?
(A) Rajnarayan Basu (B) Mahadev Govind Ranade
.Raja Ram Mohan Roy (D) Ishwar Chandra Vidyasagar

Pairs showing Early Revolutionary Movements related cases in India, and the main person/
persons concerned are mentioned below.

1. The Muzaffarpur Conspiracy Case — Khudiram Bose and Prafulla Chaki
2. Nasik Conspiracy Case — Anant Laxman Kanhere

3. Lahore Conspiracy Case — Bhagat Singh, Rajguru and Sukhdev

4. Chittagong Armoury Raid Case — Surya Sen, Ganesh Ghosh, Lokenath Bal
Evaluate the pairs.

.1, 2, 3 and 4 are correct (B) 2, 3 and 4 are correct

(O) 1,3 and 4 are correct (D) 1, 2 and 3 are correct
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@S dislnclze Quocdlsa Hailll2iaq (D) cudlu Araadl ua

030. 19204 23 23dl 2AsR-1 AN 118 1A UL Si-1L Yyl dioudgaio s ?
(A) 2.5, 2Und (B) Hidlawa 183
(C) SIS AR @) ctisru-u las

031. 192541 515131 2 M3UAHE G A=A+ UL suL AR @t Atz $i0] 2uuami 2udl ¢dl ?
@101 (s, 20mzue Brzalla 217 219515 Geew v
(B) M2ud [As, yviga, Ax23
(C) u2EIR Ban [, Au v2ue [Brafla, 219815 Geen wi
(D) X WAE [Braafla, mod R, 219818 Gean wil

032. Guu s gL B iy xuA5 A4 2ol HiRAH] 20l ¢l dg un g 8q ?
(A) 514 39U 3as &3 3142 (Colonel Reginald Edward Harry Dyer)
(B) opsin AL3A (John Saunders)
@12 S sa silaz 23R (Sir Michael Francis O’Dwyer)
(D) Buisd U4 2isual 4l

033. A sid ‘cudl 2aildu Rar ssarsa ?
(A) QLAL AAYUA AX (B) dlWA ™1 2UmE
@< s as (D) He- HisA wala

034. il tiar2 sidl 08 As0nAAL Sl ?
(A) Beansd anan (B) USSR ANAN
(C) AlAu si-preioL Anan @) <136 anan

c

035. 512 A2 BAY, HURAHL 1A% glRL sinH] 2udal uaH [Seal sui [Rud ¢di ?

(A) 2 (B) 5lasldl
(C) ol (11,016) @ (AuS)
036. AR, 192041 SIAA .......... vild-l AAdAHE 25 aHEsEl aq dlsRARD 20 8q A
ASHIA SIASH BUAAUH Sl Sl
(A) A&810UE (B) ol
@ oy (D) 545t
037. HslL Al .......... , 1930 A% £idl usi=uL 8.
(A) W2l 6 @b 6
(C) WA 12 (D)4 12
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Freedom Fighter Shaheed Bhagat Singh was associated with which of the following Organisations?
(A) The Swaraj Party

(B) Indian National Congress

.Hindustan Socialist Republican Association

(D) The Indian Communist Party.

Whose death coincided with the launch of the non-cooperation movement in 1920?
(A) GK Gokhale (B) Motilal Nehru
(C) Dadabhai Naoroji .Lokmanya Tilak

Which of the three freedom fighters of India were hanged to death in the Kakori Train Conspiracy
in 1925?

.Roshan Singh, Ram Prasad Bismil and Ashfaqulla Khan
(B) Bhagat Singh, Sukhdev, Rajguru

(C) Sardar Udham Singh, Ram Prasad Bismil, Ashfaqulla Khan
(D) Ram Prasad Bismil, Bhagat Singh, Ashfaqulla Khan

What was the name of the British Officer who was shot by Udham Singh?
(A) Colonel Reginald Edward Harry Dyer (B) John Saunders
.Sir Michael Francis O’Dwyer (D) None of the above

Who was called by the British as the ‘Father of Indian Unrest’?
(A) Lala Lajpat Rai (B) Gopal Krishna Gokhale
.Lokmanya Tilak (D) Madan Mohan Malaviya

Annie Besant was associated with
(A) Khilafat Movement (B) Non-Cooperation Movement
(C) Civil Disobedience Movement .Home Rule Movement

Fort Saint George, the first fort built by the British in India was located at

(A) Goa (B) Kolkata
(C) Bombay (Mumbai) @) Madras (Chennai)
At the Congress session at in December 1920, a compromise was worked out, and the

Non-Cooperation programme was adopted.

(A) Allahabad (B) Bombay
.Nagpur (D) Calcutta
Mahatma Gandhi reached Dandi on , 1930.

(A) March 6 @aprit 6
(C) March 12 (D) May 12

[CSP-1] ero. K
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BeAGUE AU MIRAIL UATUSL FHIOL Gi-lddl HI2 AEIR USA gIRL 5% YA S8 HRAUML
WY ¢ ?

(A) 23U 6y 21 @-iu2a vial

(C) U Al (Seize) (D) 2AuRam Y[Rl

SULAHT UREIR U2 SI3AU UAH [y sd Wy oL ?

(A) 1925 (B) 1926

(C) 1929 ® 1931

QU sl [Ban’ KA1 Goauui 2ud 8 ?

(A) 15 2212 (B) 25 [3aw1R

@s1 20528002 (D) 26 A=Yl

UL 2R Audl 2l 1ot ur g"l[gi%R $ql HI2 The State Reorganization Commission-il
21 195341 sl 20l ¢dl. 2 dde .......... 2 5y 8d.

@: ) (B) 3. 21 uellsR

(C) AU N5 (D) A1 Al 11

Aue gl Godl sl 2udd A ug FH AU gL Al ysaell sani suadl el w4 gHA
HAUGLEIR L SAUAL 860 H5AUML 2UAA S, d ..., als vtinvudl edl.

(A) arcudl (Walashahi) (B) spuansl (Barawardi)

(C) JCumaki @): 51 (Dakniliy

219851+ Anan-l 2142 [Qgl D2l W4 sy (A aca e ?
(A) 1921 241 1922 a3 (A2l aatdl 2uaid 2134 ag A,

(B) ©el 201 Al 21 [Qsdizia (G2l mauiandl R sau-l 2 [@gell carniz- -usn
AL SHSIR Sul.

(C) AuRdlu 5143 Rl 244 glasung G awy,

@)Guzisa arun

olAuican 6oL SRUSIS 5 B AUHAU SuSIS aZls ueL ARldl & d .......... AL A% A Sl
@13 2B, 1919 (B) 13 9, 1919

(C) 13 %, 1919 (D) 13 eSS, 1919

DA-u UL 510 ‘@R HEA @aR’ a3 oella e ?

(A) el auta-ie (B) 2l [Qdsi-ig

(C) % AH HisH AU @)l causie uadl

GulAuel .......... ENUETRIERE RS

(A) -l @)zl

(C) Rz [Qsun (D) AHDS 2ar
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038.

039.

040.

041.

042.

043.

044.

045.

046.

Which operation was carried out by Sardar Patel to make Hyderabad State a part of the Indian
Republic?

(A) Operation Blue Star .Operation Polo

(C) Operation Seize (D) Operation Unity

When was Sardar Patel first appointed President of Congress?

(A) 1925 (B) 1926

(C) 1929 @1931

When is “National Unity Day” celebrated ?

(A) 15 August (B) 25 December
@1 october (D) 26 January

The State Reorganization Commission was formed in 1953 to reconsider the demand for language-
based state formation, which was led by

@raza Ali (B) K M Panikker
(C) H. N. Kunjakar (D) M. C. Mahajan

The troops raised by the emperor but not paid directly by the state and place under the charge
of mansabdars were known as

(A) Walashahi (B) Barawardi
(C) JCumaki @) p:knili

Which of the following statements about the effect of the Non-cooperation Movement are true?
(A) The import of foreign cloth halved between 1921 and 1922.

(B) In many places, merchants and traders refused to trade in foreign goods or finance foreign
trade.

(C) Production of Indian textile mills and handlooms went up.

.All of the above.

The Jallianwala Bagh massacre, also known as the Amritsar massacre, took place on
@13 April 1919 (B) 13 May 1919
(C) 13 June 1919 (D) 13 July 1919

Who among the following is known as ‘Martin Luther of India’?

(A) Swami Shraddhanand (B) Swami Vivekananda

(C) Raja Ram Mohan Roy .Swami Dayanand Saraswati
Upanishads are books on :

(A) Politics .Philosophy

(C) Medicine (D) Social life

[CSP-1] rro. KX
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047.

048.

049.

050.

051.

052.

[Ruy, (Rigld-) Qlsl glRl Yyl 2uadl You Y3u eadl 581 dl ?

(A) Mta-t vy @cvruq ia

(C) msu (D) $+%

A WA s ama000 AN (B2l A% 249 A1 WAL (Crown rule) $SHi 2ud €9 ?
@) 1557 0 1947 (B) 1858 ¢ 1947

(C) 1860 4 1947 (D) 1862 4l 1947

94¢ (A9l Al [Qaul fuqni al.

1. 90 (Pua) Aoe-l Bedn HenH $AUML 2UAA €9 24 214 51O el Gedu 21 Ad AAURAAIR ScUHE
dd A,

2.2l25 dlsl AR U (tunsl) 241 U, (612) HIS WelHL Sl Sl
GuL Ul £y [Qanq / sa [Qanl aea 69 ?

(A) HA 1 @2
(C) 1 a2 6id (D) 1 A2 2 Higdl 2is uaL 1l
AU (Tarain)g UAH 4G .......... e AoilAa 69,

@Gz curau [Bg ardlei wéue vl A adis sl sd
(B) 1o AHepaHl HeHE Al [A3g trnall

(C) YR Al a3 Raui ol yg

(D) HRA6L ¥ A%BYl A Y

Ul3d efllmaq 2sll [Qal -l >udan [Qanl 2uqui al.

1. URd efluar ogllal du-i 943 A diudA seaig(@ 3u uad siud olld Geuard 2wl saHl
Herarl ¢4Rst Myl 8dl.

2. A2l [Sgatdl ausllu 2Aolld- [(3u-u (Kirana) 8w sulds oidgens €aa- ansiedlq gdl.

Busd [l WS sy / sun Qe aca 9 ?

(A) " 1 (B) W12 2

(C) 1 241 242l 25y =) @1 o2 oid

AU (Grandmaster)-l [Braied (title) (gl NA-u [Qau-l 2uui al.
1. A3HIR2R UM Bt 24 6% 8 % A1 vensdl wid s3 a5 6.

2. AmsuIR2R [Braior ddioid AMMAAA s e Wi §33U-4 (Global Association of
International Sports Federations) (GAISF) g\l VAU SAUHE 29 89,

3. 9Ll B UL sYRAUR YR A4 516 WAl AlsHIze: [Braol Sldl dami 2udd Siu da
Aol (R Hadld 2uuaHl 2udd ALmsHIRe: [Bidioy 202an, Hird W 69,

Gur WSl sy [Atnq / s [l aea & ?
(A) WA 1 (B) 1,2
@:.3 (D) 1,2,3
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047.

048.

049.

050.

051.

052.

Who was the main male God worshipped by Indus people?

(A) Lord Vishnu @) 1ord shiva

(C) Brahma (D) Indra

Which of the following period is called as British Raj or Crown rule in India?
@ 1557 t0 1947 (B) 1858 to 1947

(C) 1860 to 1947 (D) 1862 to 1947

Consider the following statements regarding Rig Veda.

1. The term gau (cow) has been mentioned maximum number of times and no other animal is
mentioned so frequently.

2. Vedic people frequently pray for praja (children) and pasu (cattle).
Which of the above statements is/are correct?

(A) 1 only .2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

The First Battle of Tarain is related to

.The Hindu princes of north India fighting against Muhammad Ghori
(B) Revolt in Gujarat kingdom against Mahmud of Ghazni

(C) Land battles in Sind between Muslim princes

(D) The battle between the Marathas and Rajputs

Consider the following statements regarding Pandit Bhimsen Joshi.

1. Pandit Bhimsen Joshi was instrumental in organising the Sawai Gandharva Music Festival as
homage to his guru, Sawai Gandharva.

2. He was a contemporary of Gangubai Hangal, singer of the Kirana gharana of Hindustani
classical music.

Which of the above statements is/are correct?
(A) 1 only (B) 2 only
(C) Neither 1 nor 2 .Both 1 and 2

Consider the following statements regarding the title Grandmaster.
1. Grandmaster is the highest title or ranking that a chess player can achieve.

2. The Grandmaster title is awarded by the Global Association of International Sports Federations
(GAISF).

3. The title Grandmaster is valid for life, unless a player is stripped of the title for a proven offence
such as cheating.

Which of the above statements is/are correct?
(A) 1 only B)1,2
@3 D) 1,2,3
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053. 2412 vjai21 (A9l Nai-u [l 2uqni Al
1. AHEL BIRL A A Bl Aa Adlld 01 29 sl
2. Axal [€g 14 Sl ueuelA AMBA 5307 scardl als 2invudl snan Holla-dl Adl Adl [asudl.
3. AHBl oL UHL Yreisell 2270 53,
GuL U4l £y [Qanqt / sa (Al aca 69 ?
(A) WA 1 @:.2.3 ©1,3 D) 1,2

054. QURAH] a2 (mural paintings) (@91 12+ [@Qa-l uui Al
1. llaloi wglas sl 211 R siidl AR (un) vidui ol vl 8.
2. 21 [ [Braiuelds agu-u 9.
3. 519100 U AHLl A1 det dH- AL g A el 21043 €.
Gur-u U4 5y (At / sun Qs uea 9 ?

@1 (B) 1,2 ©)1,3 D)1,2,3
055. ol (Jaapi), HIRAS (Xorai) i1 WHIAL (Gamosa) A HuAUcd $UL A%Y WA As0ndaL 6 ?

(A) HlBy2 (B) -woudss [ e (D) Fhiru
056. [y vRadl neudl (civilization)d, - WA sui 220 HIRAH] 20dQ € ?

1. HigA-€3l (Mohenjo-Daro) 2. Avil2Lél (Rakhigarhi)

3. il (Ganweriwala) 4. aicndlu (Dholavira)

AAnidl sis urie s2i.

(A)1,2,3 @:. 4 (©)2,3,4 D) 1,2,4

057. cgial Gt (Wanshuwa festival) (A2l l2-u [dai-l 2uqui al.
1. dgyal Gena 2uuM-u 5200 24024191 (Karbi Anglong) [Precumi Goraiui 2ud €.
2. d [deu (Tiwa) 2ulgaflzAl g1 Garaami »ud €.
BuR-L WSl sy [Aanq / s [l aea 9 ?
(A) WA 1 (B) {12t 2
@1 = 2in (D) 1 347 2002l 245y 4l

058. IR ssis [Qal Al [as-l 2uqul al.
1. 1R SlAsiu W0 ssis wlauiaal ouol susis ud siddl g2 6.

2. d-l Gedu Gulearll wlauiaar adls sami 2ud 9 5 Hi [Bda asdd enl gl sl dla
el s sami 2udl gdl.

3. 101l 253024 A2 24 aRAd-l uee 2udd] ©.

GuL WAL s [l ueu 69 ?
(A) 1,2 ®) 1,3
@:.3 D) 1,2,3
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053. Consider the following statements regarding Amir Khusrau.
1. He introduced new musical ragas such as ghora and sanam.

2. He evolved a new style of light music known as qwalis by blending the Hindu and Iranian
systems.

3. He authored the work Tuglaq Nama.

Which of the above statements is/are correct?

(A) 1 only @23
o LnL3 M1,2

054. Consider the following statements regarding Mural paintings in India.
1. Mural paintings can be found in both natural caves and in rock-cut chambers.
2. These paintings are secular in nature.
3. The Mural paintings are unique because of their small size, which can be contained on paper.

Which of the above statements is/are correct?
@1 only B) 1,2 .
o113 M1,2,3
055. Jaapi, Xorai and Gamosa are primarily associated with which State?
(A) Manipur (B) Nagaland
.Assam (D) Mizoram
056. Which of the following sites of Indus Valley Civilization are located in India?
1. Mohenjo-Daro 2. Rakhigarhi
3. Ganweriwala 4. Dholavira
Select the correct answer code:
A)1,2,3 @:. 4
©0)2,3,4 M)1,2,4

057. Consider the following statements regarding Wanshuwa Festival.
1. Wanshuwa Festival is celebrated in Karbi Anglong district of Assam.
2. It is celebrated by Tiwa tribesmen.
Which of the above statements is/are correct?
(A) 1 only (B) 2 only
.Both 1 and 2 (D) Neither 1 nor 2

058. Consider the following statements regarding Mangarh massacre.
1. In the Indian history, Mangarh massacre took place after the Jallianwalla Bagh massacre.

2. It is referred to as the “Adivasi Jallianwala”, which saw hundreds of Bhil tribals being killed by
British forces.

3. The hills of Mangarh is located on the border of Rajasthan and Gujarat.
Which of the above statements are correct?

A)1,2 B)1,3

@:.3 (D) 1,2,3
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059.

060.

061.
062.

063.

064.

065.

A2 2uia cudly uFuAdd sou 21 d- e Asnda You Al A IAHI Al
1. Al stu — Brus

2. 90138 s — weumeal

3. 121 R=son — aesaq

Bu-iL U4l 59 ALl / Al uiou dd Al © ?

(A) WA 1 @:.: (©)2,3 D1,2,3

“agfaurat”’ (Al A [Qandl Lunui Al

1. 2 Yaeis SR GIRL ARG HIMIHE AAHT 20 8.

2. ‘G a’ Al 8dUd Al UM B34 [D-AU (James Prinsep) 121 AWML 2ud) dl.
3. d A Slasia-l Al verayel A8[As ta 8.

Guu U sai [Qandl A ¢ ?

(A) 1,2 @:.: (©)2,3 D1,2,3
dH] A4l .......... 4 yuu susia .

A) ula (B) 13yl

@:s (D) susdl

518l uYy (Kathi Samu) .......... AUl BeMadl wall cudlu yg sou 8.

(A) HSIRI (B) Ut

(C) ulary @)isnza

dlsaed Aoifd ayeradl 12 2uddl A Luqui Al

1. $13RIR gt — RuioL uygIu (Reang community)

2. C‘ﬂa\}, (Bijhu) e — A5HL AYe (Chakma community)
3.4 (Cheraw) icd — [Bost AYEWU (Mizo community)
BuiL Ul 56 Al / AdlAl uloy Ad Al € ?

(A) WAL 1 (B) 1,2 ©)1,3 @123
Yaagilas yras aRd sl sa ?

(A) % [ SETHRIRE

(C) sy (D) udA™z

[AorunaiR Hl(eR ke s2ens you aagll 1A U5l suLedi ?

1. Gl ollyu

2. A AL SRURL HIY

3. ™ Guz [Qieudl xMa

A1 BriR 513 uE $3U.

@, (B) {1 1 (©)2,3 D)1,2,3
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059. Consider the following pairs of India’s traditional arts and the State it is mainly associated with
1. Sanjhi art : Uttar Pradesh
2. Gond art painting : Madhya Pradesh
3. Rogan painting : Rajasthan
Which of the above pairs is/are correctly matched?
(A) 1 only @:.2
02,3 M1,23

060. Consider the following statements regarding “Arthashastra”
1. This book in Sanskrit was written by Kautilya.
2. The manuscript of ‘Arthashastra’ was first discovered by James Prinsep.
3. It is the most important literary source of the Mauryan history.
Which of the above statements are correct?

(A) 1,2 @:.;
©2,3 1,23
061. Jugalbandhi in dance, is one of the main attractions in
(A) Sattriya (B) Manipuri
@ xathak (D) Kathakali
062. Kathi Samu is an ancient Indian martial art originated in the State of
(A) Maharashtra (B) Punjab
(C) Manipur .Andhra Pradesh

063. Consider the following pairs of Folk Dance Related Community
1. Hozagiri Dance — Reang community
2. Bijhu Dance — Chakma community
3. Cheraw Dance — Mizos community
Which of the above pairs is/are correctly matched?

(A) 1 only 3B)1,2
©)1,3 @1.2.3
064. The book ‘Panchasiddhantika’ was written by
(A) Nagarjuna .Varahamihira
(C) Chanakya (D) Aryabhata
065. Which of the following were some of the chief characteristics of the Vijayanagara temple
architecture?
1. Tall gopurams

2. Kalyanamandapam with pillars

3. Absence of sculptures on pillars

Select the correct answer code:

@2 (B) 1 only
(€)2,3 1,23
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066.

067.

068.

069.

070.

071.

ardl (Warli) 222~ (a9 QA 2uden [Qaunl Luqui al.

1. ARl 2oU[A7 UM HBIRE 1A -l g2 2u(Eondl uelHi analz sl 2is -l g-ald Gurdll
usy .

2. 20 20U W2 L HIB el git ™ uiotl GorarllHi dui-l (84 2l 61130 duiR UMl 2ud 6.

3. & el 2oL Al ay yrualdd adl [@uaarg (theme) 9.

GuR- WAL sul (Al nea &9 ?

(A) 1,2 (B)1,3 (€)2,3 @123

D2 20l seydoil-aiou-l Adl2l a5l

1. taeL s — 1y 2. 91yl — (B8R

3. wialgy — 50 4. Alg LUIHAAL — AiHNEA

Bua-it U4l 59 Al il Azl € ?

(A)1,2,4 (B) 1A 3 ©)2,3 @):.3,4
ALl 21 2usHl ALl al2sy .......... Sdl.

(A) wRIL AR[AD w12 2l wdl gsHl

(B) 2lis UEA-u 818

(C) ol Al QSLRUHE AHA, 20 AvaL-dL Busell
@)-i(231 20 Anda AalRs il

A2 2uian [Qaidl i al.

1. 3L (Dokra) s% Ale-dsu 1l (lost-wax casting) asLAAL Guaiol sl 5 (ferrous) wed
siR2a1 5o €9,

2. dize-As 51291 (lost-wax casting) ds-14l GUAHE 20U 4000 vl GuuAMi i € A d 0%
weL 1A 2R Yd MIRArL $1E101R1 gL Gualami Ay 8.

3. HIgA-e3ll e sl 69153 Alze-AsAU (lost-wax) satslaai-l Alell wdl4 WA 215 6.
Bu-i U4l sui [Qa-l e ?

(A) 1,2 @:.3 1,3 ™1,2,3
HHAH (mamangam) 28 [l w51l dUIR Bid 8dl F .......... Ui Goradl gdl.
(A) dlRa-ug (B) ddoueu

@::0 (D) 2l

A1 U5 AL uAH S8 HsieHL A wseldr se1 Sl ?

(A) FUSRAUA 183 (B) URER dcAMAUS udd

(C) dlwd g4 o0vd @)cunais oiy
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066.

067.

068.

069.

070.

071.

1. Warli painting derives its name from a small tribe inhabiting the remote, tribal regions of

Consider the following statements regarding Warli paintings.

Maharashtra and Gujarat.
2. These paintings are made mostly by the women as part of their routine at auspicious celebrations.
3. Marriage is the most recurring theme of Warli paintings.

Which of the above statements are correct?

A)l1,2 31,3
(©)2,3 @123
Consider the following pairs:

Puppetry State

1. Ravanchhaya Manipur

2. Yampuri Bihar

3. Pavakoothu Kerala

4. Tholu bommalata  Andhra Pradesh

Which of the above pairs are correctly matched?
A)1,2,4 (B) 3 only
(©)2,3 @:. 3.4

In the seventh and eighth centuries, ‘ghatikas’ were

(A) Royal decrees passed with the consent of the citizens
(B) Guards of religious shrines

(C) Time keeping devices kept at astronomical houses
.Educational institutions attached to the temples

Consider the following statements.
1. Dokra art is a ferrous metal casting art that uses the lost-wax casting technique.

2. The lost-wax casting technique has been in use for over 4,000 years in India, and is still practised
by artisans in central and eastern India.

3. One of the earliest known lost-wax artefacts is the dancing girl of Mohenjo-Daro.

Which of the above statements are correct?

(A) 1,2 @:.3

o)1,3 M1,2,3

Mamangam was a 28-day-long medieval trade festival which was celebrated in

(A) Tamil Nadu (B) Telangana

.Kerala (D) Goa

Who among the following was the first to call Mahatma Gandhi the “Father of the Nation”?
(A) Jawaharlal Nehru (B) Sardar Vallabhbhai Patel

(C) Gopal Krishna Gokhale .Subhas Chandra Bose
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072.

073.

074.

075.

(At 1 : M He1ga HOll ogote ASHL P12 uddrl dflél vid R ®a-ua usigar 22 vid
Al 6.

(At 2 : Ra-lalRal Aol erndul AeiRsist [Fearrl AU A28 AL MPIEL UHHI Al €.
SLoll-l Gorasll-it uvail3un e dlondl 21 si-ivil Hol 6.

(At 3 : 2 Aol €2 ad Alsl 5 ol A6RHUAL 247 Alats 6 AEL2AAL AH AL 8 Al HRAY 9. Alsiil o
U0 AAAAH 13 uRL onellg 8. 21 Aol sUAD EH - dord) silds wR-u-l yl& e23um

Aloau 8.
sy (sl s,
(A) 1 L2 89,
(C) 1 L 3 L 89,

Y A

(B) 2 dal 3 L 69,
@1, 2 a3 8.

A2 Quis 2 dHel avid Yasil Al uddl 6. 56 A8 alou dd Al ol ?

Auis un

(A) 20asRH WaagH bl
(B) 5.4, ynsll

(C) urudld u2d

@)1us il

-\

Yds UM
dlanadl : 245 @aq
sMRUAAIR

CTRUTETRA K]
2wl

-~

A2 Quis 2 AWl avle Yesl wel 2uld 8. dud dlou Ld Al

Auisd un

1. aHadl [ [B1s2

2. Hadlare

3. ysid Brudl Raar
4. wgiedl qul

@1-d4,2-¢,3-p,4-2a
©)1-b,2-a,3-d,4-¢

Yds UH

a. ass

b. A 4l alsayon
c. MR - ¢l

d. A3n:l
(B)1-¢,2-b,3-2a,4-d
(D)1-a,2-d,3-¢c,4-b

A2 200l A2 WA 56 A uloy Ad Al 4l ?

Auisd un

(A) 2UR.5. AU
@)cs 2 2uie
(C) =3 vlivs

(D) HUSR HA2UASR

Yds UH

Swami and Friends
The English Teacher
The Room on the Roof

Spy in Amber
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072.

073.

074.

07s.

Statement 1. The Bhavnath Mahadev Mela is held at the Bhavnath Mahadev Temple, situated at
the foot of Mount Girnar in the city of Junagadh.

Statement 2. The ‘Chitra-Vichitra’ Mela in Gujarat held at the village of Gubhakhari in
Sabarkantha District at the border of Rajasthan is a unique fair held a fortnight, after Holi

celebrations.

Statement 3. This fair is held every year at Vautha, where two rivers, the Sabarmati and the
Vatrak meet. Vautha fair site is also known as Saptasangam. The fair is held during Kartika

Purnima, the full moon night of the Gujarati month of Kartik.
Evaluate the statements.
(A) 1 and 2 are correct (B) 2 and 3 are correct

(O) 1 and 3 are correct .1, 2 and 3 are correct

Name of the author and his contribution is mentioned below. Which is not correctly matched?

No Name of the author Name of the book
(A) Govardhanram Madhavram Tripathi Lilavati : A life
(B) K.M. Munshi Krishnavatara
(C) Pannalal Patel Bhangyana Bheru
. Manubhai Pancholi Anchalo

Name of the author and his contribution is mentioned below. Match them correctly.

No Name of the author Name of the book

1. Ramdhari Singh Dinkar a. Neelkanth

2. Maithili Sharan Gupt b. Ram Ki Shakti Puja
3. Suryakant Tripathi ‘Nirala’ c. Bharat-Bharati

4. Mahadevi Verma d. Rashmirathi
@1-d,2-¢,3-p,4-2 (B)1-¢,2-b,3-a,4-d
©)1-b,2-2a,3-d,4-c¢ MD)1-a,2-d,3-¢,4-b

From the below mentioned pairs, which pair is not correct?

Name of the Author Name of the book

(A) R. K. NARAYAN Swami and Friends
.MULK RAJ ANAND The English Teacher
(C) RUSKIN BOND The Room on the Roof

(D) MANOHAR MALGONKAR Spy in Amber
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076.

077.

078.

079.

080.

R

A2 disiollant 2a3ul A4 du-iL Gearu A%l [ Ss2uld ue -l Al >uudl 8. A1 él uiou {d sl

dlsollad a3u Apd | ssalad uea

a. Wl (Panihari) L U8R

b. a-lld- (Wanawan) I QAL

¢. Wiast (Powada) 1) RSP R AT FXIT

d. ws °0d (Pai song) IV. Weuesl

1AL S8 URAE $3U.

(Aa-Lb-ILc-IId-1IV @-:-1.0-1u,c-1,d-1v
(C)a-I,b-1,c-1V,d-III (D)a-1V,b-1Lc-1,d-III

A2 2uuen (Al Luqui Al

1. fue [Egarl ouudll ol Al 6, % uunoid Ld Y3u duusl gie 9 sauui »ud 8.
2. 2w\ (Tappa) Aolld HeustdlA 120 Aollanisll 2u-iaani 2ue ¢d.

Guit vuden [l W4 sy [Aanq / sun Qs uea 9 ?

@1 (B) WA 2

(C) 1 a2 6iq (D) 1 24 2uidl 2is gL <l

(gl 2uz-llu oulas eiorm udl Yediriru Aeeini 1A 2uen [Qaiql LuqHi al.

1. 61911 udlA e 2uHl (gl -l culas 8.

2. d ulRuia aRu-m ae 6.

3. delld gul-u well saumi 2ud €.

GuR- WSl sy [Aanq / s [l aea 9 ?

(A) WA 1 @122

(C) WA 2 21 3 (D) "1 3

[t 1 9pr2Ad AWAy 6218 (Gujarat Library Association)l 22u-it 193940 sl »udl. d o
Aiglds Aqul qud ©.

[Aain 2 : d WAl 2is vimeiue vid-l Jorid [Qardls 8 5 9 A%y Aau 8. d it A gL A
[Brr-u5180 dlnau .

(At 3 : ollof dAnau G1RASL HEARA AA4A (Baroda Central Library) 61131 €.
Gux-u [l asil.

@1, 220308, (B) 1 %11 2 8.

(C) 2 ¢ 3 AL 89, (D) 1 244 3 2uAL 89,

Rl nan A4yel agsll s lu [Few 519 otud) ?
(A) &3 14 (Lumiere Brothers) (B) 4+l AsU (Mani Sethna)
@: . s 5103 (Dada Saheb Phalke) (D) €125 -2 A2l (Dhirendra Nath Ganguly)
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Match the following folk music forms with their origin States / Union Territory:

No Form of Folk Music State / U.T.

a. Panihari I. Maharashtra

b. Wanawan II. Rajasthan

c. Powada III. Jammu and Kashmir

d. Pai song IV. Madhya Pradesh

Select the correct code:

(Aya-Lb-Il,c-1II,d-1V .a-II,b-III,c-I,d-IV
(Cya-1Lb-Lc-1V,d-1II MD)ya-1V,b-1l,c-1,d-1II

Consider the following statements:

1. Dhrupad is an old style of Hindustani singing, traditionally performed by male singers.
2. Tappa music was adopted from medieval Persian music.

Which of the following given statements is/are correct?

.1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements with reference to Hindustani Classical Singer Begum Parveen
Sultana:

1. Begum Parveen Sultana is an Assamese Hindustani classical singer.
2. She is a member of the Patiala Gharana.

3. She is called the Queen of Thumri.

Which of the given statements is/are correct?

(A) 1 only @1 and 2 only
(C) 2 and 3 only (D) 3 only

Statement 1. Gujarat Library Association was formed in 1939. It has two Cultural Libraries.

Statement 2. One is Gujarat Vidhyapith at Ahmedabad which is a State Library, a non-
governmental library run by autonomous bodies.

Statement 3. The second one is Baroda Central Library, Baroda.
Evaluate the statements:
.1, 2 and 3 are correct. (B) 1 and 2 are correct.

(C) 2 and 3 are correct. (D) 1 and 3 are correct.

Who made the first fully indigenous silent feature film in India?
(A) Lumiere Brothers (B) Mani Sethna
@ pada saheb Phalke (D) Dhirendra Nath Ganguly

[CSP-1] rro. B3
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082.

083.

084.

08s.
086.
087.
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089.

(e 18 Astudd lsa 2 Beudl A Al 204 9. d WA 59 A8l vy Ad sl 4l ?
(A) 2L 3121R — SecliRl (B) 2218l u2d — aa-ll aeus
(C) lan gl — Y UM @)1 Aau woaula — uddl Bax

A2 422 2 d 7 AUl [RAd €9 d-l Al 2uudl 6.

Hl2d un AU

1. AHARH 422 a. GrRwvis

2. a-nay3l (e b. xiaue

3. [A3man ds2aR il c. 2R

4. oigl-ua ¥l d. dlRa-ug

i Al iy d Al 1A 2uda [asey uaie s
@1-d4,2-¢,3-p,4-2a (B)1-¢,2-b,3-2a,4-d
©)1-b,2-a,3-d,4-c¢ M)1-a,2-d,3-¢c,4-b

staoi(@u (gl A1 2uuar [Qasl 2uqsi dl.
1. d 9o2ud-ll stasifaun ayeHl HSatl 6121 29 UM 2iad dls 8.
2. 1’ (Been) 2 e 2a3u dlsBiu Aolla aaq 6.

3. UNESCO i siasifaun disolldl 24 il Hinddit 243d Aizglds -l wlalRfE 3R
Gedu sul 8.

Gu-L S sui (-l e ?

(A) 1,2 @:.; ©1,3 D 1,23
A2 Aou w4 d- AoiAd Breendl A8 2u0el . d W 56 A il el ?

(A) MY — 1216eYR [Feal (B) Ut 2831 Wl — 1sie [Pyeal
(C) 2avitlogl Aol — ci-usist (el @) o151l Aol — ogruone Breal

Al A s Azag WAl g e ?
(A) HBIYR (B) Grixug @1 (D) 2AsUL

D2 WA 5y Griz cudla HleR ke qaa ) ?

(A) Rz (B) A842)8 @-iy: (D) ue B

vl el B2 U o [ SwlAd ueami © ?

(A) 28 U2 (B) HEIR1N2 (C) Grirwvis @)y 2 sulewR
s1ns (AR A WA suL 4 0l As0Aa ¢ ?

Q) Rg @< (C) B+ (D) S

lasus A« [(Beal s awuui R © ?
@-isnza (B) 5225 (C) HSIRZ (D) ddausu
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The pairs showing the film personality and the film are mentioned below. Which is not
correct pair?

(A) Shraddha Dangar — Hellaro (B) Aarohi Patel — Love Ni Bhavai
(C) Deeksha Joshi — Shubh Aarambh .Alisha Prajapati — Pahelo Divas
Pairs showing prominent temples and States in which they are located are mentioned below.
No Name of the temple No State

1. Rameshwaram Temple a. Uttarakhand

2. The Jagannath Puri Temple b. Andhra Pradesh

3. The Tirumala Venkateswara Temple ¢. Odisha

4. Badrinath Temple d. Tamil Nadu

Connect them properly

@1-d,2-¢,3-p,4-2 (B)1-¢,2-b,3-a,4-d
©)1-b,2-a,3-d,4-c¢ M)1-a,2-d,3-¢c,4-b

Consider the following statements regarding Kalbelia.
1. It is a folk dance performed by the women of the Kalbelia community of Gujarat.
2. ‘Been’ is the popular musical instrument of this dance form.

3. The UNESCO has inscribed Kalbelia folk songs and dances in the Representative List of the
Intangible Cultural Heritage of Humanity.

Which of the above statements are correct?

(A) 1,2 @:.; ©1,3 D) 1,2,3
Pairs showing fairs and districts are mentioned below. Which is not correct pair?
(A) Bhanguriyu — Chhotaudepur District (B) Golgadheda no Melo — Dahod District

(C) Akhatrij no Melo — Banaskantha District .Nagdhara no Melo — Junagadh District

Sattriya is a classical dance form of which State?

(A) Manipur (B) Uttar Pradesh

.Assam (D) Andhra Pradesh

Which one of the following is not a feature of North Indian temple architecture?
(A) Sikhara (B) Garbha Griha

.Gopura (D) Pradakshina

Kheer Bhawani Temple is located in which State / Union Teritory ?

(A) Andhra Pradesh (B) Maharashtra

(C) Uttarakhand .Jammu and Kashmir
Kalchakra ceremony is associated with which of the following religion?

(A) Hinduism @) Buddhism (C) Jainism (D) Islam
Historic Chandragiri Fort is located in which of the following States?
.Andhra Pradesh (B) Karnataka

(C) Maharashtra (D) Telangana

[CSP-1] [PT.0.
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092.

093.

094.

095.

096.
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098.

SIAL BL3L SO0 Beia Tl S suL 2R wa Asnda ¢ ?
(A) s (B) usl @i ERE

N

HETAL ASARL 21 d % ABAHL Gl 2ud 9 d-l Al 2uudl 9. DA 2puudl A duidl 56 Al
) el ?

@l yon sz — Mosizu (B) 5oL [Raten adarz —uBiy:
(C) &l &idl ddar — [al3su (D) LSH Jed dSaAlR — HAAY
LYl UYL el 25” (Ruf) 21241 AGS’ (Rauf) .......... A8 AshAA 69,

(A) Aismzal (B) A%

@y 217 sz (D) 81831 24 01R ¢l

AR S A A9 518 Qwy €9 ?
(A) BuLa @) ue Ssoua

(C) bil3u g aziwzny (D) Adrs-ua 22

A1 Q4 1w oidun- DUzt ousll’ (Greata Garbo) d313 oelldl di ?

@20 3q (B) 2HR1adl

(C) st el (D) ¢l (11352

D2 U4 56 sdud UNESCO )l 4ul s aes 2223 (Memory of World Register) #i axufae € ?
@):zoac (B) A+

(C) HSIHIRA (D) Buisd U4 visuet 1l

MR R DAl su o eiHl dRa 2is AR cu e ?

(A) WA 214 naliu (B) HARRL 24 S3in Qi

(C) #eist 27 {Ru @):Dcist 211 Riouyr

Aol B AL Yt e U Rl asdls .......... a5 nelldl €.

(A) U3 (Gouache) (B) 5301l (Cubism)

@324 (Fresco) (D) 23021 (Tempera)

g (et 211 d 7 AL R O d-ll A dl D12 2udell €9 d A WAL 56 Al =l Al ) ?
(A) sidR1-L (Bedl — RBraa uga @121 Bedl — 2uzum

(C) Hert Heianl [eal — v uga (D) el [Beal — ugirg
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The Kala Ghoda Arts Festival is associated with which one of the following cities?
(A) Kochi (B) Pune
@ Mumbai (D) Vadodara

Pairs showing prominent festivals and States in which they are celebrated are mentioned below.
From the below mentioned pairs which is not correct?

.Kharchi Puja Festival — Mizoram

(B) Kang Chingba Festival — Manipur

(C) Losoong Festival — Sikkim

(D) Nongkrem Dance Festival — Meghalaya

The famous traditional dance ‘Ruf’ or ‘Rauf” is associated with

(A) Andhra Pradesh (B) Rajasthan

.Jammu & Kashmir (D) Dadra & Nagar Haveli
Who penned ‘Sare Jahan Se Achha’?

(A) Jaidev .Mohammad Igbal

(C) Bankim Chandra Chattopadhyay (D) Rabindranath Tagore
Who among the following was known as Bengal’s Greata Garbo?
.Suchitra Sen (B) Amaravati

(C) Kanan Devi (D) Bharathi Shirodkor

Which one of the following manuscript is included in the UNESCO’s Memory of World Register?
.Rig Veda (B) Ramayana
(C) Mahabharata (D) None of the above

Apart from India, in which of the following two countries, Tamil is an official language?
(A) Mauritius and Malaysia (B) Malaysia and Indonesia
(C) Sri Lanka and Mauritius .Sri Lanka and Singapore

The technique of mural painting executed upon freshly laid lime plaster is known as
(A) Gouache (B) Cubism
.Fresco (D) Tempera

Pairs showing prominent forts and States in which they are located are mentioned below. From
the below mentioned pairs which is not correct?

(A) Kangra Fort — Himachal Pradesh
.Amer Fort — Assam

(C) Madan Mahal Fort — Madhya Pradesh
(D) Raigad Fort — Maharashtra

[CSP-1] rro. EJ
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100.

101.
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103.

A 2 [Qandl - al.

1. dual duRl Adlg eued (s ed.

2. du-L Hren Sl H(E1 2uusia (Aihole), ol (Badami) 241 42354 (Pattadakal) vid AR 69,
3. dug adladl da vicid s-dlugd ¢d.

Gua- [Qtu-l Al uAl2 Ad siqiAeedHi 972

(A) A4 WA @-uas0 s

(C) A WwAsl (D) uisy WAl

Bust (Giddha), 842 (Ghoomar) ¥4 21264 (Garba) (A2l 1A+ Q- u-ui al.

1. d QU disgedl 8.

2. AR el A1 gIRL MaHl 2ud 8.

3. AR Jedl AU .

Guaru WSl sy [Atnq / s (sl aea & ?

&1 (B) 1,2 ©)1,3 (D) 2,3

RURAL tiEIRRLAL s 12 S0 ‘%A’ At AlA- WS A4 uxulae 53 €9 ?

1. Rl AR 214 Aue

2. aRASIAL, YAl 21 [Fean o

3. A%U-U HIAH (instrument) A3 s14d siduRL vl i

1AL iR 513 uRie 42U,

(A) WA 1 B)1,2 ©1,3 @123

2 2unan [Qaidl Lunui al.
1. sidugl A%l Almmi 52512 s2a1d [A8us (Bill) uld-l yd eennwil o AueHi 9 s30 asa 6.

2. Aol AlHAiui 2512 sau-i [Q8us a2uld 21 % d Aol [Qaaend [RailRda amaoumi d-dl
BUR d-ll Hdcdl 29 AL WIS HisAUT SIU 6.

3. A% (Al AL Hacl uldn vidnsdl 8.
GuL Ul £y [Qanqt / su (Al aca 69 ?
(A) ot 1 @:.: ©)1,3 D)1,2,3

RURAAL GTEIRBLAL SAH 14 S6U1 SIASL AHA AHIAAL A SIUASIAL AHIA [ A 8 3
1. 51l €35 ulsd 2 89, d % sidurl alsd siu

2. i R2lA q1adL dlsia an Ad stael aey usel

A1AL BTIR 513 uRie $2U.

(A) WA 1 (B) {12t 2

@1 2 i (D) 1 2441 2 Y4 35 UL Al
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Consider the following statements:

1. They developed Vesara style of architecture.

2. Their structural temples exist at Aihole, Badami and Pattadakal.
3. Their administration was highly centralized.

The above statements most accurately refer to?

(A) Cholas @ chalukyas

(C) Cheras (D) Pandyas

Consider the following statements regarding Giddha, Ghoomar and Garba.
1. All three are folk dances

2. All three dances are performed by women

3. All the three dances belong to Rajasthan.

Which of the above statements is/are correct?

@1 only (B) 1,2

o1,3 D23

The term ‘State’ under Article 12 of the Constitution of India includes:
1. Government of India and Parliament

2. Municipalities, Panchayats and District boards

3. Any private agency working as an instrument of the State

Select the correct answer code:

(A) 1 only B)1,2

©)1,3 @123

Consider the following statements.

1. A Bill to alter the boundaries of any State can be introduced in the Parliament only with the
prior recommendation of the President.

2. President has to refer the Bill which alters the boundaries of the State to the state legislature
concerned for expressing its views within a specified period.

3. President is bound by the views of the state legislature.

Which of the above statements is/are correct?

(A) 1 only @:.2

o113 M)1,2,3
Equality before law and equal protection of laws under Article 14 of the Constitution of India
implies that

1. A law is for everyone whoever it might be.

2. A law will apply equally to equally situated people.

Select the correct answer code:

(A) 1 only (B) 2 only
.Both 1 and 2 (D) Neither 1 nor 2

[CSP-1] rro. EA
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i3l M AIH 8L (Protection against Double Jeopardy)
(A) ~uls na 9. @ 00iq 85 8.
(C) CrPC &6l sdrauns 6. (D) sitneflu ¢ 5 (euo I RicaH) €.

sRELL Ae1ddl g1 DAumidl s AR 23da sa sl A4 2EHA(5AHL @dAdin e
851 wue s 20 B ?

1. A58 naltiil (A el 1852

2. Al 2adAdl

3. 83eied sauqll wAsR

4. AdMi Usl U Y-ein 2l cdea [A3a-l 852

1AL BriR S8 WRiE $2.
(A) 1,2 @:.2.4 (C) 3,4 D) 1,2,3,4

MURATL G{HIRRIAL $QH 22 HRUSS ALl 251U $AAA Al5d W2 A WS sUl 248512 200 8 ?

1. 4ussUL s12eU (A9l sl wid sl w18sR.

2. still caqd] gl A daidl 2 d-l WRsd Uldidl erua st 2ES12,

3. 9 W[¥222 ay vestud A L 52, dl 24 ses Ul Yo -l AR50

(A)1,2 B)1,3 (©)2,3 @123

{1 SIHEIRIAL ARSI AR 20U 6 214 HRlgls [Rtaidl g1 1A U4 56 Ad smeiRl seual
I IERCER

1. d 513 2090l 2Rl 244 WinctiRa uRRald R s 2 21 uld asiad 22 Aaas 52 69,

2. d U511 GallollL AAAAHE SIHERIA AL YR(AA s varal dal uaws »ud 8.

Guaru WSl sy [Atnn / s (sl aea 9 ?

(A) " 1 (B) WAt 2 @1 o 20in (D) 1 21ac 2 245 4L Al

Hlgs [Rieaidl [Bi-~ulis @azu ® 2 3ad 9 5 -

1. 2 U512 HWrleals Rieaidia stueifla Ad ay sami Arsn o saa dl Seans Bruziu dg Geda
52 el WARS UHER AELAdH] ¥ uS .

2. URLE S [Aidiil AUA W2 U1 s1uEL all asdl 4l
AL GR 513 YL 52U,
@1 (B) {1 2 (C) 1 L 2 iR (D) 1347 2 4ig 1S )

YOI $32AU M50 W2 D241 UL 565 srugifla oS ¢ ?

1. -weURs 28512 A8 A8 AN 2. 3Rs19Al valtzil (Rar) x1E[Aan
3. dismlafEca A28 Ran 4. aruma (&) qlEAAu
(A)1,2,3 (B)1,2,4 ©)1,2 @1.2,3,4
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Protection against Double Jeopardy is a
(A) Judicial convention .Fundamental Right
(C) Provision under CrPC (D) Constitutional right (other than Part III)

The fundamental right of “Freedom of speech and expression” has been interpreted by the law
courts to include which of the following rights?

1. Right to know about government activities.

2. Freedom of silence.

3. Right to strike

4. Right against imposition of pre-censorship on a newspaper.

Select the correct answer code:

Aa1,2 .1, 2,4 ©)3,4 M)1,2,3,4

Article 22 of the Constitution of India confers which of the following rights for a person who is
arrested or detained?

1. Right to be informed of the grounds of arrest.

2. Right to consult and to be defended by a legal practitioner.

3. Right to be released after 24 hours unless the magistrate authorises further detention.

Select the correct answer code:

(A 1,2 (B)1,3 (C)2,3 @123

The Constitution upholds the rights of labours and ensures labour welfare in which of the following
ways via Directive Principles?

1. It makes provision for just and humane conditions for work and maternity relief.

2. It exhorts the government to take steps to secure the participation of workers in the management
of industries.

Which of the above statements is/are correct?
(A) 1 only (B) 2 only .Both 1 and 2 (D) Neither 1 nor 2

The Directive Principles are non-justiciable in nature. This implies that

1. A citizen cannot move the Hon. court if the government fails to legally enforce the Directive
Principles or even violate them in some instances.

2. The government cannot enact laws to implement Directive Principles.
Select the correct answer code:
.1 only (B) 2 only (C) Both 1 and 2 (D) Neither 1 nor 2

Which of the following are legal provisions for the implementation of the Fundamental Duties?
1. The Protection of Civil Rights Act.

2. The Unlawful Activities (Prevention) Act.

3. The Representation of Peoples Act.

4. The Wildlife (Protection) Act

Select the correct answer code:

A)1,2,3 B)1,2,4 01,2 .1, 2,3,4

[CSP-1] rro. EJ
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111.

112.

113.

114.

115.

$aH 36841 [Rud sl 2uda it yaiRL el ulza [Qel 02 2uden [@Qunl Luqmi gl
1. 20 007 [A9u5 Al NaH disucunl o 9 53 s 8.
2. 2ug [Q8us -4l 6121 % 29 ag AL

3. 61 38l a2 HaMe- [Bruui [Qizlaned s2an 2 [A8usH AR s2a11L SR bin ASIH] AYsd tiss
AlogHi 2ud 6.

Gua-1L Ul s [Qandl uew 2l ?

(A) 1,2 ®)1,3 (©)2,3 @123

2uld 21 Gurrguld- HdgRRHE astad (gl DA 2uden [Qanl Lunui al.

1. Ul 42ellmi Aue- i A8l ML A 8 R Gurngula-ll f2ellHi Hist A% utL ;UL d ¢,
2. e2ule-l el Aol [Qanucni et & 6 o Guarzulda-l Yzellui cuo Adl 2l

GuR- WSl sy [Aanq / s [l aea €9 ?

(A)HA 1 @2
(C) 1 a2 bid (D) 1 A2 2 %5 4L )
geflar AMARHUL ‘UELdd [ (Amicus Curiae) 268 AL AU HOL 89, d .......... 6.

(A) adld, %3l N8R [Raui (Pro-Bono) 5u dlda €.
(B) U512 adl sl Wl s S ASIR A A% U512 g1 [AHYS sAAA ulsd 9.

@i 300 3 Bui vua ganardl w3RuA €l da 3ulHE HEEZU Adl 2E1dd gIR1L RYsd 534 dera
asla ¢,

(D) [Qeueit axra W driar Ad [Rysd 284 adat alsd 9.

-\

2 20Ul AR dH- 22U AHusL uSaiell uel-u sHAIR dlsal.

1. Anddyud Hedl ARld 2. w28 v ula
3. v, Au. [Rad a@l 4.%. dL. 3. aa Al
(A)1-2-3-4 @:1-2-4-3 (C)2-1-4-3 D)2-1-3-4

1992+ 7341 tiRRL YR HAMRUH (A2 - [l 2uqui al.

1. 20 ARMAUA sirRal 403 saud as13 @3u 20y ©.

2. 20 v[ARAN Yaudl 10 A sitellu g0 2wl 69,

3. 20 AN Yaadl g% A ot RS sigsw deal 9,
Gu- WSl sy [Aanq / s [l aea 9 ?

A1 B)1,3 ©)2,3 @123
A2l Wl suL iR siRRA] uaHl 24y pBEl Sst 2ud ¢ ?
1. SdlA du %Q\l (Central Bureau of Investigation)

2. uik2 4 2dlus

3. AU UBSIR GIRL AP Al

4. ARl g+ sidur 2ami-l dleusn

A1 BriR S5 WRiE $2.
@2, (B) 1,2 ©)1,2,4 D) 1,2,3,4
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Consider the following statements regarding the procedure for the amendment of the Constitution
as laid down in Article 368.

1. A bill to this effect can only be introduced in the Lok Sabha first.
2. Such a bill must be introduced by a minister.

3. In case of a disagreement between the two Houses, a joint sitting of the two Houses is held for
the purpose of deliberation and passage of the bill.
Which of the above statements are incorrect?

(A) 1,2 ®)1,3 ©)2,3 @123

Consider the following statements regarding the difference in the electoral college of the President
and Vice-President.

1. Both the Houses of the Parliament take part in the election of President, unlike the Vice-
President who is elected by the Rajya Sabha alone.

2. State legislative assemblies do not take part in the election of the Vice-President, unlike that of
the President.

Which of the above statements is/are correct?

(A) 1 only .2 only (C) Both 1 and 2 (D) Neither 1 nor 2

Amicus Curiae, often seen in news is

(A) Lawyer who has taken up Pro-Bono case.

(B) A person who has been appointed either by the Central Government or the State Government
to represent cases on behalf of the State.

.A neutral lawyer appointed by the court to assist it in cases which require specific expertise.

(D) An independent person officially appointed to settle a dispute

Arrange the following committees based on the formation from the earliest.

1. Balwant Rai Mehta Committee 2. Ashok Mehta Committee

3. L M Singhvi Committee 4. G V K Rao Committee

Select the correct answer code:

A)1,2,3,4 .1, 2,4,3 ©)2,1,4,3 D)2,1,3,4

Consider the following statements regarding 73rd Constitution Amendment Act of 1992.

1. The Act has given a practical shape to Article 40 of the Constitution.

2. The Act gives a constitutional status to the Panchayati raj institutions.

3. It has brought the Panchayati raj institutions under the purview of the justiciable part of the
Constitution.

Which of the above statements is/are correct?

A1 ®B) 1,3 (©)2,3 @123

Which of the following come under the Union List in the Seventh Schedule of the Constitution of
India?

1. Central Bureau of Investigation.

2. Posts and Telegraphs

3. Lotteries organised by the Government of a State.

4. Pilgrimages to any places inside India

Select the correct answer code:

.1, 2,3 B3)1,2 01,24 M1,23,4
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116.

117.

118.

119.

D2l W) 56 vitnella oSl s2dls oitellu a4l w5180 uouddldl adaadl YAlka 269 ?
1. Asin-l siinssl (Security of tenure)
2. [Afd Al a2l (Fixed Service Conditions)

3. uRdrlL 2isHld edsicn v AYAUHL Uadl Wy (Expenses being charged on the Consolidated Fund
of India)

AL Bl $13 wRie $3.
(A) WAL 1 @23 (€)2,3 D) 1,2

AU 8 e UL (National Commission for Women) (NCW) [l 12 (el u-ui @l
1. d-ll waA Al AeiAdrl dHIH ATl 69,

2. d uldaii-t Gedls-i s Aol a5 € 24 Aloy Ul 2z 20l U5 .

3. d uldeuil we itrelly 24 srueidla yrau-d usdlean 53 a3 8.

4. d sRuici-u Raradl ylaw 2ud € 24 w2 2uR sl arn d [Auus ueidl 2 w814
AL 20 8,

Gu- Q4 s [Qaunl a9 ?
(A)1,3,4 (B)2,3,4 @:s. 4 D) 1,2,3,4
A 2udcn (el i @l

1. AHHL o100 QU =l Buastdl, 24 cidla s1ael uguedl st =l cuasi YRR s 1l
siRellu 212 69,

2. ay Aval 4R1adl SAL AL Rare we AnARs = weudldl xnaa dd dls sHeiddd
UL, 5L AAUE glRL il A ArlEsR 28U, 1987 asami 2udl Sl

3. GlIRdL 6{HIREL Sl AL A 2 HSd sl A8t 2 Apu-dlld-u woleads [Ritaidl (Directive
Principles of State Policy) (DPSP)Hi-l 25 ¢9.

Guau U4l 5y [Aann / sun Qs wea 9 ?
(A) WA 1 (B) 1,2 ©)1,3 @123

A Y2l Y [del fla- [l unni al.
1. Aopauie oA 42ell 20 sl [Angls 2t du-dl Al 2dl da Aasin YAld 52 6.
2. A%t 42ell 2uysad Hiat all etdanit =nndladdl usladdl 21 2R uR gigL Gurdl €2 sA asu 8.

3. Ao el vl [QanueuHdl el v cud- dzellual gt siruddl Hdgik weld su-uadl
5220U1d 8

Gua-u U4 5y [Aanq / sun Qs uea 69 ?
(A) WA 1 @:.: ©)1,3 D) 1,2,3
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116.

117.

118.

119.

Which of these Constitutional provisions secure the independence of certain Constitutional bodies
from the government?

1. Security of tenure

2. Fixed service conditions

3. Expenses being charged on the Consolidated Fund of India
Select the correct answer code:

(A) 1 only @23
©)2,3 M)1,2

Consider the following statements regarding National Commission for Women (NCW).
1. It has all the powers of a High Court.

2. It can attend to cases of harassment of women and order appropriate punishments.
3. It can review the Constitutional and Legal safeguards for women.

4. It facilitates redressal of grievances and advise the Government on all policy matters affecting
women.

Which of the above statements are correct?
Aa1,3,4 B)2,3,4
@:s. 4 D) 1,2,3,4

Consider the following statements.

1. Access to justice for the weaker sections of the society is a constitutional mandate to ensure fair
treatment under Indian legal system.

2. Legal Services Authorities Act, 1987, was enacted by Parliament to organise Lok Adalats outside
the formal adjudicatory system, to address the problems of crowded cases.

3. Equal justice and free legal aid is one of the Directive Principles of State Policy (DPSP) under
the Indian Constitution

Which of the above statements is/are correct?
(A) 1 only B)1,2
©1,3 @123

Consider the following statements regarding State Election Commission.

1. The Governor appoints the State Election Commissioner and determines his conditions of
service and tenure of office.

2. The State Election Commissioner can be removed only in the manner and on the grounds as a
judge of a High Court.

3. Itis mandatory upon the State Election Commissions to adopt the Electoral rolls created by the
Election Commission of India for the Legislative assembly polls.

Which of the above statements is/are correct?
(A) 1 only @
01,3 D1,2,3
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120.

121.

122.

123.

124.

18R qaRL (Public Order) (A9l DA [Qtu-l u-ui al.

1. sitnRedl sau 25, dHiH AlsdiiA ndR aaza Ul 280 Y Lld 44 Hia, Wl i d-l
NAR UL 28512 20U 69,

2. (R iRl Al AR 29212, N8R @aall susidl UR SlEl asa-l At AUl WA ©.
3. N8R Al UL Yo BRI HallZd sa1L Sl 245 2R ©.

GuL U4l £y Qe / sa (Al aca 69 ?

(A) WA 1 (B)1,2 ©)1,3 @123

2 2uuan [l Luqui @l

1. 61418 AR AAET AU ALY L 1A UL S5 A1 SIUEL B3l gl 2ud 6.

2. a2gs4 AU d2dll quid $30l R wél as 9.

3. AL AU Ul Hogldl o azgsH eig1R wél as 6.

BuarL WAL sy [Atuq / s [l aea 9 ?

@1 (B)1,3 ©)1,2 D) 1,2,3

A= [Qaul 2uqni Al

1. MR 2ol v s auud viella AtifEsR 9 5 3 GudHL AlsAML, APAAML 241 A% [@Qn
AU A1 saH AUl 211 Guruld-u sigl 42ell-l A 12 FUGEIR .

2. $valu sellde amd el dan den sl anauas YRlkd 52 6.

3. el un Wi Al vail-u [Aeuy- / [Qdllsad qod [Qaeig s s ©.
BuRr WSl sy [Atuq / s [l aea 9 ?

(AW 1 (B) 1,2 @:.3 D)1,2,3

AL (A9l Al [Grnl unui Al

1. UHAML UE A UL o{ERRML carvARd suui 2uda Al

2. d sl e 6,

3. AL [Relud 26 scu-l At AU AR WA 8.

GuL Ul £y (A / su (Al aca 69 ?

(A)1,2 @2 (©)2,3 1,23

12 2uden [QaHl Ruqni Al
1. GLRAHL 6{HIRRL AFAIR, AAE 2al 516 s1uel Aidl A5 1€l 5 9 WARsIU yned 2185121 Geddan 53.

-

2. o{t1Reil 564U 20(3) 2 YOHA 2ASR 8 5 B 2ueH-EluRIueL (AL 21851+ vitadl 20 6.

-\

3.4zt 2l SUHL Ul AE1dd WRUY § A%™U, sUR5IEL A1l W il 91 (finger prints)
i vl S8 (iris) 23 53 a3 6.

Gu-L UL £y [Qanq / su [Qanl aca 69 ?

(A) 1,2 (B)1,3 (€)2,3 @123
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120.

121.

122.

123.

124.

1. Article 25 of the Constitution guarantees to all persons the right to profess, practise and
propagate religion freely subject to public order.

Consider the following statements regarding ‘Public Order’.

2. According to Seventh Schedule of the Constitution of India, the power to legislate on aspects of
public order rests with the States.

3. Public order is also one of the grounds to restrict fundamental rights.
Which of the above statement/statements is/are correct?

(A) 1 only (B) 1,2 ©)1,3 @123

Consider the following statements.

1. The Constitution permits the Central government to make laws when Parliament is not in
session.

2. An ordinance can be re-promulgated any number of times.
3. Governor of a State can issue ordinance only with the approval of the President.
Which of the above statement/statements is/are correct?

on , , )2,
@1 only B)1,3 ©)1,2 D) 1,2,3

Consider the following statements.

1. The Election Commission of India is an autonomous constitutional authority responsible for
administering elections to the Lok Sabha, Rajya Sabha and State Legislative Assemblies in
India, and the offices of the President and Vice-President in the country.

2. The Union Cabinet decides the election schedule for the conduct of both general elections and
by-elections.

3. Election Commission resolves the disputes relating to splits/mergers of recognized political
parties.

Which of the above statement/statements is/are correct?
(A) 1 only (B) 1,2 @:.: D)1,2,3

Consider the following statements regarding Gram Sabha.

1. The term Gram Sabha is not defined in the Constitution of India.

2. It is a permanent body.

3. The power to annul a decision of the Gram Sabha rests with State government.
Which of the above statement/statements is/are correct?

Aa1,2 .2 only ©)2,3 M)1,2,3

Consider the following statements.

1. The Constitution of India states that Parliament can bring no law that violates the fundamental
rights of citizens.

2. Article 20(3) of the Constitution is a fundamental right that guarantees the right against self-
incrimination.

3. In the Puttaswamy case, the Supreme Court held that the State can collect fingerprints and iris
scan for welfare schemes.

Which of the above statements is/are correct?
(A 1,2 B)1,3 (©)2,3 @123
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125.

126.

127.

128.

129.

HIRd ARSI UAH Sl ABHA ... 6.
(A) 5+l s1aeL WAl (B) A, s1EL Huan
@2l v2a (D) A<l A1 Huu e

{2 2unan [Qandl Lunui @l
1. e, 202 241 Yoell [Aearl 24 (iR sitReHl sau 25 244 26 1 WAl 8L 8,

2. 6iREl $AH 142 €601 U AEIAA HIRdHL o{aRRIA 20, NS [Rani ALl —ua s W2
SISURL AU UAR 53 A5 69,

Gua-u U4l 5y [t / sun Q- uea el ?
(A) " 1 (B) 12 2
(C) 1 da 2 6iq @1 211 2 widll 51

®URd 2j2ell YA (Election Commission of India) (ECT) (A2l -l [Qan-l Lunui @l
1. 226ll 205l dHl Yed Yol wd d udal sigL Gurdl €2 53 asiu 8.

2. 3oy 2l Uy s HisL Al A1 AR B Ad SigL Gudl g2 53 asia d ulEuL g1 g2 $3
AU 8.

3. oitnel [Agn adl 22ell 2uysdn u512 gL 2l sisuel [Angls u uldeiy 33 8.
Guaru WSl sy [Atnq / s [l aea 9 ?
@2 (B) HiAt 2 (©)2,3 ™13

244Ad [ARARL A8 s HIUESHE L buotdl AH(de
1. 2ul2onld axdlq aza

2. [ARR g 8 214 WHRRARY 5¢

3. ugiell (ARl uvumellui [y 2uls usaug]

AL 513 UAE SR,

(A)1,2 B)1,3 (©)2,3 @123
A2 sau 4 d [Qare 2uda 6. dud dioy Ad sl

s ojwReml el viguR-l sau . ERELE]

1. 243A a. AHAML

2. 243B b. YALddy sitRel

3. 243C c. Yad-l 2a-u

4. 243E d. diaa-l Yed a3k

5 21 d- [Aae) uloy dd Al 218 uie 2.

@1-2,2-p,3-¢,4-4 (B)1-b,2-¢,3-d,4-2
(C)1-¢,2-d,3-2,4-b (D)1-d,2-2,3-b,4-¢
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125.

126.

127.

128.

129.

The first Law Officer of the Government of India is the
(A) Union Law Minister (B) Secretary, Ministry of Law
.Attorney-General (D) Chief Justice of the Supreme Court

Consider the following statements.

1. The concepts of faith, belief and worship are the foundations of Articles 25 and 26 of the
Constitution of India.

2. The Supreme Court under Article 142 of the Constitution can pass any order to carry out for
doing complete justice being in the public interest, while upholding the Constitution of India.

Which of the above statement/statements is/are incorrect?
(A) 1 only (B) 2 only
(C) Both 1 and 2 .Neither 1 nor 2

Consider the following statements regarding Election Commission of India (ECI).
1. The election commissioners can be removed before the expiry of their term.

2. The Chief Election Commissioner can be removed from office only through a process of removal
similar to that of a Supreme Court judge.

3. The Constitution has debarred the retiring election commissioner from any further appointment
by the government.

Which of the above statement/statements is/are correct?

@.: (B) 2 only
02,3 D13

The criteria for declaration of Scheduled areas include:

1. Preponderance of tribal population

2. Compactness and reasonable size of the area

3. Economic backwardness of the area as compared to neighbouring areas

Select the correct answer code:

Aa1,2 B)1,3

(©)2,3 @123

An Article and the descriptions are mentioned below. Arrange them properly.
No Article as mentioned in Constitution Descriptions

1. 243A a. Gram Sabha

2. 243B b. Constitution of Panchayats.
3. 243C c¢. Composition of Panchayats
4. 243E d. Duration of Panchayats, etc.
Select the proper pair for the Article and the description.
@1-2,2-p,3-¢,4-4 (B)1-b,2-¢,3-d,4-2
©C)1-¢,2-d,3-a,4-b MD)1-d,2-a,3-b,4-c¢
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130. 2w uRscusn HiA €9 5 U2 [Alay [Ra ogaidll ueuldd sol 21 d oginidl sidurl d2s x1aq d-l [A34
uauld 53 .

(A) aAlds waieoll uRseunn (Rational choice theory)
(B) A flu s ulRseuxu (Institutionalise theory)
@1 scu€l uRseuru (Pluralist theory)

(D) WsAaugl ulRseunn (Marxist theory)

131. National Heritage City Development and Augmentation Yojana (HRIDAY) :1, se4l ASAH
wHAl5Q sl 298 ?

(A) 8 (B) 10 ©) 11 @12
132, gl vyuiaze Alld v AR viddld dm $ 34 vio-Al2Ai sidur HizL 514 sdiusdi.......... sal
A3 8.

(A) 14 YZ&8L (means-testing)

(B) - YAS5508L (cost-benefit analysis)

.HQ{[CR'QHLL VAR UAS (environmental impact statement)
D) 5421 YIS (tax assessment)

133. 28R adlae gl e 8 ?
(A) S1UEL A Al nasll
(B) 2R A aldepug [Ruwn,
@32 A xrucls2m
(D) Al A% Sl - adladl alasllaqa (Politico-administrative dynamics of the state)

134. A58 24 N8R adlazA [Qld—~t el Ml AL UAH ... 2 sl Sl
(A) 2[R22124 (Aristotle) @21 (et (Woodrow Wilson)
(C) 514 s (Karl Marx) (D) W[3wddl (Machiavelli)

135. audla u2Rs Adl (Indian Civil Service)ui A1 a1l 212 Al uan cudly siaL sdi ?

@1 s-ua 2002 (B) Y%l Bk
(C) AIHARAG IHRD (D) SIEIRUE AARID
136, Hlas, sundl, ol 2is d3sed v 514 1M (culture) AL ... 4 w53 8.

.G{lél uRRald (external environment)
(B) AidlRs uRald (internal environment)
© s wRRal (task environment)

(D) AU =l (general environment)
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130.

131.

132.

133.

134.

135S.

136.

The theory assumes that governments will be influenced by various interest groups and will not be
biased for or against any of those groups:

(A) Rational choice theory
(B) Institutionalise theory
.Pluralist theory
(D) Marxist theory

National Heritage City Development and Augmentation Yojana (HRIDAY) is set to be implemented
in how many cities?

(A) 8 (B) 10 ©)1 @2

The National Environmental Policy Act required, all federal agencies to conduct prior
before taking any major action.

(A) Means-testing

(B) Cost-benefit analysis

.Environmental impact statement

(D) Tax assessment

Public Administration is the study of
(A) Maintenance of Law and Order
(B) Control of trade and commerce
.Public Policy implementation

(D) Politico-administrative dynamics of the State.

The concept of separation between politics and public administration was first propounded by
(A) Aristotle @) Woodrow Wilson
(C) Karl Marx (D) Machiavelli

‘Who was the first Indian to be directly recruited to the Indian Civil Service ?
.Satyendranath Tagore

(B) Surendranath Bannerjee

(C) Womesh Chandra Banerjee

(D) Dadabhai Naoroji

The Owners, Employees, Board of Directors and Culture form the organizations
.External Environment

(B) Internal Environment

(C) Task Environment

(D) General Environment

[CSP-1] rro. I8
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137.

138.

139.

140.

141.

142.

2 2uuel il WA 56 Aren turdaui AuAs Ao 9l ?

@) Reiois a wsidu udlas (19l AA-s 2idler %)

(B) (Rl H[&@i[& 241 (AR g (Securities & Exchange Board of India)
© 2[1{1!‘[ IR CTEETERS TN (National Human Rights Commission)

D) QLQJQ C-lg‘-kﬂ 2114101 (National Commission for Minorities)

59 LARANY A sUNSL HI 511 53 6 ?
(A) UNESCO (B) WHO @unicer (D) FAO

cucdla siRudl 59 san sunsid uiraoll AsAul vl wldeis sad ¢ ?
(A) 544 20 (B) 544 28 (C) $au 21 @):an 24

Ala ulan 2uada xARAUH 1990 St Y20l 19924 A(As 22 adls W8en vuuioHl 2euu-i

-

sHL 20l el 24 2nAld1-l 8 :

DA WAL sy [Atun ue el ?

(A) el w2 vitnelly 21 sl yrauddl aHlan 52

(B) anzew qgll sragisla wordi-l mamm sl

@) Raucirn Raran w0 viriag 214 €A 2w 5

(D) WA 2142 53l drm Alld [Auus susidl U2 51 aas suudl

2 2uuan [QaHl asil.
1. cuRdll (g DAl You 21 uan da 20204 Gau d- A% Bl YA sl 8.

2. SAARC 918+-1l Gaeul elaw AlRu-i dlsi-i seuaii Grigm 2uudl 4 du-l @a-Hl dpaanii
YR s 24 AL 2R [As, s Wald 214 Aiglas [QstuA dou 2uuar 2 axim lsaia
dayel @a-t @adirl ds Yl wdl dHa du-l Ayel sl adl-l vaid 21d d 2{iHl 6.

(A) HiA 101y 8. (B) WL 2 13 69,

@1 a2 vid . (D) 1 da 2 6iA 0 A,

A= 2uuan [Qa-l i al.

1. udl2a Ae1ddnl (Ran =l sl Anasuo e ugl Adiza Agidd- dla ads s sl
Asdl -l

2. adl vetad-u il searll Auusum W AdlA AelddHl A438ls Rl adls Rylsa 530
ASU 69,

GuR- WSl sy [Aanq / s [l aea €9 ?
(A) W 1 @2
(C) 1duL2 i (D) 1 2124 2 sis5uaL ]
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137.

138.

139.

140.

141.

142.

From the following bodies, which is not a statutory body in India ?
.Comptroller and Auditor General (CAG)

(B) Securities & Exchange Board of India

(C) National Human Rights Commission

(D) National Commission for Minorities

Which international organisation works for children?

(A) UNESCO (B) WHO

@unicer (D) FAO

Which Article of the Indian Constitution prohibits hazardous jobs to children?
(A) Article 20 (B) Article 28

(C) Article 21 @ Article 24

The National Commission for Women was set up as statutory body in January 1992 under
the National Commission for Women Act, 1990. The aim of the commission is to:

(A) review the Constitutional and Legal safeguards for women;
(B) recommend remedial legislative measures;

.facilitate redressal of grievances and punish the guilty.

(D) advise the Government on all policy matters affecting women.

Which is not correct statement?

Evaluate the statements:

1. The main and first and foremost objective of India’s Foreign Policy is to secure its national
interests.

2. The objectives of the SAARC Association are: to promote the welfare of the people of South Asia
and to improve their quality of life; to accelerate economic growth, social progress and cultural
development in the region and to provide all individuals the opportunity to live in dignity and
to realize their full potentials etc.

(A) only 1 is correct (B) only 2 is correct
.both 1 and 2 are correct (D) both 1 and 2 are not correct

Consider the following statements:

1. Aretired Supreme Court Judge cannot act as a Judge of the Supreme Court even for a temporary
period.

2. A High Court Judge may be appointed as an ad hoc Judge of the Supreme Court for a temporary

period.
Which of the statements given above is / are correct?
(A) Only 1 @onyy 2
(C) Both 1 and 2 (D) Neither 1 nor 2

[CSP-1] rro. I3
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143. 03 20 [Qaunl 2ol al.
1. ¢IRa-l UAlRA vE1dd 55d [Bedlul o i)l as 9.

2. (Rl A2 Ae1dd [Bedl Rt 20 221l 5 3 22-l HiRd-i Yoo, 2uaiElel uld-l dogElddl
A55] 53¢ Sl d 22 ol A 6.

3. AUE AR AELAd Y5 ATUAL UELA Sa- st 531 a5 8.
Gur WSl sy [Aanq / s [l aea € ?
(A) 1213 @213 (C) 112 (D) 1,24 3

144. A-umidl sausi- [Qaigia Aalz ALl YO 2B5R Al custd AvAmi 2L ¢ ?
(A) MU ASIR 2R Hs HYAL QY AAUL AR
(B) 61 29l ay, AUl a2
@ v1au ay ol 8 423

-

(D) HIRA AR1R VA 25 AL QY AU A5 RS ddl 6l d§ Vis AL AY A% a2

145. A= A& 3u Ystezil A AWHER Aetdd- [Relal DA >udan 8. 21 AfziA asil,
1. Rrran Hleu [A3g IR AR51R : oiRRAME YHIRL s el At viR g1 Halled ©.

2. viduerin [A3g ol oM : 92193t dladl YRaM uldad mauine 2uyal sieidl ulsa sis
(Criminal Procedure Code) | sau 125+,

3. At [Rad [Q3g curd ARSI : GuRd-l UHER Adla HHerdd el 2 2G5l adadig Gedart
sl wledl 2s-tciow uARun (S-sidaq 25 A@RuN AT 2i52))l sau 66A 1 & 53 d

Aeituellu N8R s,
Guu Ul saui [Qan-l Acn 69 ?
@1, 2 a2 3 arn i B, (B) {1 1 247 2 200 8.
(C) {12 2 i1 3l 69, (D) {12 1 244 3 0 69,

146. AlsAMIAL 28] G512 AL sl (@91 DA 2uden [Qrunl Lunui al.
1. A8 As A -~ (Quasi-judicial body) 21 €9,
2. d 3e-ll 5110 012 20il8a AU 2L Nl B8R 5w 2 vl 8,
3. d vidRAEU A AL AsHA A €.
GuL U4 £y Qe / su (Al aca 69 ?

A) 1,2 (B)2,3 ©1,3 @23

147, oo Ui AAL-U 2ERUU g1 Assda (Laceadive), HlHlsiu (Minicoy) 24 24[H€ldl (Amindivi)
2yl UM te el @adlu saAH 2ue.
(A) 1970 (B) 1971 (C) 1972 @173
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143.

144.

145.

146.

147.

Consider the following statements:
1. The Supreme Court of India can sit only in Delhi.

2. The Supreme Court of India can sit in places other than Delhi which the Chief Justice of India
may appoint with the approval of the President.

3. The Parliament may make provisions for conferring supplementary powers upon the Supreme
Court.

Which of the statements given above is/are correct?

(A)1and 3 @2 2na3

(C)1and2 D)1,2and3

Which one of the following categories of disputes is excluded from the original jurisdiction of the
Supreme Court?

(A) Between the Government of India and one or more States

(B) Between two or more States

.Between residents of two or more States

(D) Between the Government of India and one or more States on one side and one or more States
on the other side

Landmark judgments and the findings by Hon’ble courts are mentioned below.
Evaluate the pairs:

1. Minerva Mills v. Union of India: The power of the Parliament to amend the Constitution is
limited by the Constitution.

2. Ahmed Khan v. Shah Bano Begum: Extended Section 125 of the Criminal Procedure Code to
provide maintenance to a divorced Muslim woman.

3. Shreya Singhal v. Union of India: The Hon’ble Supreme Court of India struck down Section 66A
of the Information Technology Act (IT Act), which violated freedom of speech and expression,
declaring it to be unconstitutional.

Which of the statements given above are correct?
.1, 2 and 3 all are correct (B) only 1 and 2 are correct

(C) only 2 and 3 are correct (D) only 1 and 3 are correct

Consider the following statements regarding the role and functions of a Speaker of the Lok Sabha.
1. Speaker is a quasi-judicial body

2. Ultimate interpreter and arbiter of those provisions which relate to the functioning of the House.
3. Sole representative of the House in the international arena.

Which of the above statements is/are correct?

A1,2 B)2,3

©1,3 @123

The names of the Laccadive, Minicoy and Amindivi islands were changed to Lakshadweep by an
Act of Parliament in

(A) 1970 (B) 1971

(C) 1972 @)1973

[CSP-1] [PT.0.
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148.

149.

150.

151.
152.

153.

154.

=\ Yy

Ul dul Uldill S1EL A 53 d uSAl MIRd-U Yuu Al dHA Uldldl SIEL 27 AL AU
dasid 8. i aua DA U4 suL [Qa-il ada san e ?

(A) Uit Sig [dau-dla d Dlenaal
(B) G- @lsi-l At 214 Yousidl 12 uldidl AdA anfia sl
(C) tIH1R8L AR SIUAELT Wi, UL S A1 $24l

@):siSun Aau w3 uauiad a3 desuna (@A cimradl walemi €A dislg awm Ad
SQUBL 59

AdHL ALSAGL A...

(A) 143 disucn 69, (B) 151 cisucu €9,

(C) 164l dlsue . @170 cisucu 8.

dlsul 242ell asal HIZ Qs Al agTdH ad ......... 8.

@25 (B) 21 adl (C) 18 (D) 35 ad

(Rga (-, 151 9l 153) €35 usmi 2uuidl siellui vied, ue/ugl bl
ABD EFH 1JL MNP QRT

(A) ZXA (B) VXY @uvvx (D) XYZ
23, 43, , 495, 2469
(A) 98 @125 (C) 203 (D) 164

a_bbc_aab cca_bbcc

(A) bacb .acba (C) abba (D) caba

s AiSlAs cumni 754’ 12d “lake is sea’, < 582’ 2d ‘ocean is river’ ¥ ‘809’ ¥»i24 ‘ocean and

pond’ Si4 dl; ‘river’ -l A3d Al 88l ?

@): (B)5

(©)8 (D) BuRisd U4 518 )

Aot : (uan . 155 2 159) DA 2udenn 7 Rt 2000 Wl 244 du- HiouSa sin-l uigoll-l vieua

S 24 drll UL 2AL UL W2 ALy [dseu vrig s

Ald @2l - L, M, N, O, P, F 24 R [Ala8 cii=s-it diouSa siq- Guaidl 3 8, 7, 2w, -i3un, 2lua,

AU, A 241 Hi2l 8, uid %370 el 5 d sHIGAR S,

* g5 Sl UAA-AA2 214 89, F cud, Alevll, uSe, org1dl, S10L, AV 244 il 69, uaL d % sHUL Sld
d 33 el

* F Al Sl 321 et 8 2 d-Dl wa A3 3 2Aua sid Al $-250 sin caigofl - 9

* L Uil 2L $iA 8 i del sinl 291 a1l 3 s10nl ), Higl sin dlon 3ol 9

* M L $irHl 3oL AviLdl 9. M Wil »iud siq -l

* B Sl 510U 321 e, O Wi AMRI2L §11 6

* R« $inHl 3ot qugoll A2l R Wil 2Aud sid gl P uid 2ud siq Al
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148.

149.

150.

151.

152.

153.

154.

The President has to make and subscribe to an oath or affirmation administered to him by the
Chief Justice of India, before entering upon his office. The oath does not include which of these
statements?

(A) To faithfully execute the office
(B) To devote himself to the service and well-being of the people of India
(C) To preserve, protect and defend the Constitution and the law

.To do right to all manner of people in accordance with the Constitution and the law, without
fear or favour, affection or ill-will

The present Lok Sabha is the
(A) 14th Lok Sabha (B) 15th Lok Sabha
(C) 16th Lok Sabha @) 17th Lok Sabha

The minimum age to qualify for election to the Lok Sabha is
.25 years (B) 21 years (C) 18 years (D) 35 years

Directions (Q.No. 151 to 153) Find the missing element/elements in the series given in each question.

ABD EFH IJL MNP QRT

(A) ZXA (B) VXY @vuvx (D) XYZ
23, 43, , 495, 2469
(A) 98 @125 (C) 203 (D) 164

a_bbc_aab_cca_bbcc
(A) bach @acva (C) abba (D) caba

In a certain code language ‘754’ means ‘lake is sea’, ‘582> means ‘ocean is river’ and ‘809’ means
‘ocean and pond’; what is the code for ‘river’?

@): (B)5

)8 (D) None of the above

Directions : (Q.No. 155 to 159) Study the data given below of 7 friends and their choice of mobile
phones and based on it, choose the appropriate option for given questions:

Seven friends, namely L, M, N, O, P, F and R use different brands of mobile phones, namely Intex,
Oppo, Nokia, Apple, Samsung, One Plus and Moto, but not necessarily in the same order

* Each phone is of a different colour, namely Red, Blue, White, Brown, Black, Grey and Yellow but
not necessarily in the same order

* The colour of F’s phone is Red and she has neither a Nokia nor Apple phone. The Intex phone is
of Blue colour

* L has an Oppo phone and the colour of her phone is neither Brown nor Black. The Moto phone
is of Yellow colour

* The colour of M’s phone is Grey. M does not have an Apple phone
* Apple phone is not of black colour. O has Samsung phone

* The colour of R’s phone is not Blue. R does not have an Apple phone. P does not have an Apple
phone.

[CSP-1] rro. I
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155.

156.

157.

158.

159.

160.

161.

162.

163.

D21 WA il wa 2wl Hieusa sid e ?
(A)N

OM

A2 WA s o134 2 €9 ?

(A) P—an @

(C) M — vl

A2 WS su1 uldd WA qud 2L i e ?
@~
OR

A e N

oA O WA AHUDL 51 Sl dl d-il 391 UL e ?
(A) cwgoll

(C) Ml

2L WA sl WA Sl s e ?

(AN

@V

®) 1.

(D) BuRisd U4 518 Al

-

(B) O — 2l
@Gurisa 14 66 <4

(B)N
(D) BuRisd U4 518 Al

(B) Al
@Guzisa ia a6 14

B0
(D) BuRisd U4 518 1l

6l 8l Rl 9RlitR 16 : 23 8. 6 av uedl R uden 8-l [31d 10% B2l ad & 244 ofloa-dl Bud
31 477 a8, di dl (BHa-l o 11: 20 A 8. dl d 6 8- Yo Budl s2dl g9l ?

@)s. 848 211 311219
(C) 3L 846 i1 3L 1224

(B) 3L 864 i1 31. 1242
(D) Buisd U4 518 ]

A2 ad uda, uld, uedl 244 dH- Yol a2 au 27 ad gdl 244 5 ad udai, uedl 214 Yol A8 au

20 a¥ &dl. dl ula-l srall Gu sedl sl ?

(A) 35 @0 i
(C)50 (D) BuRisd U4 518 Al
6 5 10 ~ . - N o .
iR % UYL GUA SIA Al AUHL ALl YRS ... 8.
.30 60
B -

7 ) 147

50 A Y N\ :
(©) 293 (D) GURisd U4 5185 )

P,Q, R -lUSUR 2: 3 : 5 L ARUTIRHI . oA dHAL UWIURHI AU45H 15%, 10% 24 20% SNsL HYR A,

el |- woUR-L Al dQRilTR S2el usl ?
(A)3:3:10

@23:33:60

(B)10: 11:21
(D) Buisd U4 s 1l

[CSP-1]
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156.

157.

158.

159.

160.

161.

162.

163.

Who among the following owns an Oppo mobile phone?

(A)N @

OM (D) None of the above

Which of the given combinations is correct?
(A) P-One Plus (B) O-Moto
(C) M-Oppo .None of the above

Which of the following people owns a red colour phone ?

@r (B)N

(OR (D) None of the above

If O owns a Samsung phone, what is the colour of it?
(A) Blue (B) Red
(C) Yellow .None of the above

Which of these own a Nokia phone?
AN B)O
.M (D) None of the above

The ratio of the prices of two houses was 16 : 23. Two years later when the price of the first house
has increased by 10% and that of the second by Rs. 477, the ratio of the new prices becomes
11 : 20. What are the original prices of the two houses?

.Rs. 848 and Rs. 1219 (B) Rs. 864 and Rs. 1242

(C) Rs. 846 and Rs. 1224 (D) None of the above

3 years ago, the average age of husband, wife and their child was 27 years and 5 years ago, average
age of wife and the child was 20 years. What is the present age of the husband?

(A) 35 years .40 years
(C) 50 years (D) None of the above
. c oL 6 10 .
The smallest fraction, which is exactly divisible by each of ;, E’ E is .
30 60
@ B~
7 147
50
(C) — (D) None of the above
293

The salaries of P, Q, R are in the ratio 2 : 3 : 5. If the increments of 15%, 10% and 20% are allowed
respectively in their salaries, then what will be the new ratio of their salaries?

(A)3:3:10 B)10:11:21
@):23:33:60 (D) None of the above

[CSP-1] rro. 1
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164.

165.

166.

167.

168.

169.

170.

=\ ~ =\
.

AR A[3A2A P, Q 41 R 24 215 512 31.520 Hi ¢u3 A1l 2 24450 7, 8 211 11 ¢S d-l GualaL sul. dl
QUL dadls Q A sedl YseuL sl ?

(A) 3.104 @):. 160
(C) 3.232 (D) Buisd U4 s 1l

P 211 Q -l g1l G-l 2peliaR x50 5: 7 8. A Q L e1é-ll GHR 1 P -l 6 Al ugdl-l Guz-il astad
2 81, di P 21 QL s1a-l Gu-l uauo seai agl ?

(A) 36 Ay @45 (C) 60 Ay (D) 72 ay

25 Hionda su-dl €2 1A 31 350 [Ald cug ayd . d uld w84 [R:ges 200 sla s ©. R
st 2Avan 200 A a8 R uld s 31 1.4 ayd © 24 w12 slasll AvuL 400 Al a8 R uld sia 31 1.6
AYA 9. 215 WS FYPULNHE 150 Sl 21 WAHE 250 51A 52 O, dl d A s HIG SN UAS SlA 5l
HIAHL Uells SlA 52AL 251 Ul U ?

(A) 35% (B) 24%

(C) 32% @Gurisa ia 66 14

A3 1-24+3-4+5-6+5 U100 USil AU Seal a9l ?

@-o (B) =50
(C) 25 (D) BuRisd U4 518 Al

w5 HIAASS 21 AlssA AHA A Al oldedl 28 2Ran 913 8. 6 sas usdl, 25 wsUA 21 d

N

o 2ol s 2l o [Bauni 90 [53/sausl a0 33U Ald a3 52 €. 20 21 WAUSS 2
4 SALSHL AR 52 8. dl HIAASS -l 3y s2ell wel ?

@36 G0yscus (B) 40 S\l/scus
(C) 45 [3:3{l/scus (D) Buisd U4 s ]

M is u5dl AL (escalator) UR 5 uLAuL uld As~3-l 33U WA €9 24 ollog 93 10 AS3UL usiA 9.
ud 5l auid, A B3U d A3 A1l AUIA 40 ASSHI USIA 9. dl d U5l AL (escalator) UR s2al
wo[Au el ?

(A) 40 (B) 50

@30 (D) GuRsd WA 51 Al

g 2 6L UsAR 6. uAH UsAR sy 9 [MlAeHl 2R awe (flat) $2 i olloyf UsuR sy d

-

6 [R2ui 52 ©9. oA sl 21am €3 [Asndl Siu, di oL UsAA 2isd 2191 AW (flat) $dl Sedl Ay
gl ?

(A) 90 A$3 (B) 135 453

(C) 210 A3 @Guzisa 14 66 14
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164.

165.

166.

167.

168.

169.

170.

Three persons P, Q and R hired a car for Rs. 520 and used it for 7, 8 and 11 hours respectively.
Then what were the hire charges paid by Q ?

(A) Rs. 104 @rs. 160

(C) Rs. 232 (D) None of the above

The ratio between the present ages of P and Q is 5 : 7 respectively. If the difference between Q’s
present age and P’s age after 6 years is 2, what is the total of P’s and Q’s present ages?

(A) 36 years .48 years
(C) 60 years (D) 72 years

A mobile company charges a fixed rental of Rs.350 per month. It allows 200 calls free per month.
But each call is charged at Rs.1.4 when the number of calls exceeds 200 per month and it charges
Rs.1.6 when the number of calls exceeds 400 per month. A customer made 150 calls in February
and 250 calls in March. By how much percent each call is cheaper in March than each call in
February for that customer?

(A) 35% (B) 24%

(C) 32% .None of the above

What is the sum of 100 terms of the series 1 -2 +3-4+5-6+5+7

&@-o (B) =50

(C) 25 (D) None of the above

A goods train leaves a station at a certain time and at a fixed speed. After 6 hours, an express train
leaves the same station and moves in the same direction as the goods train, at a uniform speed of

90 kmph. This train crosses the goods train in 4 hours. What is the speed of the goods train?
@36 xmph (B) 40 kmph
(C) 45 kmph (D) None of the above

M walks on an escalator at a rate of 5 steps per second and reaches the other end in 10 seconds.
While coming back, walking at the same speed he reaches the starting point in 40 seconds. What
is the number of steps on the escalator?

(A) 40 (B) 50

@30 (D) None of the above

A tyre has two punctures. The first puncture alone would have made the tyre flat in 9 minutes and
the second alone would have done it in 6 minutes. If air leaks out at a constant rate, how long does
it take both the punctures together to make it flat?

(A) 90 seconds (B) 135 seconds

(C) 210 seconds .None of the above

[CSP-1] rro. B4
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171.

172.

173.

174.

175.

176.

177.

178.

179.

RN N\ A\

(g : (s <. 171 Al 172) 20uaL €35 UAHIE, Ui AGEL 2UUAHT 20 89, d WA 1R AsEl 3is Ad
AL 8, A 25 [MA 6. dHIR 2L UdL Sl HHal A6E dHIRL B dZlS UAE 5L 6.

dAlRIYR, 5121, $EUSSH, UIRIEIY, R1RU
(A) dIRIYR @ uzu (C) siaL (D) 3R

Hod(quu, oHlRuM, syRlQun, siy, Raa
@ siRun (B) WoAlaun (C) siy (D) R

5 AIL5AU AiSAs UL, “BLEMISH” -l 3i5d “AODPHVG?” €14 dl, “CHAPTER” A d (UMM 56
Ad Asdois sl ?
(A) BKBOVTDR (B) CAHTPRE @sBxzssHQ (D) ADGIQFS

K 21 gl2iul@zge Gail 69, uedl 21 usll ars 53120 1l 04 69, ugdl 5301 31 guel avfl 10 H{l 204 €. d ugdl
d swol adfl 10 L 014 ©9. uel d Hell ds avfl 20 Wl 0d 6. 57l d Hal aull 60 0 04 ©. dl A32nd-
[Bigell d s [Raumi ¢al ?

(A) G2 @)Grud (C) Grir- ulan (D) yd

P, Q, R, S 21 T s aduusiz 201c-ll 524 6161 9. R 24 P -l o4l oog2d 244 S -l 316l buggd ollon 2euq
8. THP A S l a2 4. di R L s10fl ooy ollon 2euq sl e ?
@c (B) P

©S (D) Buisd U4 518 <l

M 244 S USARA A 51722 AU-UHE (R0 6. 7, 244 M 5122 - 14 Allds [Qsuqni [Rssud
9. Z, P o N Qllds [dsuq 24 Slasiuul wid 9. N 214 Z alilds [Qsuq 244 aldiani [Rwud €.
P o1 S Slasin 2 uzraanl [Amid 6. dl Allds [dsud, weuaa 2 sivge: l-uHl sl
(Ruatia €9 ?

(A)N &V ©)s (D) Z

NS Y

R -l %4 [Ba 16 32U, 1991 -l [Bad ofaUR Sdl. dl UL auui d8l widiil o4 [Bau 520 ojaaR
Goyeul gl ?

(A) 1999 (B) 2000 @002 (D) 2003
4 1993 Al 58 cdlwiini A 2ucal 3l ?

(A) 1,8, 15,22,29 @):. 9. 16, 23,30

(©) 3, 10, 17, 24, 31 (D) 4, 11, 18, 25

i 15 AL 20 AMaA 3 AL i AuE-inl stuami 2ud di, 20 2is % quié 200 8ia da s2a
AU o9 ?

&4 (B) 48

(C) 36 (D) Buisd U4 s 1l
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171.

172.

173.

174.

175.

176.

177.

178.

179.

Directions : (Q. No. 171 to 172) In each of the following questions, five words are given, out of
which four words are alike in one manner, and one is different. You have to choose the odd one out
as your answer.

Tarapur, Kota, Kalpakkam, Paradeep, Narora

(A) Tarapur .Paradeep
(C) Kota (D) Narora
Magnalium, Germanium, Duralumin, Bronze, Brass
.Germanium (B) Magnalium
(C) Bronze (D) Brass

In a certain code language, “BLEMISH” is coded as “AODPHVG”, how will be “CHAPTER” be
coded in that language?

(A) BKBOVTDR (B) CAHTPRE
@3sxzssHQ (D) ADGIQFS

Kis facing South Direction. Then he turns right and walks for 20 m. Then again he turns right and
walks 10 m. After that he turns left and walks 10 m. Then he turns right and walks 20 m. Again he
turns right and walks 60 m. In which direction he is from the starting point?

(A) North @ North-East (C) North-west (D) East

P, Q, R, S and T are seating around a circular table. R is to the right of P and second to the left of
S. T is not between P and S. Who is second to the left of R?

(0] (B) P

O)S (D) None of the above

M and S are good in Dramatics and Computer Science. Z and M are good in Computer Science
and Physics. Z, P and N are good in Physics and History. N and Z are good in Physics and Maths.
P and S are good in History and Dramatics. Who is good in Physics, Dramatics and Computer
Science ?

(AN &V ©)S D) Z

R’s birthday was on 16 January 1991 on Wednesday. In which year he would have celebrated his
birthday again on Wednesday?

(A) 1999 (B) 2000 @002 (D) 2003
On what dates of May 1993 did Sunday fall?

(A) 1,8, 15,22,29 @):. 9, 16,23,30

(©) 3,10, 17, 24, 31 (D) 4, 11, 18, 25

A 15 cm coloured cube is cut into 3 cm smaller cubes, then how many cubes are formed which have
only one face painted?

@4 (B) 48

(©) 36 (D) None of the above

[CSP-1] rro. B3
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180.

181.

182.

183.

(REa: (M +i. : 180 ol 182) : €35 Mami 6l (At 244 AR ARXIL (conclusions) I, IT, IIT A IV, d¥1?
2 [Qai-iA 2 AL 8, MA dil AHIRL S Slsdell A ARLAL Sl dHIR 3 55l a1 6 5 20l
(el urdl 2uden dixei WSl san i [RlBaust didl asa 69, il [Asey uRie s

ERTEVE

oL (Al oyftasuedl €.

8L duust oylEagull .

QIR

Lot onausl sl 8.

1L 5215 eyfaouoll dlsi ouust 44l

(A) 550 ARRLT AAAR B, (B) $5d AR IT A4AR 8.

(C) AlRRL T A2 TT A3 8. @122 13 1104 5SS mguq e,

EETER

ol U ulFua 69,

syl Ufaa e .

Al :

L 515U UnA cuni ),

IL 32dfls U cuniz 69,

I G141 AR UA 89,

IV. 32415 AR U 8,

(A) clREL T AL T A4AR 8. (B) U8 IT A2 TV AA4AR 8.
[ - EEIRIEES EERTER (D) G141 AIRBIL AU S,

(Qau-i:

o] o153l cuy 69,

oL cuy, R 9.

AR

L ot e o530 69,
L ot [ awe 69,

L si$uR o153 [&@e .
IV. sidul [ o3l .

(A) AR IT A2 TIT AR 8. (B) RS IT AL TV 2343 69,
(C) AIR@L T 24 TTT A3 . @)s15u e 2 Al
AX:y=3:4,dixy+x:x*+) 4y seqad ?

(A)13:12 @12:13

(C)21:31 (D) Buisd U4 s 1l
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180.

181.

182.

183.

Direction : (Q. No. 180 to 182):Two statements are given followed by four conclusions, I, I1, ITI

and IV. You have to consider that statements to be true, even if they seem to be at variance from
commonly known facts. You are to decide which of the given conclusions can definitely be drawn

from the given statements. Choose the correct option.

Statements:

All poets are intelligent.
All singers are intelligent .
Conclusions:

I. Allsingers are poets

II. Some intelligent persons are not singers

(A) Only conclusion I follows

(C) Either conclusion I or II follows

Statements:

All pens are pencils.

No pencil is monkey

Conclusion:

I. No pen is monkey.

II. Some pens are monkeys.

II1. All monkeys are pens.

IV. Some monkeys are pens.

(A) Either conclusion II or III follows
.Only conclusion I follows

Statements:

All goats are tigers.

All tigers are lions.
Conclusion:

I. All tigers are goats.

II. All lions are tigers.
III. No goat is a lion.

IV. No lion is a goat.

(A) Either II or I1I follows
(C) Either I or III follows

Ifx:y=3:4,thevalueof x> y + xp*> : x> + )2 is ...

(A)13: 12
(C)21:31

(B) Only conclusion II follows
.Neither conclusion I nor II follows

(B) Either conclusion II or IV follows

(D) All conclusions follow

(B) Either II or IV follows
.None of the conclusions follow

@:2:13

(D) None of the above

[CSP-1] [PT.0.
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184.

185.

186.

187.

188.

189.

190.

191.

-\

1863, 1461 11 1266 -l 2L AL 21, 524l 2 ?
@: (B) 9
() 21 (D) BuRisd U4 518 )

-\

O [Al Pt Q A 18 [Bauui s 510 s AsU 2ud 8. A P 3l Q $cdi 6iHRl S1daH Sl dl
Q visdl d s1u sea [Bauui 281 ?

@54 Ean (B) 42 [Rau

(C) 66 [2au (D) Buisd U4 51 ]

3¢d 25 WA BHA s AUl5d 215 24 Uldid 80 As=3Hi UAR sl g1 89, ug, 180 {2 aiou yad uuR

-

$2di d % 271 200 As~3 AL . dl 2+l B3y s2cll 8l ?

(A) 1.2 W12/ As~3 (B) 1.8 {22/ 53

(C) 2.1 Hlez/A %3 @Guzisa ia 66 14

31550 -l 315 ML 5%+ €3 i bULSlAL ML 8%+l €3 A1EL % Hlrauui 2ud 9. 3 avl ughl ga Y
3L 300 HOL 8. dl 5% i1 8% ~U €3 IR Uil Rl S2al a9l ?

(A)5:8 B)6:7

@i6:15 (D) GuRisd W4 6 4l

A 345 +124/5=17.88, dl /80 + /65 f 3 Segf ad ?

@):2.35 (B) 20.45 (C) 21.66 (D) 13.45

1 9l 70 Q2] AvARAHE BLEHAL A 1 21241 9 sid ddl dvaziidll esiadl sedl s ?
(A) 15% (B) 18%
@20 (D) Bulsd WAL £ 4l

=\ =\

Sleul, M 2 N -l GURHL Rl 4 : 3 6. 6 ad ugfl, M -l GuR 26 av 2. dl N -l sia-l Gu:
segea?

(A) 129 @15

(C) 18 aM (D) BuRisd U4 s 1l

s opeseul 4 aud, 5 gsll, 21 3 dlel Quitdl 69, o 2R QuiLé]l 4229 d wRie sl 20d, dl sl dldl
Rl 1l dld sly d-l deua-n sedl ?

! 1
A) = p L
W3 ® %
._414 (D) GuRlisd Ul 516 1l
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184.

18S.

186.

187.

188.

189.

190.

191.

192.

What is the HCF of 1863, 1461 and 1266?

A)3 (B) 9

©) 21 (D) None of the above

Two friends P and Q are employed to do a piece of work in 18 days. If P is twice as efficient as Q,
what is the time taken by Q to do the work alone?

@54 aays (B) 42 days
(C) 66 days (D) None of the above

A man standing near a railway track observes that a train passes him in 80 seconds but to pass by
a 180 m long bridge, the same train takes 200 seconds. What is the speed of the train?

(A) 1.2 meters/second (B) 1.8 meters/second
(C) 2.1 meters/second .None of the above

A part of sum of Rs.1550 was lent at 5% and the rest at 8% p.a. simple interest. The total interest
received after 3 years was Rs.300. What is the ratio of the money lent at 5% to that lent at 8% is?

(A)5:8 (B)6:7

@i6:15 (D) None of the above
If 3+/5 +124/5 = 17.88 , then what will be the value of /80 +~/65 ?
@235 (B) 20.45

(C) 21.66 (D) 13.45

What percentage of numbers from 1 to 70 have 1 or 9 in the unit’s digit?
(A) 15% (B) 18%

@):0 (D) None of the above

At present, the ratio between the ages of M and N is 4 : 3. After 6 years, M’s age will be 26 years.
What is the age of N at present ?

(A) 12 years .15 years
(C) 18 years (D) None of the above

A basket contains 4 red, 5 blue, and 3 green marbles. If three marbles are picked at random, what
is the probability that either all are green or all are red?

1 1
A - (B) —
7 24
1
.ﬂ (D) None of the above

The ratio between the circumference of a circle and the perimeter of a square is 11:3. What is the
ratio between area of the circle and area of the square ?

121 242
A) — B)—
(A) 9 (B) 9
77
© ry .None of the above

[CSP-1] rro. Y
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192.

193.

194.

195.

196.

197.

198.

199.

200.

215 adnt uRa s AlAAl uRAAAL RiTR 11 : 3 8. agn-il 850 24 AU+ A0 RIAR $2¢
29l ?

121 242
OE= B
<C)¥ @)cudisa 04 48

uaH 5 Add 2uadl mglds Avaii-n qol-l a2 szl a9l ?

(A) 10 @ u

(0) 12 (D) Buisd U4 i <l
o1 [A551 Gerncuni U4 di ol si2L (tails) 20d d-ll ica-u sedl ?
1 1
(A)— (B) -
2 5
(©) % @)Gurisa W4 6
BGrsiadl suogatiql dpRiidR 10 : 24 : 26 244 d-l WR[RAL 300 HL 8. dl d &5t s2¢ ¥9l ?
@)2500 20 D22 (B) 2750 Al Hl22
(C) 3250 AL Hle: (D) BuRisd U4 518 )

N A

o sl as AW (AR 25 x4 2nasHl as AL (AR F2dl €y, dl d 244 0as 44 AUasHl
[Prosaizii-l opRiinR sedl a ?

(A)1:2 (B)V2:1

@::2 (D) GuRisd W4 515 )

25 51218 dRg AO, s WA S 1 5g], “§ 2 A BUsHA YAl ¢, 247 dsllAl YA 3 ki 9.
dl d 270l S -t [ 208 s dviadl Azl ¢ ?

(A) Wl @&u

(©)yA (D) BuRisd U4 518 Al

Pty Q il RUA @i qul 8, Rl 618 S -l 4o Q Ul ¢S T 01 AU 8. el S 1 P a1 su1 Aoinel)
A 8 ?

(A) 618+ &y

(C) Wy (D) Buisd U4 58 ]

25 25l G 12 AL 24 wandl Bl 3.5 A 6, di d 2igd ansn s2¢ a9 ?
(A) 77 &t Al (B) 308 &t A

@154 2 240 (D) GuRisd WA 6 4l

o 3 a3 euorad]l “2” An a8l ddl dun 3 visHl vl Al Seal 49 ?
@ 164850 (B) 164580

(C) 165480 (D) Buisd U4 s <l
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193.

194.

195.

196.

197.

198.

199.

200.

What is the average of square of first 5 consecutive natural numbers?

(A) 10 @u

)12 (D) None of the above

What is the probability of getting two tails when two coins are tossed?

1 1
A~ B) -
2 5
© % .None of the above
The sides of a triangle are in the ratio 10 : 24 : 26 and its perimeter is 300 m. What is its area?
.2500 sq meters (B) 2750 sq meters
(C) 3250 sq meters (D) None of the above

If the curved surface area of a sphere is same as the curved surface area of a hemisphere, what is

the ratio of the radius of the hemisphere and that of the sphere?
(A)1:2 B)V2:1

.1 :\2 (D) None of the above

Pointing to a photograph, a lady tells S, “I am the only daughter of this woman, and her son is your

maternal uncle.” How is the lady related to S’s father?
(A) Maternal Aunt .Wife

(C) Daughter (D) None of the above

P’s son Q is married with R. R’s sister S is married to T the brother of Q. How S is related to P?
(A) Sister .Daughter—in-law
(C) Mother-in-law (D) None of the above

A cone has a height of 12 cm and a base radius of 3.5 cm, what is the volume of the cone?
(A) 77 cm? (B) 308 cm?

.154 cm? (D) None of the above

What is the sum of all 3 digit numbers that leave a remainder of ‘2’ when divided by 3?

@ 1643850 (B) 164580
(C) 165480 (D) None of the above

[CSP-1] rro. 4
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GriRaAIHL AU Sl AW, GREAR Y AAA ¥ cllod UA GdRASloll scllol (@t sA Al GREAR %Y 53¢
clil-y Ustl t2ulotil Al ol
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001.

002.

003.

004.

cuRaAHl 2AMS wslaur Ad wscaynl dlw sudl2A (D-SIIs) A2 U4 56 97?
1. cuRdl @aq QL [Ram (Life Insurance Corporation of India)

2. cdlu - dla Rawm (General Insurance Corporation of India)

3. ﬂﬁRQL BRI (New India Assurance)

A1 GriR 513 wRle s
(A) A 1 (B) 1,2
013 @123

A= [Qaul 2uqni Al

1. w2 21304 g1 (First Advance Estimates (FAE)) % d -au$la adidi GDP 56 dd atai-l »iian
&9 drll MAN ATUAUR EL% 6.

2. d el HAAd giRL A3l sami 204 69,

3. d-ll Guaio suouall -sudla anl-l e sinall Asdl s e wa 9.

BuR- WSl sy [Aanq / s [l aea & ?

(A) A1 (B) 1,2

@:.: D) 1,2,3

GST R weiRgmay (Directorate General of GST Intelligence) (DGGI) [Qa Al (G-l
UAHi Al

1. GST a2 HSURZwAEU (The Directorate General of GST Intelligence) (DGGI) allSiosy
A Gelldl Hondu Ssnl 2is siuel Hcdls il 9 F tRdHl A1 WH sidadl sa e
BAUAEIR ¢9.

2. 201741 GST &3, 54 d US&l DGGI Geule-t 3¢5 AduR HeUREWAU (The Directorate General of
Central Excise Intelligence) (DGCEI) d<l3 $12d 8.

Guri U4 5y [Aanq / sun Qs uea 9 ?
A a1 @2
(C) 1 a2 bid (D) 1 244 2 gl 245 uwL )

§-5012 (A9l 1A [Qarl 2u-ui @l

1. §-5012 RBIg $12 S 5121 A1yt 8 9 cl@lpus 6isia RBI A dHAL A4 WidiHi (Current Account)
B2 2R+l A Buaoy A 9.

2. §-5042-1 Guatial U513 0024 (securities)l 8 Bl 5110K0 521 W2 W €.
BurAi WSl sy [Aanq / sul (Al uea e ?

(A) At 1 (B) WA 2

@1 2 i (D) 1 244 2 uiedl 245y il
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001.

002.

003.

004.

Which of the following is/are the Domestic Systemically Important Insurers (D-SIIs) in India?
1. Life Insurance Corporation of India.

2. General Insurance Corporation of India

3. New India Assurance.

Select the correct answer code:

(A) 1 only 3B)1,2

©)1,3 @123

Consider the following statements.

1. The First Advance Estimates (FAE) of GDP are the first official estimates of how GDP is expected

to grow in that financial year.
2. They are released by the Ministry of Finance.
3. They are used to decide the next financial year’s budget allocations.
Which of the above statements is/are correct?
(A) 1 only B)1,2
@:.3 D) 1,2,3

Consider the following statements regarding Directorate General of GST Intelligence (DGGI).

1. The Directorate General of GST Intelligence (DGGI) is a law enforcement agency under the

Ministry of Commerce and Industry responsible for fighting tax evasion in India.

2. Before the introduction of GST in 2017, the DGGI operated as Directorate General of Central
Excise Intelligence (DGCEI).

Which of the above statements is/are correct?

(A) 1 only @): only
(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements regarding E-Kuber.

1. E-Kuber is the core banking solution of the RBI that gives high degree of access to commercial

banks to their current account with the RBI.
2. E-Kuber is used to conduct exercises like auctioning of government securities.
Which of the above statements is/are correct?
(A) 1 only (B) 2 only
.Both 1 and 2 (D) Neither 1 nor 2

[CSP-2] rro. JEX
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00s.

006.

007.

008.

QA [Qtunl uqui al.
1. buog - Als Bl Aul MiRdlL 5100 50% ¢l ay €.
2. HRAHIA UYL Yo 2UALASIRL USA, A0 217 Al 6.

3. MRdHl 0 1 WA vie Ganenl st Qs Aul8s1R (Agricultural and Processed Food
Product Export Development Authority) (APEDA) G121 [Rs145121-1 0oL HIAA %81 IRl
HisAdAlT, U0 oAl 2 AHA Al GOARIME UL SAHT HEE AL HIZ 514 531 WL 8,

GuL Ul £y (A / sa [Qanl aca 69 ?

(A) 1,3 @3
(€)2,3 D) 1,2,3

AgTH 251 Mid (Minimum Support Prices) (MSPs)-l Ml sl avid 5[ usd 244 [3Ha 2o
(Commission for Agricultural Costs and Prices) (CACP) QA uRel Luqui 4 6.
1. 2UAS A AHIdRAA D 612012 ¢ a4l

2. 4glanl A st U2 MSP -l AeifAd ARl

3. Gewer WA sl @y 30 Uldad-] v

4. AidR ULS ML AHIAAL

AL BTiR 513 UL 53U,

A)1,2,3 (B)1,3,4

@24 D) 1,2,3,4

National Agricultural Cooperative Marketing Federation of India Ltd. (NAFED) (cudla Ql‘{lq
s a1 sl e [H123) (Al DA [Qeunl 2unni Al

1. d GuRAHL $M Guar-i SN w2l A 1<) Al uaizx e 8.

2. d 5[ Houau Ssn s1d .

3. d 5610 wigl-l neuza wile 2z 6.

Guru WAL san [Qandl Acw 69 ?

A 1,2 31,3

@:.2.5 (D) 2,3

U5$ AN (hard currency) UM Id YAE $AUHL 2Ud €9 51”0 5

L. d A8 Ad 247 2uls Ad R i 2ud ©.

2. WA 2 Al Ysaliqi usiR a3 d [Qaumui causuel dlsiami »ud 6.
3. dq 2Usiols vianeurt A yeudls aa-d asud sidl —4l.

1l Grir 5138 uRe $2U.
A)1,2 B)1,3
@2, (D) 2,3
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mE

005. Consider the following statements.
1. India’s share in the global production of millets is more than 50%.
2. The top importers of millets from India are USA, Russia and China.

3. In India, Agricultural and Processed Food Products Export Development Authority (APEDA)
has been working towards facilitating shipments of millets by Indian exporters and helping

them make inroads into new markets.
Which of the above statements is/are correct?
A 1,3 @3 onty
©)2,3 D123
006. While recommending minimum support prices (MSPs), the Commission for Agricultural Costs
and Prices (CACP) looks at the following factors
1. The market price trends at both domestic and international level .
2. The likely implications of an MSP on consumers of that product
3. A minimum of 30 per cent as the margin over the cost of production
4. Inter-crop price parity
Select the correct answer code:
A1,23 3B)1,3,4
@24 (D) 1,2,3,4
007. Consider the following statements regarding National Agricultural Cooperative Marketing
Federation of India Ltd (NAFED)
1. It is the apex organization of marketing cooperatives for agricultural produce in India.
2. It functions under the Ministry of Agriculture.
3. It is the nodal procurement agency for pulses.
Which of the statements given above are correct?
A1,2 31,3
@2, (D)2,3

008. Hard currency is usually preferred because
1. It is seen as politically and economically stable.
2. It is widely accepted around the world as a form of payment for goods and services.
3. It is not likely to depreciate or appreciate suddenly.
Select the correct answer code:
A)1,2 31,3
@2, D)2,3

[CSP-2] rro. A
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009.

010.

011.

012.

sl Al Al 84 :

1. 22Hi GId 221 [RA[B $2ql.

2. Ayol Aowousl Hudl Heeid Ayl Awoul siua sdl.

3. wdAqil al& e:m and) val.

U2y BriR 518 uie 2.

(A)1,2 (B)2,3
013 @:.2,3

1. waH dyadla dioH s d 1951 4l 195671 uHuouo HI2 A3 sAUHD 2], d A3y YaRI-aiL e

N

Harrod-Domar (8213-31H) HI3A GUR 208Rd ¢dl. dd you agu ea-l M [Asu ed.

2. 6129 Y[y diosHt : d 1956 Al 19611 AR HIS IR sAUHL 2udl. d YLl wsia-iBu wise
U2 2HRA gdl. dd Yuu asy gaql el [Asa sd.

3. Aoy yuanly ulo : d 1961 €l 196671 AHUUOW HS AUIR sAUHT 2udl. 20 Al ousolla ulos
13 weL v 8. UL Al You e veddaad aadell siiaarg 8. 5[ 214 a6 Gaungui
AL YR HIR YsUHT 2l el

4. 2l yaaly dig : -l aHuouol 1992 A 1997 dl. dui Hirid A0 Qs xald A,
(a2 241 28 2uR1UA il 20Ul 2uuatHl 2udl 8dl. 24 dlorHL g1 AR MR- Adl
s Al W™ Ul edl.

Guu UL saui [Qandl wcn 69 ?
(A) H1A 1 244 2 (B) H1AA 2 211 3
(C) HA 3 %11 4 @1, 2,3 v 4 B,

AU WA 5y [Birt-or51d WY (Non-Tariff measure) el ?
(A) AL YAl ulsul (Import licensing procedures)

(B) dwRHl g4 xaRisl (Technical barriers to trade)
© swziadledl ﬂ%{l&%l*ﬁ (Phytosanitary restrictions)
.(31{2-1511 A [Bir-ors1d warai (Non-Tariff measures) 6.

RUL[&AS 45d 20 1ML Ll el WS duAHL 209 ¢ ?
1. §[ Gewel

2. WIEL ygIal

3. g

4. L 24 112 Yl

5. APy gl

A BriR S8 WRiE S
Aa1,2,3,4 ®1,23,5
@:.2,3.4,5 D) 1,2,4,5
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009. The Fiscal Policy intends to

010.

011.

012.

1.
2.
3.

Control the price level in the country
Achieve full employment, or near full employment

Maintain the economy’s growth rate

Select the correct answer code:

Aal,2 B)2,3
013 @123
1. First Five Year Plan: It was launched for the duration of 1951 to 1956, it was based on the Harrod-

Domar model with a few modifications. Its main focus was on the agricultural development of

the country.

. Second Five Year Plan: It was made for the duration of 1956 to 1961, it was based on the

P.C. Mahalanobis Model. Its main focus was on the industrial development of the country.

. Third Five Year Plan: It was made for the duration of 1961 to 1966, this Plan is also called ‘Gadgil

Yojana’. The main target of this Plan was to make the economy self reliant. The stress was laid

on agriculture and the improvement in the production of wheat.

. Eighth Five Year Plan: Its duration was from 1992 to 1997. The top priority was given to the

development of human resources i.e. employment, education and public health. During this

Plan, the Government launched the New Economic Policy of India.

Which of the above statements are correct ?
(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 3 and 4 .1, 2, 3 and 4 all are correct

Which of the following is not a non-tariff measure?

(A) Import licensing procedures (B) Technical Barriers to Trade

(C) Phytosanitary restrictions .All of the above are non-tariff measures.

Geographical Indication tags are typically given for

1. Agricultural products

2.
3.
4.
S.

Foodstuffs
Handicrafts
Wines and spirit drinks

Industrial products

Select the correct answer code:
Aa1,2,3,4 ®1,23,5
@:.2,3.4,5 D) 1,2,4,5

[CSP-2] PTO. K
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013.

014.

01s.

016.

017.

D2 WS 53 Hid-URd 52U (Demand-Pull inflation) A2 €131 o €97
1. sl selcuaza

2. [agell ya ¢isRMi atiRl

3. AR gl vy B

4. 3 vayeurt

@:.2,3,4 (B) 1,3, 4

©2,3 D) 1,2,3

A 2 Al 52 uRue (A9 Al [Qeunl 2umi al.

1. g 2 Al 52 WRNEAL UAlS [Reld 8192 A HABL $URL AEAL HIRI(Ed HA-L (weighted votes)
AR Agatadl 216 4 Slu ddl igHdl G121 dani 2uasl.

2. GST uRNE GlesHE 5% U+ Hf MU FA U HA-lL tl-gdluia B2g a4,
Guru U4 5y [Aann / sun Qs uea 9 ?

&1 (B) Hixt 2
(C) 1duL 2 bid (D) 1 244 2 Higll 245 ue 4l
dweda ysaull yasis (Digital Payments Index) (DPI) .......... g1 A3 sUMi 204 €9,

(A) auRdlY s 2AoLen (Indian Banks' Association)
.G-chﬂbl And oi-5 (Reserve Bank of India)

(C) lld 2uui2 (NITI Aayog)

(D) ALY Aiss1uA $AL) (National Statistical Office) (NSO)

64101 244 ARudla Ul 2»{01';1', AAISSIR GILS (Advisory Board for Banking and Financial Frauds)
(ABBFF) (gl 121 [ eunui @l

1. d-ll 24+l RBI 121 $cuMi 2udl €9,

2. d 6ieginl dsd 9aUlSl Sl nam saudl dw 52 9.

3. d AUl usnsly uoudlni 9daudlély [Qedua 52 © x4 9dld) 20viffd siSua Alld asa we
HIRLE 20U 69,

Guar WSl sy [Aanq / s [l aea 9 ?

A)1,3 @:.3

(C) ™1 3 D) 1,2,3

A= Qe 2uAni Al
.

1. MIRd 1AL ddsll (crude oil) [Aa-l Alel el »uaasiR 8 5 3+l 80% w3RuUd 2nud gl
uRyel a8,

2. LB AR ANTHE MURAHL $1AL A4 (crude oil) L As-agaia Fedl 2uad A i 6.
GuL UL £y [Qanq / sa (Al aca 69 ?

(A) W 1 (B) {12t 2

@1 2ein (D) 1 244 2 Higfl 245yt )
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013.

014.

01s.

016.

017.

Which of the following lead to Demand-Pull Inflation?

1. A growing economy

2. Increase in Forex reserves

3. Deficit financing by the government

4. Depreciation of rupee

Select the correct answer code:

@234 (B)1,3,4
©)2,3 M1,2,3

Consider the following statements regarding Goods and Services Tax Council.

1. Every decision of the Goods and Services Tax Council shall be taken by a majority of not less
than three-fourths of the weighted votes of the members present and voting.

2. The vote of the Central Government in the GST council meeting shall have a weightage of two-
thirds of the total votes cast.

Which of the above statements is/are correct?

.1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

The Digital Payments Index (DPI) is released by

(A) Indian Banks’ Association .Reserve Bank of India (RBI)

(C) NITI Aayog (D) National Statistical Office (NSO)

Consider the following statements regarding Advisory Board for Banking and Financial Frauds
(ABBFF).

1. It has been constituted by RBI.
2. It conducts first level examination of all bank fraud cases.

3. It periodically carry out frauds analysis in the financial system and give inputs for any policy
formulation related to the frauds.

Which of the above statements is/are correct?
(A)1,3 @:.3
(C) 3 only D1,2,3

Consider the following statements.

1. India is the world’s largest crude oil importer, where nearly 80% of its needs are met through
imports.

2. In the recent years, around one-fourth of India’s crude oil imports come from Russia.
Which of the above statements is/are correct?

(A) 1 only (B) 2 only

.Both 1 and 2 (D) Neither 1 nor 2
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c

JHIARUL “Unicorn Company’ A€ AZAUR %dl HOL 69, d-il 219,
(A) el ladl-l vie 530 8a siduat su-dl vurellse
@1 Brcluq g2 ae ag yeud viqoll 222-21u sudl

(C) 28R &nt-l Susll 3 % e &nt-l vi-u Susll il (Al as siu
(D) MuRAHE 2uuR sl [Agall eugsdlu su-l

2w dAHL g2l [Rugid (Kuznets' theory) 2 Aoi8q ¢ ?
(A) Hu£ls GDP [ ZREIER
(C) siflu vy (D) Azl atuzi

A=A Qe Rl Al
N

1. Se5ld WWSU UL A& 247 AUl AL AL 2 v AUGERIHE Q613U 24 UHAR AAHGAL
HRaAHL UU 53 8.

2. A% R AU 5 B YA 241 1212 ilA st 8- yld 53 9, d-ll 221 S+l Agu 2uio-)
A2 A 9.

Gui WSl sy [t / sul Qe i 4l?

(A) 1A 1 @2

(C) 1 a2 6iq (D) 1 24 2 uigll 2445 uwL )
D21 Wl 54 Footloose ([Roly) Bellor Gels & ?

1. €121 Gaat 2. i3 Galdy

3. s1vyeR dlwy 4. AyAlaun Galo

AL BTIR 13 uRie $2U.

A)1,2,3 @3

(©)1,3,4 (D)2,3,4

A2 U4 sul cudHi aldlras ws (commercial crop) € ?
(A) ¥ (B) A1
(C) uat @)Guisa arum

A8 cortll 2 crmg il ¢ia (Fair and Remunerative Price) (FRP) sl HoR 5387
@15 cuotdi-) 3wl (B) $M vz 14 Budid 2uai0
(C) M52 24 Rl Rgnau, sM Hnan (D) vidladl Geut o102 ulala

N8R Vigdl dHrll A, s 4 Y8 2500 53 © 244 21Ul WAL sHRAL [AZan 861 2Aysa Ad 514
53 8 a2l dH-L 51 dH-l a2l 1Rl s1dd) ol i dnidll €35 g1 sHIEAAL dd-l UWHIRHE adA &
A A g 53 B ?

.%lé.&lﬂ vidl (Co-operative farming)

(B) Q{lﬂ\[és vidl (Collective farming)

©) ‘iﬂcuél uidl (Capitalist farming)

D) "\l\ﬁ\d uidl (Peasant farming)
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The term ‘Unicorn Company’ often seen in news means

(A) Privatisation of any loss-making state-owned company

.Private start-up company valued at over US$1 billion

(C) A public sector company merged with another public sector company

(D) Foreign multinational company doing business in India.

In Economy, Kuznets’ theory is related to
(A) GDP per capita .Inequality
(C) Fiscal deficit (D) Population growth

Consider the following statements.

1. Union Finance Commission tries to rectify the vertical and horizontal imbalances in resources
and expenditure responsibilities between Union and States.

2. State Finance Commissions that supplement the resources of panchayats and municipalities are
constituted along with Union Finance Commission.

Which of the above statements is/are incorrect?

(A) 1 only @): ony
(C) Both 1 and 2 (D) Neither 1 nor 2

Which of the following are the examples of Footloose industry?
1. Diamonds industry

2. Sugar industry

3. Computer chips

4. Aluminium industry

Select the correct answer code:

(A)1,2,3 @:.:

©13,4 D)2,3,4

Which of the following is the commercial crop in India?

(A) Mustard (B) Tobacco

(C) Jute @Al of the above

Who approves the Fair and Remunerative Price (FRP) of sugarcane?
.Cabinet Committee on Economic Affairs

(B) Commission for Agricultural Costs and Prices

(C) Directorate of Marketing and Inspection, Ministry of Agriculture
(D) Agricultural Produce Market Committee

When farmers pool their land, labour and capital and work jointly under the direction of an elected
managing committee and divide the profit among themselves in proportion of land contributed
and wages earned by each one of them. What is it called?

.Co-operative farming (B) Collective farming
(C) Capitalist farming (D) Peasant farming
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026.

027.

028.

029.

030.

A2 [QadiA 2uni al.

1.a¢ 28 ARAUSIAL (WTO) d-l Hiugls 8l A2 2umR s’ 24 Qsudla’ sl
55l 53 69,

2. WTO [asiualla, 2tie-[asi@ia 24 209 2uas 4add e dslSl Assi2 244 aidld g1l WTO-L
(R xR s 12 U8 YL wid €.

GuRlsduidl sy Q- / su Q- a8 ?

(A) 1A 1 @2

(C) 1 241, 2 {4 AL 69 (D) 1 24 2 uidl 1S ).
BlLEL YR8 g YU 9 ?

(A) "1 vugrl Guastidl (Availability of food only)

.853 Q-lHQl, £35 W2 el YAMAL (Access to food to all, at all times)
(C) dHIHA VgL uRasdl (Affordability of food for all)

(D) dHIH CTERN R ] (Nutritious food for everyone)

2516ug] (sustainability) 20¢ 9 4Ad € ?

(A) dRiariiysd 2ar Hie Alus ganeidl adauddl %3 9.
(B) gecl uaiarui-ll uylg- Al 2142 52l Hindla Baril,
(C) & Ul WA ATy s @a- Hie o 3<0 Aa-l sl
@)Gurisa arun

AS AU (rhizobial) WS21 22U (fixation) HIE 54 AAAMRS VAR Hnagus 8 ?

(A) 3[@wn (B) Wi2eun

(C) Bun @): 2520

.......... quad slaell Azolla 2 Z[As vitdR 415 Gualami daw €.

(A) [Qya Hisumi Ygds (humus) (B) 03B 1uu (Rhizobium)

©) TR Bl (Mycorrhiza) .qu'ﬁQ&éﬂﬂl (Cyanobacteria)

sl ARSI [AcudL, Youed ndR &l st (PSBs) 21 -usla 2124 adtdl -l [auus yael we
AUAEIR &9 ?

(A) W [QeudL (DoE)

(B) 0eilis Ald 244 unian [Qeul (DIPP)

(C) $arei-2 =3 Wbas 2142 HAwH-2 [Budn-2 (DIPAM)
@) -1oudlu A [Qeud (DFS)
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1. World Trade Organization (WTO) determines 'developed' and 'developing' countries based on

Consider the following statements.

its per capita GDP ratio.

2. WTO provides assistance to developing, least-developed and low-income countries in transition

to adjust to WTO rules through technical cooperation and training.
Which of the above statements is/are correct?

(A) 1 only @): ony
(C) Both 1 and 2 (D) Neither 1 nor 2

What does food security imply?
(A) Availability of food only
.Access to food to all, at all times
(C) Affordability of food for all

(D) Nutritious food for everyone

What does the phrase ‘sustainability’ imply?
(A) A shared global responsibility is necessary for quality of life
(B) The actions of human directly impacting the well-being of the natural environment

(C) Future generations will have the resources necessary for quality of life

.All of the above

Which chemical fertilizer is essential for better rhizobial nitrogen fixation ?
(A) Calcium (B) Potassium
(C) Sodium @ rhosphorus

Azolla is used as a bio-fertilizer as it possesses
(A) Humus in large quantities (B) Rhizobium
(C) Mycorrhiza .Cyanobacteria

Which government department is mainly responsible for policy issues relating to Public Sector

Banks (PSBs) and Financial Institutions?

(A) Department of Expenditure (DoE)

(B) Department of Industrial Policy and Promotion (DIPP)

(C) Department of Investment and Public Asset Management (DIPAM)
.Department of Financial Services (DFS)

[CSP-2] rro. KX
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031.

032.

033.

034.

HEIReL £%A HYR Sl WIS LRAHL AcMi ALl HIUES U189 ?

1. el 1@ ay R4 3L 25000 521390 At A9 Alls s (turnover)

2. eal AR A g3 31 15000 s2139l Ay A3u9 Aldls Alvvi Y& (networth)

3. ean @ Ay g3 541 suld bUE 3L 5000 s2Asell ay w3 Alls Alveil sl
4. <UL Alus uldeu (Presence) / Mid%%l‘bé]!-l DK é\lg A,

(A) 1442 (B) 2 213
(€) 324 @1.2,324
(Gl a1,

1. Y&4-Gellol A8 1 510 247, 2zt 1Al A A -AHE A519 3. 1 520320 ay A Sl 2 s asi
(turnover) 3L. 5 s139l ay Slu.

2. 4y-Gellol ASA 1 5104 24 UL AHA A A8-UHE A5 3. 10 53 Ay, A i 2 alils asi
3L 50 52134l ay - ¢,

3. HRAU-GEUOL AW © SIRVAL 247, oL AMAL 2 WAL A5 3L 50 539 Ay L €lu 214 ulils
asl 3L 250 s2Asdl ay L Sl

1AL BR 513 e S

(A) WA 10y 8. (B) WL 2 13 69,
(C) WL 3 1 8. @1, 2 214 3 i 8.
(Gl a1l

1. SEZ Aol yu Gaal asidl 2ulls ualid Rniw, a2 A Rsud Wieusa,
225 21 [A2ell Aldiniell A518 Nes, Hnvudla Yamzin [Asx e A2l asid 1+
5L 69,

2. SEZ 7, 42014 drll Wil SIAUEWAL 121 Ad, Slalell del SR 61 o SIEIAL Qo) uddl -l
3. Beurg, uuIR AL Adl udli W2 SEZ Hi »isH 2l asiu 8.
A1 BTiR 513 e 5.

(A) WL 1 24 2 0L 8., (B) HIAA 2 24 3 1L 89,
@13 8. (D) 1,2 211 3 M 02 8.
(Qau-il as.

1. 3v% AR GIRL 14 0521042 20031 A% Rl WAL 2u1 AT 20,

2. iRl uldzusl 20100 3 UR 4R [AYsA 536 28 w8 2 6 ueRLY oy O,
AL BriR 513 udE SR

@1 a2 vid . (B) 1 12 2 6§ 120 ).

(C) HA 10y 8. (D) HiA 2 1Y 8.
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What are the criteria to be considered for grant of Maharatna status?
1. An average annual turnover of more than Rs. 25,000 crore during the last 3 years
2. An average annual net worth of more than Rs. 15,000 crore during the last 3 years

3. An average annual net profit after tax deduction of more than Rs. 5,000 crore during the last

3 years
4. Should have significant global presence / international operations
(A)1and?2 (B)2 and 3
(C)3 and 4 @1.2,3ana4

Evaluate the statements.

1. MICRO ENTERPRISE-Investment in Plant and Machinery or Equipment not more than
Rs.1 crore and Annual Turnover not more than Rs. 5 crore

2. SMALL ENTERPRISE-Investment in Plant and Machinery or Equipment not more than
Rs.10 crore and Annual Turnover not more than Rs. 50 crore

3. MEDIUM ENTERPRISE-Investment in Plant and Machinery or Equipment not more than
Rs.50 crore and Annual Turnover not more than Rs. 250 crore

Select the correct answer code :
(A) only 1 is correct (B) only 2 is correct
(C) only 3 is correct .1, 2 and 3 all are correct

Evaluate the statements

1. The main objectives of the SEZ Scheme is generation of additional economic activity, promotion
of exports of goods and services, promotion of investment from domestic and foreign sources,
creation of employment opportunities along with the development of infrastructure facilities.

2. All laws of India are not applicable in SEZ as it is governed by its own law.

3. Units may be set up in the SEZ manufacturing, trading or for service activity.
Select the correct answer code :

(A) Only 1 and 2 are correct (B) Only 2 and 3 are correct
.Only 1 and 3 are correct (D) 1, 2 and 3 all are correct

1. Competition Commission of India was established by the Central Government with effect from
14th October 2003.

2. Competition Commission of India consists of a Chairperson and 6 members appointed by the

Central Government.
Select the correct answer code :
.1 and 2 both are correct (B) 1 and 2 both are not correct
(C) only 1 is correct (D) only 2 is correct
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AHIDS WY si aHlae 52 69 ?
(A) A3 51454, Qi (B) 28R URIY
(C) 2, et wiell 247 2424901 @ 1), (B) 211 (€) i saldd awm ugfi

él‘-ﬁdlé:&s [RRen 2 AHASAAR (Harmonised System of Nomenclature) (HSN) 513 AoiBd Al
(Ragnin Lunui al.

1. d [@2 duR Ao (WTO) gt [Asla 215 eigdds 2idrArdlu Gaute uns .

2. d uHAU [Quni alRad d Ram-u adllsad 10 sr-iaanl [@Qoq e [@Qsuaani 20y ¢,
3. HIRAHE, HSN 513 2234 31 GST UR Qo d 69,

GuRsanidl sa (Al aca e ?

(A) 1,2 @:.3

©1,3 D) 1,2,3

uylazella A2 H\C—bli:‘s"l (Environmental Impact Assessment) (EIA) 59 Ad cvuRd 9 ?

@) 151205 2107 B2 29 gedl waiard A Yeusidlui AsRIAS AlAEA uua w2, Rara
(Bt carvaRid s we, yRd wigse z1aan [asudl Aeldd 142 2iovia, 21008l a1
Heuis scu-l ulza

(B) wulaml, A4 - s a1zl 21 Asld-) 20di@d Qs u 2120 u w511 u[ARE g121
Qe A

©) ALl DA U H&Uis1 (Project life-cycle assessment)
(D) A512 BUR ANdR YIS

RURAHL Gla Al [Agl A1 WA 5y [t 0 © ?

-\

(A) 20 [Agga cudmi Glod Geurg -l Al Hizl ld €.

Y Y

@G QoA cuani Qo Geure-til Al 12l 2l 8.
(C) AR Blogl cuRAHi Blol Gewg -l Alell Hich AU 69,

N

(D) uart Glog cuRdui Gl Gewg il Al Hizh 2d €9,

([Qtu-l asul.

1. ALIRHIAL 51054 2 agaH HLLEA AR A EXIM 29 2Rs dwr |2 ulRagH (Logistics)
w2l garsal Wl 8. dui Hisd Mam-u A gani el 20 sl uRasH- wayi a218l
$al, EXIM $-2112+U URaASAHT AHU/MAA YridH 5301, vigl 125 sad-2ia [@Ruie ayst
[Asaudln, [Asi ualcsdaml FHIRL sauml dde a9,

2. 21Ul 20 s SR (AAD -1 AAg-1 RN gL saL 20d) gdl 214 14l 21Bia

1990 ~u A% xARacaui 2udl 8dl. AAT §& 137 2RUIE, A4 52 8 FHI 24 AHidAGA 2 10
$%2H VRULE 241 103 [R5 UL nda 2 8.

Gua-u U4 5y [Aann / sun Q- uea 9 ?
&1 (B) W13t 2
(C) 1duL 2 bid (D) 1 241 2 Higll 245 we 4l
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Social infrastructure includes

(A) Literacy Programme, Education.

(B) Public Health.

(C) Housing, Drinking Water and Sanitation.
.All activities mentioned in (A), (B) and (C).

Consider the following statements regarding Harmonised System of Nomenclature (HSN) Code.

1. It is a multipurpose international product nomenclature developed by the World Trade
Organization (WTO).

2. It was developed with the vision of facilitating the classification of goods all over the world in a
systematic manner.

3. In India, HSN codes apply to Customs and GST.

Which of the above statements are correct?

(A)1,2 @:.3
O1,3 M1,2,3

EIA-Environmental Impact Assessment (EIA) is defined as

.A process of identifying, predicting and evaluating the likely impacts of a proposed project or
development to define mitigation actions to reduce negative impacts and to provide positive
contributions to the natural environment and well-being

(B) A report written by government representatives on the planned development impacts of
environment, socio-economic issues and culture

(C) Project life-cycle assessment

(D) Evaluation of return on investment.

Which of the following statements is correct about the sources of energy (power) in India?
(A) Hydroelectricity is the largest source of energy (power) generation in India
.Thermal energy is the largest source of energy (power) generation in India

(C) Solar energy is the largest source of energy (power) generation in India

(D) Wind energy is the largest source of energy (power) generation in India

Evaluate the statements :

1. Sagarmala Program is to reduce logistics cost for EXIM and domestic trade with minimal
infrastructure investment. This includes: Reducing cost of transporting domestic cargo through
optimizing modal mix, Improving export competitiveness by developing port proximate discrete
manufacturing clusters, Optimizing time/cost of EXIM container movement.

2. Airports Authority of India (AAI) was constituted by an Act of Parliament and came into being
on 1st April 1990. AAI manages a total of 137 airports which include 24 International airports,
10 Custom airports and 103 Domestic airports.

From the above mentioned statements which statement/statements is/are correct?

@oniy 1 (B) only 2
(C) both 1 and 2 are correct (D) both 1 and 2 are not correct

[CSP-2] [PT.0.
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gt wislddlse (Naturalisation of humans)-l n...
@R 2024 asDA Qs (B) G2 22+l as04 [Asi

(C) WM -l as-lé) [asiu (D) GURisd WA 218yt 1l

20110 aRel 2R HFAIR sUL ABAHUL 5RLAS el Qg 2@ © ?
(A) 301 @-oua-

(QRIET (D) dlRa-ug

2011+ a2l ol 2ug2uR - U4 53 Az Al 2169 azdl 2Nadi ud & ?
(A) PAiu (B) *WoUA~S
@ 3uaa uza (D) Ruaa uga

-

A2 284 tuRd- sl saHiA dH-l s i 0 4oy, Ad Asl.

$4H, CRIETREN]

a. 268 1. da-dl puas W AlssAU 54 21 Yes Bu WA

b. 270 2. U™ IR AALS AYA SAHL 2198

c. 271 3. 522 A" AR WA Ug, Al ayend 2 [adluio sl 522

d. 268-A 4. 502 AY AR U S AYALA 528 U, A8 i AUl 423 ad) 2 »uadl
(A)a-1,b-2,c-3,d-4 (B)a-1,b-3,c-2,d-4
@:--3.p-4,c-1,d-2 (D)a-2,b-1,c-4,d-3

A U £y [Qenq / s Qs aca 69 ?

1. He -l Hnvusla oAl AHALSQL WIS A%, AR [gualla via-{lai wiad) sug Ad asia ad
ASA.

NN

2. A8 ASIR gL RAAA SUiRA-1 2Aal SUl uR AU 21, AAS ATHINL 4 @dudl us 6.

(A) HA 1 (B) Wi 2
@1 2 i (D) 1 247 2 Higll 215 e 4l
CRR Y& ?

1. d 6i5 el uldd 8 5 3 RBI WA HEAL Akl iHA 3UH AV 6.
2. d 6iv5 G121 RBI Hi AilHA A2l M0 2AZUHL saHE 2ud el gl €.
(A) A 1 @2

(C) 1duL 2 bid (D) 1 241 2 Higll 245 we 4l
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Naturalisation of humans means

.Low level of technological development

(B) High level of technological development

(C) Moderate level of technological development

(D) None of the above

Which of the following State has negative population growth according to Census 2011?
(A) Kerala @ Nagaland
(C) Goa (D) Tamil Nadu

According to Census 2011, which of the following State has the lowest population density in India?
(A) Mizoram (B) Nagaland
.Arunachal Pradesh (D) Himachal Pradesh

Match the following Articles of the Constitution of India with their provisions correctly.

Article Provisions

a. 268 1. Surcharge on certain taxes and duties for purposes of the Centre.

b. 270 2. Service tax levied by the Centre.

c. 271 3. Taxes levied by the Centre but collected and appropriated by the States.

d. 268-A 4. Taxes levied and collected by the Centre but distributed between the Centre and the
States.

(A)a-1,b-2,c-3,d-4 (B)a-1,b-3,c-2,d-4

@:-3.v-4,c-1,d-2 (D)a-2,b-1,c-4,d-3

Which of the following is/are true?

1. A State government can avail external assistance from bilateral agencies for implementation of

vital infrastructure projects.

2. State and local authorities can tax the corporations or the companies created by the Union

government.
(A) Only 1 (B) Only 2
@3Both 1 ana 2 (D) Neither 1 nor 2
What is CRR?

1. It is a percentage of bank deposits that they keep with the RBI as gold deposits only
2. It is a deposit made by bank with RBI in the form of reserve or balances

(A) Only 1 @onyy 2

(C) Both 1 and 2 (D) Neither 1 nor 2

[CSP-2] rro. KX
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047.

048.

049.

MIRA SMAAU Yoo ugsIRL sULE ?

1. gl 2454 [AeUR €ls M Buig sal atrdl : Guerni atil, G2 yeurit ws-i Aldase 213 sdlal
v 2134l HIS HEU Yuidl (value chains) [Asuadl.

-

2. s Ad wmdll sii-ld g e alell aeisdl, FHi 50 dney Bia-vidl A20uR einql wd
AU 69,

-\

3. 5[0 (A5 vua Yrau naasdiziia aloy {d wldue 20l d YRR 59

(A) 1442 (B)2 1 3
(€)1%43 @1, 213
A2 (sl as.

1. vigdi-l o2l 42a vidl s2a {2 WRd s HI2 uFuRedtd $0 (s dlo- a3 sl >udl 9.
2. AlssA Wl Bewre st 2516 Ad atural S ASA Se 18 e sAUHL 2L 69,

3. 0098 o ddl s snonadl Morazgatil Mia [FRAR WS 620 Sddiud A1 5L WS MUd-
[Radls2@ eiginll i saumi >udl ©.

4. M e Al A 2(ARd dlgyRast Yyl wsd. d-udl WA Gauen o 48l uig 522 Gealol, [RQaw
A3 Vgl AMAA: @A YR Ul WAL AR U3l

1AL BR 513 YL S

(A) 1,224 3 0 8. (B) 2, 3 i 4 4L 89,
(C) 1,3 2 4 0 O, @1, 2,3 214 4 8.
spual [Qan-i aswl.

1. 22+l 65 uldaid (2021 it 21531 Yoxor) azel IRl [ARaiRui 28 6 211 47 uldad adl @an [Rals w2
5[ GuR 2utRd 9.

2. elHEAN BiAle Uil - Ql‘é\l% arfla a- [Rals R (Deendayal Antyodaya Yojana - National
Rural Livelihood Mission) ( DAY - NRLM) -l 84, 2[5 dd -eion uRaRiA citeius (gainful)
ARAYIUR 2, A (skilled) Adt AU Al HNAAL HIS AEH G-l 6.

3.4 @ad [Ra (JIM) 2 el celleidldl suani ysardl mdud sami 2udl edl, F-udl
MMM €35 HRL 8 A NdR A Bl 5 wonl, 2icRAl Sw6l, 2UAH WONBL, HIRY
Ssl RA -t wielld ARl Y3 wsauni »ud.

1AL B2 513 uRie 42U

(A) 131 3 112 69, (B) 2 24 3 0 89,

(C) 123 2 20 8. @1, 2 214 3 dm 8.

{121 Y4 sul Getlol Gotdl YA BelloL (Sun rising) A1 elldl €9 ?
(A) 34 Geiloy @S -sidan 25-idiw
(C) ey 1A scl-ls (D) €121 Gaia
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What are the major agriculture sector challenges of India?

1. Raising agricultural productivity per unit of land: increasing yields, diversification to higher
value crops, and developing value chains to reduce marketing costs.

2. Reducing rural poverty through a socially inclusive strategy that comprises both agriculture as
well as non-farm employment.

3. Ensuring that agricultural growth responds to food security needs
(A)1and?2 (B)2and 3
(C)1and3 @1,22na3

Evaluate the statements mentioned below.

1. Paramparagat Krishi Vikas Yojana has been launched to motivate groups of farmers to take up
organic farming.

2. Soil Health cards have been introduced to enhance productivity of specific crops in a sustainable
manner.

3. Price Stabilisation Fund has been established to support market interventions for price control

of perishable, agri-horticultural commodities

4. Gram Jyoti Yojana will provide uninterrupted electricity supply. This will not only boost
production, but will also have a huge impact on the overall lives of the farmers, including cottage
industries, education, etc.

Select the correct answer code :
(A) 1, 2 and 3 are correct. (B) 2, 3 and 4 are correct.
(O) 1, 3 and 4 are correct. .1, 2, 3 and 4 are correct.

EVALUATE THE STATEMENTS.

1. 65 per cent (2021 data) of the country’s population lives in the rural areas and 47 per cent of the
population is dependent on agriculture for livelihood.
2. The Deendayal Antyodaya Yojana-National Rural Livelihood Mission (DAY-NRLM), aims

to enable economically weak households to access gainful self-employment and skilled wage
employment opportunities.

3. Jal Jeevan Mission (JJM) was announced to be implemented in partnership with States, to
provide tap water connection to every rural household and public institutions in villages like
schools, Anganwadi centres, ashram shalas, health centres etc

Select the correct answer code :

(A) 1 and 3 are correct. (B) 2 and 3 are correct.

(C) 1 and 2 are correct. .1, 2 and 3 all are correct.
Which of the following industry is known as sun rising industry?

(A) Dairy industry .Information Technology
(C) Health and clinic (D) Diamond industry
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053.

054.

A (s agial.
1. YA YAsis (Good Governance Index)Hi AyAd UL 6L At HIZ UAH $H 2UAA 6,

2. [Rsta Al yasis (Export Preparedness Index) 2021 Hi %31d 78.86 L Mitdis A1& NAH A €9
% 3L 228833 5213 (US $ 30660 H{lcllu-) ) A1 (gl 34l viall cucy €9.

3. A% VUIEL YR&U YASLS (State Food Safety Index) 2021-22Hi Hi2L 20 AUHI 22U 77.5 L Wdis
g ollon 54 69,

4. DPIIT 5121 Aga1R 2212-21u H2 No1o SsifleH UEL SUHL 9RAd NAH $3 8. 221E-21U -89
Aosul 202141 AUl selli oA A UL $UR LS Bl 2uc 6.

1AL BR 513 YL S,

(A) 1,2 21 3 22 89, (B) 2, 3 1 4 01 89,

(O) 1,321 4 01 69, @1, 2,3 2114 8.

sad Ay ARMEMA & .......... vitd (R ¢9.

(A) 50 @ciowan

(C) sales (D) alPanug

D2 WA 56 el [y €l Gunel el ?

(A) [Br €] (Beas River) (B) %512 gl (Zanskar River)
@111 4] (Kameng River) (D) 245 €] (Shyok River)

& (Insolation)Hi at@2-L 512811 uRenl :

(RCTRICEE RELERT) (Transparency)

2. %ﬂdj d- wRH (aspects)'ﬂ e[ g A3 (configuration)
3. [Bau-l dous

1AL B2 513 uRie 42U,

A)1,2 B)1,3

(©)2,3 @123

‘Aadl [anus 2u (an)’ avesdl Guaidl axdlfdel gt Al WAL di-i AuiaA avlaal 2 scumi 2ud € ?
1. Y2r-uldeiud 2 Uy €2 (Sub-replacement level fertility rate)
2. Gl Ui €2 (High fertility rate)

3. 4y €Hi 82131 (Declining Mortality)

4. a8l Yy ¢ (Increasing Mortality)

1AL G 513 YRS 53U,
Aa13 B)1,4

@:.3 D) 1,2
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Evaluate the statements mentioned below.
1. Good Governance Index Gujarat has been ranked first for two consecutive years.

2. Export Preparedness Index 2021 Gujarat ranked first with a score of 78.86 attracted Foreign
Direct Capital of Rs. 228833 crore (US$ 30660 million).

3. State Food Safety Index 2021-22 among the large 20 States, Gujarat ranked 2nd with
77.5 score.

4. As per DPIIT ranking, Gujarat ranked 1st in providing strong ecosystem for start-ups. Gujarat
emerged as the Best Performer in A category of States in Start-up Ranking of States - 2021.

Select the correct answer code :

(A) 1, 2 and 3 are correct. (B) 2, 3 and 4 are correct.
(O) 1,3 and 4 are correct. .1, 2, 3 and 4 are correct.
Kawal Tiger Reserve is located in

(A) Kerala .Telangana

(C) Karnataka (D) Tamil Nadu

Which of the following is not a tributary of the River Indus?
(A) Beas River (B) Zanskar River
@ xameng River (D) Shyok River

The factors that cause variations in insolation are:
1. The transparency of the atmosphere

2. The configuration of land in terms of its aspect

3. The length of the day

Select the correct answer code:

A1,2 31,3
(©)2,3 @123

The term demographic trap is used by demographers to describe which of the following

combination?

1. Sub-replacement level fertility rates
2. High fertility rate

3. Declining mortality

4. Increasing Mortality

Select the correct answer code:

A3 (B)1,4

@:.3 D) 1,2
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055. AsAld-ll U UAE 5l avid % d eall 2 seaus [Rudld wad sg o33 8. AsdldA H 2uudl avid
D21 WA 56 Wl Rist 2iu-iiaami 2ud © ?

1. YR n s WAl 249 00 w2 Fwa §ig ASA.

2. -l M dousd uia 2aRiql el

3. AN g €lg S 2 UHY YrRiadA ad A &,

A1AL B> 513 uRie $RU.

(A) WA 1 (B) 1,2

@:.3 D)1,2,3
056. 112 2uden [Qandl Luqmi al.

1. ARa-l you G- eRun (Bruuddl dons au aadlu 2ry2l dney sige 2 [Rsiour - eRu
(Brurll g dous cura-l ¢ uee-l dous sdiay 8.

2. glldist wesll g 4ell 21 Yt il 6121 AAAL AHgG L Ai53LHOL gL ARl xAaa Ul ©.
GuL Ul £y [Qanq / sa (Al aca 69 ?

(A) HA 1 @2

(C) 1 a2 bid (D) 1 244 24igl 2is yw )

057. A vissi (gl A [Qanql uqmi @l
1. 20 v sl Aledlsig 21yd uHuaL 4R1d 8.
2. 21 v sl 3uedl S3Ludl onu 8 i d ay g2 Yl sanden ial .
3. 312, U208 A SR ALES wisi-u BElswL €9,
BuR- WSl sy [Aaiq / s [l aea & ?
(A)1,2 (B) WA 2
@:.: D) 1,2,3
058. 12 vuuen [l astil.
1. ulau 2 1 yd el avumsllui ay Glug qud ©.
2. ul2m a2 2 yd |12 5l ay 425 6 2 vldau diaw ol 8.
3. oeudl 2530241, WASI-3L UddHIN A AlerHie 2530240 Ul ae- [ 8.
GuL U4l £y Qe / sa (Al aca 69 ?
@1 (B) 1,2 ©1,3 D)1,2,3

059. [Riuyy vunisin (A9 AlA-u [Qaiql 2uqsi al.
1. d [Badl Grixga yaell Aldl ay g2 AHdl Sl 6.
2. A (B dnontHi HsgT uR Akl e Bur Siu 6.
GuL U4l £y [Qanqt / sa (Al aca 69 ?
(A) a1 (B) "L 2
@1 2 i (D) 1 244 2uiell 245wt )
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While picking names for cyclones, countries need to follow some rules. Which of the following are
the guidelines adopted while naming cyclones?

1. The proposed name should be neutral to religious believes and cultures.
2. The maximum length of the name will be five letters.

3. The name should be new and will not be repeated.

Select the correct answer code:

(A) 1 only B)1,2

@:.3 D) 1,2,3

Consider the following statements.

1. The total length of the coastline of India’s mainland, Lakshadweep Islands and Andaman and
Nicobar Islands together is more than the length of India’s land frontier.

2. Sri Lanka is separated from India by a narrow channel of sea formed by the Palk Strait and the
Gulf of Mannar.

Which of the above statements is/are correct?

(A) 1 only .2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements regarding Acidic Rocks.

1. These rocks are poor in silica.

2. These rocks cool fast and it does not spread far away.

3. Granite, quartz and feldspar are the examples of Acidic Rocks.
Which of the above statements is/are correct?

(A)1,2 (B) 2 only
@:.; D)1,2,3

Consider the following statements.

1. Western Ghats are comparatively higher in elevation than the Eastern Ghats.

2. Western Ghats are more discontinuous than the Eastern Ghats and are highly eroded.
3. Javadi hills, the Palconda range and the Nallamala hills are part of Western Ghats.
Which of the above statements is/are correct?

@1 only (B) 1,2

o113 M1,23

Consider the following statements regarding the Winter Solstice:

1. It is the day when the North Pole is most tilted away from the Sun.

2. The Sun is directly overhead of the Tropic of Capricorn in the Southern Hemisphere.
Which of the above statements is/are correct?

(A) 1 only (B) 2 only

.Both 1 and 2 (D) Neither 1 nor 2

[CSP-2] rro. B3
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060.

061.

062.

063.

064.

06S.

g S0l orcRil® (Ten Degree Channel) $i-l 423 o 1ol €9 ?
(A) g[8 Aig1un 21 AL ATEHIA (B) GriR 1ML A HEL AigIHIA
@ 1.1 2izriun 27 52 RslouR (D) s RsieuR 27 Hi2L Rsieu:

AAAY Al GURAHL UL teHigdl udal ¢ ?
(A) -ll[d e (Niti Pass) (B) Hi+ 812 (Mana Pass)
@ 2ufcw e (Shipki La Pass) (D) “1gcll &2 (Nathu La Pass)

Grix-ydlu Gzauee [Qa DA [Qau-l Lunni Al
1. Gri-ydlu Gamea 2 yuu [gusally G2 ueudll a0 ©.

2. Henau-lL 6 ueani el@a ulan Al vsdn aue 4 9, Z-i ulReud d vicid Qi awll
QUIE 4214 69,

3. Hanquri G2u uea-l clloilas uRRAA 51200 dH slau 24 YRRuu-1 ¢isiR 2uden .
Gua-u U4 5y (At / sun Qs uea 9 ?

(A)1,2 @2
(©)2,3 D13

A2 WA 56 el Yuilasio uge’ ) 44l ?

1. awndl

2. Heinel

3. gl

4. 9lig1asl

A1A1 BriR 513 uiE 53U,

(A)1,2 (B) 2,3, 4

(€)3,4 @:.3

Ulg (Podu) 1 2idR\d (shifting) Wl 25 A3U & B Youd .......... U AUQU] Ysauni uda 8.
(A) iR (B) BRui3

@-ciovau (D) ulBu vioun

[BHicqudl &xmi AR Adl ¢uan 21 sl [Ruuuid w2 AlA-midl sa siel gaeigiR
agll as ?

1. [BHiau udd 21 2s2iAs 2@ Rz ©.
2. aloud ¥ vlaa Gleu s £9.
3. dil Hi2L MISL YU B3SL A AA4UEd [REu-L sl Siu 6.

A1l GriR 513 wale $2U.
A3 B)1,2
@:.3 D) 1,2,3
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Ten degree channel is found between
(A) South Andaman and Little Andaman (B) North Andaman and Middle Andaman
.Little Andaman and Car Nicobar (D) Car Nicobar and Great Nicobar

Satluj river enters India through which of the following passes?
(A) Niti Pass (B) Mana Pass
@ snipki La Pass (D) Nathu La Pass

Consider the following statements regarding North-eastern Plateau.
1. North-eastern Plateau is disassociated from the main Peninsular plateau.

2. Meghalaya plateau receives maximum rainfall from the southwest monsoon, as a result of which
it has a highly eroded surface.

3. Due to its geographical conditions, coal and uranium reserves are not present in Meghalaya
plateau.

Which of the above statements is/are correct?
A) 1,2 .2 only
©)2,3 M)1,3

Which of the following rivers do not form ‘deltas’?

1. Tapi

2. Mahanadi

3. Narmada

4. Godavari

Select the correct answer code:

A1,2 B)2,3,4

(C) 3,4 @:.3

Podu is a form of shifting cultivation practised mainly in
(A) Odisha (B) Jharkhand
.Telangana (D) West Bengal

Which of the following are the reasons that can be attributed to the frequent landslides and debris
avalanches in Himalayan region?

1. The Himalayas are tectonically stable.

2. The slopes are very steep.

3. They are mostly made up of sedimentary rocks and unconsolidated deposits.
Select the correct answer code:

A3 B)1,2

@:.3 (D) 1,2,3

[CSP-2] [PT.O. 4
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067.

068.

069.

070.

071.

ol USEL 21 NHISL 2udd] 8.

1. G2 21 G ydui wilEein 4 A%

2. ydHi e

3. elBmi 18102 A1y 5% WlAd ULl €la, £1al, g1g v AReAd]
4. Al ulan 214 el ulam uee 21200 Ayg 2uda ©.

Gua- [Qtu-l asil.
(A) 1 L2 L 89, (B) 2 dal 3 L 89,
(C) 3 a2 4 AL . @1, 2,3 a4 8.

Daumiddl sul @loilas aoe 2 gedl dd oidal, Aissy, wH dd asier 531 asa da gt
e AoiBd £ o well- ol HizL el A3 9 ?

(A) [guseu (B) vudl

@540 (D) [&u

Daumiddl 55 ©Gu uye’l ulou cavur 9 2

(A) 25 U5 uRcuvurL w3 sl % ¢91e93) vitél (lagoon) A 831 & €9,
@15 0 oo 21yl guen viaa ays

(C) yell uR a-uld 24 Wellowa-

(D) GURisd WA 218 vt 1l

yedfl-il o35t (Earth’s Twin) d<ls 20001 A ......... 6.

(A) A3 (B) A

@2 (D) 44

AR 2udaL 1A 2iaL a2 dHHl HsAL AL SHUL sl

1. Sl

2. i[5

3. sloie S1ALSAS S

4. 202l

(A)1,2,3,4 (B)1,2,4,3
@):s.4,2,1 (D)4,3,2,1

Ql‘{h{ 2l g wlEsw (National Disaster Management Authority) (NDMA) j, '\1<1<'Cl
.......... 5369

(A) *Rd-i guld (B) MRaxL Guarguld
[ CTEXETRICIEEE] (D) MR- 24
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Gujarat stands bordered by

1. Pakistan and Rajasthan in the north and north west.

2. Madhya Pradesh in the east.

3. Maharashtra and the Union territories of Diu, Daman, Dadra and Nagar Haveli in the south.
4. The Arabian Sea borders the State both to the west and the south west.

Evaluate the statements.

(A) 1 and 2 are correct (B) 2 and 3 are correct

(C) 3 and 4 are correct .1, 2,3 and 4 are correct

Which of the following geographical term is related to a naturally formed, narrow, typically

navigable waterway that connects two larger bodies of water?
(A) Peninsula (B) Gulf
.Strait (D) Island

Which of the following is a suitable definition of ‘Archipelago’?
(A) A circular coral reef that encloses a shallow lagoon.

.A chain or set of islands grouped together.

(C) The plant and animal life on the earth.

(D) None of the above

The planet known as the “Earth’s Twin” is
(A) Jupiter (B) Saturn
.Venus (D) Mercury

Arrange the following gases of the atmosphere in increasing order by volume:
1. Nitrogen

2. Oxygen

3. Carbon dioxide

4. Argon

A1,23,4 3)1,2,4,3

@):s.4.2.1 D)4,3,2,1

The National Disaster Management Authority (NDMA) is headed by
(A) President of India (B) Vice President of India
.Prime Minister of India (D) Home Minister of India

[CSP-2] rro. EJ
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074.

07s.

076.

077.

gl | e, AHU XU % 2udl A5 6.

(A) Ui%-U (Evening)

(B) t1UIR uSl-L (Afternoon)

@22 3 Al a3 A w4 (Any time of the day or night)

(D) AR (Morning)

AU el RYAU (Zeus) U UH Ul su1 A UH AU 20 8 ?

(A) wel (B) ¥o0 ©) us @-:
- Akl IR elRA ... s 214 69,

(A) $1HRS1AR (B) $121814R

(C) QU2 @::iu

ALgl-1 A AEl-11 18 sk 2 A e sigl Guaion s34 1AL Hanet ude s:u.
A1El-T (Ash) AEl-11 (Guasi)

a. {an 1. Tethys

b. 33 2. Deimos

c. alR 3. Europa

d. 33.'1% 4. Titania

(A)a-1,b-2,¢-3,d-4 @--2.v-3,c-1,d-4
(C)a-3,b-2,c-1,d-4 (D)a-4,b-3,c-2,d-1
gl AL,

AEl-1 ([RwRl) AEL-1T (UcldHion)

a. 93w 1. xunens

b. 3l36izL 2. vRaedl

c. xuydl 3. [l

d. qudLe 4. ALAYRA

(A)a-2,b-1,¢c-3,d-4 @-:-2.v-3,c-1,d-4
(C)a-2,b-4,c-3,d-1 (D)a-3,b-2,c-1,d-4

el ¢ixd e [l l2-u (el Lunui al.

1. IR 2022 3.28 [lau Al (5L (1 414 €.
2. M1d glaw yd xumEui [RRaq .

3. GURd 8°4' B2 21 37°6' Gk &l a2 [dddl 69,
4. M1 68°7' Yd 11 97°25' yd Jwial 423 [l 9.

Gur- [t U4 :
(A) HIA 1Y 9, (B) 1,2 1 3 41 89,
(C) WA 3 L 4 AL 89, @1, 321408,
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072. Tsunamis can occur only during

(A) Evening (B) Afternoon

.Any time of the day or night (D) Morning
073. Which planet was named after the Roman God Zeus?

(A) Earth (B) Mars

(C) Venus .Jupiter
074. The outermost layer of the sun is called

(A) Chromosphere (B) Photosphere
(C) Lithosphere .Corona

075. Match List-I with List-IT and select the correct answer using the codes given below the lists

List-1 (Planets) List-II (Satellites)

a. Mars 1. Tethys

b. Jupiter 2. Deimos

c. Saturn 3. Europa

d. Uranus 4. Titania

(A)a-1,b-2,c-3,d-4 @:2-2.v-3,¢c-1,4-4
(C)a-3,b-2,c-1,d-4 MD)a-4,b-3,c-2,d-1

076. Match the following:

List-I (Peaks) List-II (Range)

a. Gurushikhar 1. Anaimalai

b. Doddabetta 2. Aravali

¢. Anamudi 3. Nilgiri

d. Dhupgarh 4. Satpura

(A)a-2,b-1,¢c-3,d-4 .a-z,b-3,c-1,d-4
(©Ca-2,b-4,c-3,d-1 MD)a-3,b-2,c-1,d-4

077. Consider the following statements about our country India:
1. India has an area of about 3.28 million sq. km.
2. India is located in the south-eastern hemisphere.
3. The latitudinal extent of India is 8°4'N and 37° 6'N latitudes.
4. The longitudinal extent of India is 68°7'E and 97° 25’ E longitudes.
Of these statements:
(A) Only 1 is correct (B) 1, 2 and 3 are correct
(C) Only 3 and 4 are correct .1, 3 and 4 are correct

[CSP-2] rro. EA
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080.

081.

082.

083.

084.

ulau aeHi 2udd) Alefl Gl uddHiong 244 U g 6 ?

A) R ¥ona (B) [Rculas (Siwalik) udamwu
@1 (D) 1ML tRAl

AR 1A UL AL LM Al

1. ulw we 2. uRacdlldl 252 3. yd Baan

BuRHL USL 53 / suL 2 AldrurL 2 A [ eunl 6 ?

(A) W 1 @1 213

(C)2 413 (D) BURiSd Ax M

URAL sUL [guml Al3u Fasuyull Aal wa ¢ ?

(A) 5RR RsieuR (gu (Car Nicobar Island) (B) - siadl (gu (Nancowry Island)
.QQ% (gu (Barren Island) (D) HIUL 6{R (gu (Mayabunder Island)
el U8 &l aan Al Al 1A 2uud) 9. 56 A WAl Al ?

$U clEl 2UR(Ad &l AR

(A)  wuguR slalan e ufd &t ERER])

(B)  $HAPRL g 2R(Ad & u30UAA ULl

(C)  H-ud e u3q & AN

@ (A4 n 2ulha 8 eriludg

alsiqit A [dzdizuiddl a8l [ ds - 12 sul aoe Guaiami dax ¢ ?

(A) [RoluA (Emigration) (B) 22idR (Immigration)
.QLéﬂ.‘sQ'Ql (Urbanisation) (D) RAMNIdR (Migration)

QURdl AU 27 HIAELS BUAS ASUA 2101 53 HAQY FAUAER & ?

(A) A8 Huax (B) ALl HALAY

@500t 217 selsu 2mdlsa Houay (D) Hiria 8 (A5 Houay

(At 1 : el 24 Al Hizw 2ulzonld ol vid 248 © 5 2 9dludig, 9rRud, sailes, HUUNB, HSRI,
AHUL A VA AYRAAUL AAU2 52 6.

(At 2 : Blow il w1l ANgR1R1 AU 69 d v Adella 2uleaufl o@ © 214 d el arvis, Brer,
iR, ulau sidun, HEaue A Griug et [yl uuRe ©.

[Qtun 3 : Wdlan (Madia) 2 ©9l012, HSIRANZ, HEAUB L 24, HURRUML Auale 53 69,

(Qaunt 4 : uiaa cuas-d Qi Wl 244 A wdl 2uleoafdsini-dl 248 9 da 2um, [BeiR, 9dluas,
BRULS, R 24 wlBn sionn- [Qrarui wuRdl 9.

Bua-l [Qtuq U4l sa [Qauei w69 ?
(A) 1,2 21 3 120 89, (B) 2, 3 1 4 01 89,
(©) 1,32 40 8. @1, 2,3 214 4 8.
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What is the other name of the highest range in the Western Ghats?
(A) Pir Panjal (B) Siwalik range
.Sahyadris (D) Namcha Barwa

Consider the following regions of India

1. Western Ghats

2. Aravali Hills

3. Eastern Himalayas

Which of the above is/are biodiversity hot spot/hot spots?

(A) Only 1 @)1 2na3

(C)2and3 (D) All of the above

In which one of the following islands of India is an active volcano found?

(A) Car Nicobar Island (B) Nancowry Island

.Barren Island (D) Mayabunder Island

Tiger Reserve and the States pairs are mentioned above. Which pair is not correct?
No. Name of Tiger Reserve State

(A) Nagarjunsagar Srisailam Tiger Reserve Andhra Pradesh

(B) Kamlang Tiger Reserve Arunachal Pradesh

(C) Manas Tiger Reserve Assam

. Valmiki Tiger Reserve Chhattisgarh

What is the term used to describe the movement of people from rural to urban areas?
(A) Emigration (B) Immigration

.Urbanisation (D) Migration

Which of the following ministries is responsible for the report on India’s national and per capita
income?

(A) Ministry of Home Affairs

(B) Ministry of Planning

.Ministry of Statistics and Programme Implementation

(D) Ministry of Human Resource Development

1. The Bhil are one of the largest tribal groups living in Chhattisgarh, Gujarat, Karnataka,
Madhya Pradesh, Maharashtra, Andhra Pradesh and Rajasthan.

2. The Baiga, meaning sorcerers, are one of the particularly vulnerable tribal groups and are
spread across Chhattisgarh, Jharkhand, Bihar, Odisha, West Bengal, Madhya Pradesh and
Uttar Pradesh.

3. The Madia live in Chhattisgarh, Maharashtra, Madhya Pradesh and Odisha.

4. The Santhal are the largest and one of the oldest tribes in India. They are spread across Assam,
Bihar, Chhattisgarh, Jharkhand, Odisha and West Bengal.

From the above mentioned statements, which statements are correct?
(A) 1, 2 and 3 are correct. (B) 2, 3 and 4 are correct.
(O) 1, 3 and 4 are correct. .1, 2,3 and 4 are correct.
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085. 1A AUl A dx-ll You el A uda 6. d WA 58 ol il el ?
@-isnza — Sisall (Konkani)
(B) Mtizu — g2us (Lushai)
(C) x130uu4 Uel — [0\ (Nishi)
(D) -eudrs — AwnHlAl (Nagamese)

086. HoUAA A .......... dl ay adl 42uadl 283l (AR .
(A) ¥is Hldlun (B) win Hledlu
@:» NAun (D) D Neflun

087. GDP -il ¥ 54 25 Geungt i & d g said 8 ? -l 2uden [l W 0 [ wrie 52U
@) £2id 8 3 2utia avui 2ag 2edda dq g4 Gaug--u Ageui d2an [@Qun uRwag 8.
(B) d e2d €9 5 2l §& Al Al sul [ 2uda adui sad sa Geauen 524 €.
(C) d AlssA U Bl A8 Asonda disi-l v gald 9.
(D) d Ai55A ANHE 2L AUIR Qag-2add §6 YU ald .

088. 112 WSl sul 91 AR Gelloll UEHHL MU A1 AVl UL 530 80 69 ?

(A) A @icauza
(C) BAwS= (D) WS a3
089. vuu g[& &lall (Special Agricultural Zones) (SAZs) A 22y w2 Alld as-ur G-le:l; UUH AU 3{{ £ ?
(A) GR Med (B) 2L2Ud
(C) HSIRM, @G

090. ~DaA-umiddl 53 uRein oHlqui 8213l land subsidence A2 €131 A5 €97
1. 4dlsu
2. gl dlau
3. wiell- gedl HausHi a1y
4. WAl sivisan
5. ¢193¢ war ualil

ALAL FAGL 513 UAE S
(A)1,2,3,4 (B)1,3,4,5
(©)1,2,4,5 @1.2,3,4,5
091. AWM, .......... i, ARRAAL Pl AUHL 2i5 AMHL 1R+ 248 UL AcuHi 204 69,
(A) Gr= U2 @) vioun
(ORL: L] (D) SA8U
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08s.

086.

087.

088.

089.

090.

091.

Pairs showing States and major languages are as under.

Which pair is not correct?

.Andhra Pradesh — Konkani (B) Mizoram — Lushai
(C) Arunachal Pradesh — Nishi (D) Nagaland — Nagamese

A mega-city is an urban area of population greater than

(A) one million (B) five million

.ten million (D) twenty million

GDP stands for Gross Domestic Product. What does it show? Pick up the correct statement
given below

.It shows how big the economy of a country is in a given year in terms of its total output.

(B) It shows what the total product of a country in a given year without counting the country’s
total resources.

(C) It shows the number of people involved in production in a particular year.

(D) It shows the total value of trade transactions of a country in a particular year

Which one of the following countries is giving stiff competition to India with regard to jute

industry?
(A) China @ Bangladesh
(C) Philippines (D) Thailand.

Which is the first State in India to launch a policy to establish Special Agricultural Zones (SAZs)?
(A) Uttar Pradesh (B) Gujarat
(C) Maharashtra .Uttarakhand

Which of the following factors can lead to land subsidence?
1. Earthquakes

2. Soil erosion

3. Obstruction of the natural flow of water

4. Soil compaction

5. Hydel power activities

Select the correct answer code:

(A)1,2,3,4 B 1,3,4,5

(©)1,2,4,5 @:.2,3,4,5

In States like Assam, and Odisha, three crops of paddy are grown in a year.
(A) Uttar Pradesh .West Bengal

(C) Punjab (D) Haryana

[CSP-2] rro. EJ
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092.

093.

094.

09s.

[QwA1:

[Qwn 2 :

[Qwn 3 :

[Qtn 4 :

5% U517 [RAR 860 virflog-i [Rum 244 [Asiu-l oot 530 asia d Sqefl vuwy v ville
(Ran 24 [as) 2ERam 1957 asaul 2l gdl. Guisd xARMRuMHL 9 1958, 1972,
1986, 1987, 1994 241 19994( JYHIRA $AUHL UL Sell.

vRLstH Aol Gerdlsal |l sl uan willylld 3¢ AR 1R 199341 M8 sUHL
2ud) ¢dl.

G U512 13 W 2008+ A A vilor-lld, 19931 il ndlu vi-llos-lld, 2008 e
$3l.

Al visllog-lld, 2021 ((Br-Su 2 Br-sia vislles W) 2uani ysami 2udl. ada
vilorlld, 2021 L Gaou v ay vieyel uclse AU wA USRS -lldd Rula sa-l

Sl 3% 2ulds alg 241 2516 vuisid nan il ay wReRid g Ruuq, 2udlse 214 2iglad
A Al 2.

GuR >uual [l U8l sy (A Aca el ?

&+

(©)2

(B) 3
M1

Daleu (-l WS sy [anq ue ol ?
(A) 189421 an-lld 4uadL S2¢ls eAU] FHURA s 9.

(B) art-llld, 19524 Yaaui 2udl ¢dl.

@) 1980 ar-Dlami yeuren sami 2udl 247 207 A AHAHi 8.

(D) aru29a Yau A[AMRUH 1972, vaiazel Y& AABRUH 1986 i 2a Ald Yrau xl8um, 2002 an
daRiA Aoifd Seaus v ElRuHL Y.

gl G2 U2l Haddl ugami aulls 60 Al 249 arue aRA 8. dr You S1R8L...

@ il ora-u AsL/ uBami 8.

(B) d uani-l [2aud auid R ¢,

(C) d uyg (Bruiell g2 6.

(D) aRgl cugvii-l sl €9,

ug e (A9 DA A4 sui [Qan au d ?

1. d RuzsnA [asie e A3 ©.

2. d Wl AR 220 Yuu WL 6.

3. d 200641 Yr1:213 $AUHL AUl Sl

A2 2pdan 513 WA Loy WAL BUH UAE $3U.
@1,213 (B) 1 %412
(C)2u13 (D) 1244 3
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092.

093.

094.

095.

1. The Mines and Minerals (Regulation and Development) Act, 1957 was enacted so as to provide
for the regulation of mines and development of minerals under the control of the Union. The
aforesaid Act was amended in the years 1958, 1972, 1986, 1987, 1994 and 1999.

2. The First National Mineral Policy was enunciated by the Central Government in 1993 paving

way for liberalisation of the mining sector.

3. Government of India, replaced the National Mineral Policy, 1993 with a National Mineral
Policy, 2008 on 13th March, 2008.

4. National Mineral Policy, 2021 (For non-fuel and non-coal minerals) was introduced. The goal of
the National Mineral Policy, 2021 is to create a more meaningful, implementable, and effective
policy that promotes more openness, better regulation, enforcement, and balanced society along

with economic growth and sustainable mining practices.
From the above mentioned statements, which statement is not correct?

&- (B) 3

(C)2 (D) 1

From the statements mentioned below which statement is not correct?
(A) India is one of the few countries which has a forest policy since 1894.
(B) The forest policy was revised in 1952.

.In 1980, the forest policy was revised and it is in operation.

(D) The Wildlife Protection Act of 1972, The Environment Protection Act of 1986, and The
Biodiversity Protection Act of 2002 are some of the other Acts related to forest conservation.

Interior of the Deccan plateau receives an annual rainfall of less than 60 cm, mainly

because

.It is a rain shadow zone/region.

(B) It is located parallel to wind direction.
(C) It is away from the coast.

(D) Rain-bearing clouds are absent

Which of the following statements about Nathu La Pass are correct?
1. It links Sikkim with Tibet

2. It was the main artery of the ancient Silk Route

3. It was reopened in the year 2006

Select the correct answer using the codes given below

@1.22ana3 (B) 1 and 2
(C)2and3 (D)1and3

[CSP-2] [PT.0.
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096. AELVAA A3l

atel-1 (audl) AEl-IT (Nor)
a. M dL a2 1. Risflm

b. GURL @A BN 2. Grwis

c. dlu qL e 3. [Bauaa usa
d. Ala we 4. Qg

(A)a-4,b-1,¢-3,d-2
B)a-2,b-3,c-1,d-4
@:-4.0-3,c-1,d4-2
(D)a-2,b-1,¢-3,d-4

097. QA U4 518 MR BriR 21 g[8 cuoami [Qeumd s3 69 ?
(A) Qyagn @:san
(C) H$2a1 (D) 2usl2s usa
098. %2 UASHL UH AULNVUAL Uil UL $4L Al WOl &9 ?
(A) AR AL A4l (B) AALARRIAL HEIH ARHI

@1 uazan Gur-u 2wl (D) AUALRRAAL AHIH UL

099. ¢[R38l Adl g5AL HIUAL SUL AL BuULDL s 20d 8 ?
.Saffir—Simpson Scale (B) Mercalli Scale
(C) Fujita Scale (D) Richter Scale

100. 2uolisad Aldl usad u2s s34 8 ?
(A) ARAUIE &) uuq
(C) seual (D) ™%

101, DA QiR i Al

1 dRaig 4R gl Aadldl ais: (Nilgiri Tahr) A& wWgse a3 sul, ¥ Al dg-
SR RTER | RIS S

2. dlRia Ao A Hi Nl drs-u erglay Ael .

3. N e 215 grasa weald €, 2 wladl we we s 8.
BuRlsauidl sy Qa0 8 ?

(A) 1,2 B)1,3
©)2,3 @123
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096. Match List-I with List-IT
List-1 (Pass) List-1I (State)
a. Zoji La Pass 1. Sikkim
b. Bara Lacha Pass 2. Uttarakhand

c. Jelep La Pass 3. Himachal Pradesh

d. Niti Pass 4. Ladakh

(A)a-4,b-1,c-3,d-2 B)a-2,b-3,c-1,d-4
@:--4.0-3,c-1,d-2 D)a-2,b-1,¢c-3,d-4

097. Which of the following divides India into northern and southern parts?

(A) Equator .Tropic of cancer

(C) Tropic of capricorn (D) Arctic circle

098. Where a band of wind called ‘Jet Stream’ is found ?
(A) Lower levels of the atmosphere
(B) Middle levels of the atmosphere
.The upper levels of the atmosphere
(D) All levels of the atmosphere

099. Which of the following scales is used to measure the damage caused by a hurricane?

.Saffir—Simpson Scale (B) Mercalli Scale

(C) Fujita Scale (D) Richter Scale
100. What is the most important element of climate?

(A) Rainfall .Temperature

(C) Pressure (D) Humidity

101. Consider the following statements.

1. The Tamil Nadu government recently launched Nilgiri Tahr conservation project, an initiative

for the conservation of the Nilgiri Tahr.
2. There are multiple references to the Nilgiri Tahr in Tamil Sangam literature.
3. Nilgiri Tahr is an endangered species, endemic to western ghats.
Which of the above statements are correct?
A1,2 31,3
©)2,3 @123
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102.

103.

104.

105.

Net-Zero emission (Qfl‘*‘@ A Beuo+) (Al DA [annia i al.
1. Net-Zero emission-il 242 24 9 5 221 816 AWyrit G Yrull 195 (rl8ad) yHl cudl 2al.
2. URA sAR Wolelist, 2015 1L 212 230 dMril Net-Zero emissionwil dguist YR 53 9.

3. A B Ay 104 sink (bugdl) [AsuidlA 249 s16{ capture (Us3aL) A2l storage (AA[RA) a1 B
Al aslst Gu 2utR ALNA Net-Zero emission Wit 3| AsiA 9.

Gur-u WSl sy [Aanq / s [l aea & ?
A)2,3 (B)1,3
@3 D) 1,2,3

Brute Force Acquistion ($2 6101 Aulg-) g 2 Aeil8d €9 ?

(A) vl oI, Awgn (Private land acquisition)

(B) weudd :Sal:i EREA LT (Encryption of mobile data)

.H\lbtl&? a 321 sifRasu (Mobile device forensics)

(D) Gu- U4l 215y el

gdlu Guug ugluel Al (Polar Satellite Launch Vehicle) (PSLV) 1 &¢-uHs[Hd Guas nut am
(Geosynchronous Satellite Launch Vehicle) (GSLV) [l «ll2-u [Gsu-l tuqui al.

1. GSLV laell yedfl el sai-it Guasia gdu 14 3 axsfd emmsanni nauw sa we [Asuaami
2094 69,

2. PSLV i 04-44H5[d GuASI-L (U INSAT Aol GuAsi- GiHeL sami udiuel s W2 [Qsuaami
1Y 8.

Gu-L Ul £y [Qannt / sa [Qanl aca 69 ?

(A)Hua1 (B) HiA 2

(C) 1 d2 2 bi @1 217 2uiel) 205 w4

(alan Computing environments (ﬁ*‘gﬂ% u@f@t[ﬁ) A d-l applications (G‘R{\M)"ll dgedul dla-u

UA 59 Al aiou d Azl & ?

1. Cloud Computing (5183 5132lo1) : AT 2utRd eeflsa- w2 32132 duiR $al.

2. Edge Computing (%A% $13wdlor) : foiRuildistd 8- $u21 cacauuq

3. Fog Computing ($\l°l ?:l*‘gﬂ°l) : AT HILLHL (Autonomous Vehicles)

BriR 513 UL 43U

(A) "I 1 B) 1,2

©)1,3 @123
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102.

103.

104.

105.

Consider the following statements regarding net-zero emission.
1. Net-zero emission means country would bring down its greenhouse gas emissions to near zero.
2. Countries are setting their Net-zero emission goal based on the 2015 Paris Agreement guidelines.

3. Net-zero emission can be achieved by creating more carbon sinks such as forests and relying on

futuristic technologies such as carbon capture and storage.
Which of the above statement/s is/are correct?
(A)2,3 B)1,3
@s ony D)1,2,3

The term ‘Brute Force Acquisition’ is related to
(A) Private land acquisition

(B) Encryption of mobile data

.Mobile device forensics

(D) None of the above

Consider the following statements regarding Polar Satellite Launch Vehicle (PSLV) and
Geosynchronous Satellite Launch Vehicle (GSLV).

1. GSLV was developed to launch low-Earth Orbit satellites into polar and sun synchronous orbits.
2. PSLV was developed to launch the heavier INSAT class of geosynchronous satellites into orbit.
Which of the above statement/s is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 .Neither 1 nor 2

With respect to various computing environments and their applications which of the following

pairs are correctly matched?

1. Cloud computing: Building datasets for AI-based applications
2. Edge computing : Municipal Solid Waste Management

3. Fog computing : Autonomous Vehicles

Select the correct answer code:

(A) 1 only 3B)1,2

1,3 @123
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106.

107.

108.

109.

110.

A2 25193 (A9l Al [l runui Al

inY A

1. x1eustdlA (short-lived) 2l S18U Ay slaud 1281, d s arw 9l (Global Warming) Hi 14w
AAELL 2 69,

P oY

2. %R d Bedd3n (Stratosphere) Hi USIA 8, UL d 23 & UldBa 53, Al viazu 53 69, %+
21U CFCs deu 81U 8.

GuL U4 £y [Qanqt / sa (Al aca 69 ?
(A)HA 1 @2
(C) 1 a2 6iq (D) 1 244 248l 2is yrL )

Yy udol (Param Pravega) o ...

(A) 28l 2dlesiu B, @z sivye 8.

(C) BuAS UL A 89, (D) MIRAT, UAH $aAL-2H S1¥RY2R 69,

QWA 5y Ais2dR QuAASIRA (User) 24 51822l 51304 (activities) [Qal vl w3l
qodl 20U €9 ?

(A) Malware (B) Adware

.Spyware (D) Trackware

-

Al 2siaie (A9l DA [Qu-l i al.

N

1. Al 25 NALD Al 25A UL 2022 12 1000 A2 i uRHwiawn gseadl A1 244 d- [Ren
adLdl ouoid €9,

2. Stained-glass Windows (230l 1+l suglzii) 2 ‘ff—%lﬂ['\i& YU Al 25l 54l dld Guulol
Adl el A Gersw .

3. s % ey il 6l HRIAG AU d % Gedril S USRI A 214 5L 2a3U- gAUHD 40
Yorflu JRiadl dRiad sie as.

Gur WSl sy [Aanq / s [l aea 9 ?

(A)1,2 (B) H1A 2

@:.s D) 1,2,3

{121 Y4l su1 Earth Observation Satellites-il Guiou ¢ ?

1. 23 2uui+ (Urban Planning)

2. sl 1@51(&1'3[ (Mineral Prospecting)

3. AYgl AAH UY (Ocean Resources Management)

4. 20uxi a1 (Disaster Management)

1AL BR 513 YL S,
A)1,2,3 B)1,3,4
(C)2,3,4 @1,2,3,4
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106.

107.

108.

109.

110.

Consider the following statements regarding nitrous oxide.
1. Being a short-lived greenhouse gas, it substantially contributes to global warming.

2. When it reaches the stratosphere, it reacts with ozone and depletes it, with an impact comparable
to that of CFCs.

Which of the above statement/s is/are correct?

(A) 1 only @): ony
(C) Both 1 and 2 (D) Neither 1 nor 2

Param Pravega is a
(A) Radio telescope
.Supercomputer
(C) Satellite Launch Vehicle

(D) India’s first Quantum computer

Software that enables a user to obtain secret information about another computer’s activities?
(A) Malware (B) Adware
.Spyware (D) Trackware

Consider the following statements regarding Nanotechnology.

1. Nanotechnology is the understanding and control of matter at the Nano scale, at dimensions

between approximately 1 and 1000 nanometres.
2. Stained-glass windows are an example of how nanotechnology was used in the pre-modern era.

3. Nanostructured materials can have different magnetic properties compared to other forms or

sizes of the same material.

Which of the above statement/s is/are correct?

A)l1,2 (B) 2 only

@:.3 (D) 1,2,3

Which of the following are the applications of Earth Observation Satellites?
1. Urban planning

2. Mineral prospecting

3. Ocean resources management

4. Disaster management.

Select the correct answer code:

A)1,2,3 B)1,3,4
(€)2,3,4 ®1,2,3,4

[CSP-2] rro. I8
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111.

112.

113.

114.

115.

cRdld vidlRe ssy 200 DA [Qaul 2uqni al.

1. 202 NAH MR GUAS Sdl 21 dBl &-(520 woatnaua dan AR =y2iq-l 2l dwiA (investigate)
531 W2 AsulAs vl sul 8.

2. o GHRIsEL (R (Mars Orbiter Mission) 21 ISRO 4 4aH 2Aldadlu [Ran ¢d.

3. 2§UEA-L1 (ADITYA-L1) asigia-t ya-yedl d-Ao uid~2 1 (L1) drs el ol yedl-l ueua
glaAnidll £924) 01y (escaped) €.

Gu- Y4l s [Qaunl uca 69 ?

A 1,2 B)1,3

©)2,3 @23

A 2udcn (el i Al

1. ualaRel, an A1 g WRad- H-uad quadidl AR Unadl adl sau- aqzaq w2 -l adl ©.

2. WML Ad AR UAa 2% 100 anl Yl quaa Gualasin 4rid 8.

Guai U4 5y [Aann / sun Q- uea 9 ?

@1 (B) {1 2

(C) 1 AL 2 bi i 89 (D) 1 21al 2 i A1 el

Cloud seeding (ugt oflor-)1i Alell ay GUULLLHI Qaldl U128 :

1. Alear 201383 2. Wi29uH 2353
3. Yl viRs 4. Auu saiSs
AL BTIR 513 uRie $RU.

@123 (B)1,2,4
(C)2,3,4 (D) 1,2,3,4

[G2aui e-waste (5-su1)Hi A1 WA Si-l Huy s 69 ?

1. 38322 [ Sl alldor wall-, o aiad

2. AL 8l Guswl (22, 18] ti-uaard vellq, $2-ll, 82 g1uR)

3. cfsaotd slvyeR, 2dlsiq, Hieuda siq, Auaiy, Biedd, 231, 12l sidlud

4. 314 All=s2, Aul 24 8y Gusw

@ 1,2,3 (B) {1 44 2 (C)HA1,3,4 (D) GURAsd AHIH

A4S 20208 8 (Community Reserve) (A2l 12 [Qsu-l 2u-ui @l
1. AHEURAS 2uR(Ad 8ol 2 valae a1 21[8RUH, 1986 2idold euuani i 8.

NN

2. HERs MlASL art [Qrdi-u 289 naAiui cudt da s dlst duR Sy, di sidua Aoy
AR, d (A2t “yellds 2uAAq 87 45 NneR 3l us 8.

3. AHEIRAS 2UR(AA & AL GElL A A UHUIRRY B 24 % SLll 28181 1L 6,
GuriL U4 5y (At / sun Q- uea 9 ?
(A 1,2 @:.;3 (C) WA 2 D) 1,2,3
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111.

112.

113.

114.

115.

1. Aryabhata was the first Indian satellite and it carried scientific experiments to investigate X-ray
astronomy and solar neutrons.

Consider the following statements regarding Indian Space Programme

2. Mars Orbiter Mission was ISRO’s first interplanetary mission.

3. ADITYA-L1-The spacecraft has escaped the sphere of Earth’s influence on its way to the
Sun-Earth Lagrange Point 1(L1).

Which of the above statements are correct?
Aa1,2 31,3
(©)2,3 @123

Consider the following statements.

1. The Ministry of Environment, Forest and Climate Change formulated policy on managing
waste that results from used solar panels.

2. Generally the Solar panels have an estimated life of 100 years.
Which of the above statement/s is/are correct?

@1 only (B) 2 only
(C) 1 and 2 both are correct (D) 1 and 2 both are not correct

The most common chemicals used for cloud seeding are

1. Silver iodide

2. Potassium iodide

3. Dry ice

4. Sodium Chloride

Select the correct answer code:

@12, (B)1,2,4
(0)2,3,4 M)1,2,3,4

Which of the following are the main contributors of the e-waste in the world?

1. Refrigerators/freezers, washing machines, dishwashers

2. Small household appliances (toasters, coffee makers, irons, hair dryers)

3. Personal computers, telephones, mobile phones, laptops, printers, scanners, photocopiers
4. Gas cylinder, chimneys & home appliances

@only1,2,3 (B) Only 1, 2

(C)Only 1, 3,4 (D) All of the above

Consider the following statements regarding Community Reserve
1. Community Reserves are established under Environment Protection Act, 1986.

2. Any State government can declare community-owned forest area as “community reserve” if
locals are willing to participate in conservation efforts for same.

3. Community reserves receive same legal protection as National Parks and Wildlife Sanctuaries.
Which of the above statement/s is/are correct?

(A)1,2 @:.3

(C) 2 only 1,23

[CSP-2] rro. I3
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116.

117.

118.

119.

120.

A2 [Qa-iA 2unni al.

1. 3las [Alasdiur-n ARaq (CBD) U 821zl €2 adl Faldldudir gsain Asa 21 gedl Ssilizeuq
yr:2a0d 52 WE Alus ALYl UR S 5L HIE WAL 9.

2. %las [Ala4dl (CBD) u2-i AsaHi uasiidl 154 siws2-3 cdioia sualsialdd 34as (GBF) -uu-il
Adl $RA UL, FHI 2030 YHMI siua sa11 asdl 8.

3. 3las [Alaudl uz Axa (CBD) 21 1992 [Rul »1el Mz uReuH ¢d.

GuAsAHiAl sui [Qaul A 9 ?

(A) 1,2 B)1,3 @):.: D)1,2,3
A2 2udan [Qa-l i al.

1. 51818152 (Fortification) 1 WIASHL 2UA2Us Y81 WINS dtall, 2124 5 [@2iln 244 visllog
Squds aura-ll uZu 8.

2. sul 5188139 (Biofortification) -l G224 wis+l MlBu £31m, vitel WSHL, WINS drell, HEE 29 uiNs
drly R asRaHl 6.

3. 31912, $811 (beans), AssRuL, 4 (21301 Aol (legumes) 1 cul-512181501 (Biofortification) 254 €9.
Bu-L U4 s [Qsu-l uca 69 ?

(A) 1,2 @:.: (©)2,3 ™1,2,3

S-400 s<usS 2ieL weudl (g A 2udan [Qal Luqui dl.

1. A dioll vid-0 2wdldl (surface)dl sl (air) SR sl Buda usudl 8.

2. $-400 AW 52 [, Wrar(Bd saiduidl, 53 Rada x4 ddlRes Ruddal ur gual 550
Al a3 ©.

3. uRd, A2 WA S-400 RSl HaR A e o=l 9.
GuL WS st [Qan-il a6 ?

@2 B)1,3

(©)2,3 D) 1,2,3

A 2 [Qandl Luqui al

1. a4gll gl (warming) dl8 GuasCoidly asatdl ua-l 214 aue-l ae-izil AR oiq 9.

2. AR AALARAHIA BRI Addl 104 U 121 W) (sunk) QUi 20d 8 R uys-dl Gulg sl al ©.
Bur WSl sy [Aanq / s [l aea 9 ?

&1 (B) H1A 2

(C) 1 a2 i (D) 1 244 24igl 2is yw Al

51821518 2512 (Phytorid Technology) $41 [Quu 12 2ivilBa ¢ ?

(A) Y[3auR sy Aol Bewen 539 1A YUHi B <d Glof Beun A & drf, 2452 534,
(B) A8l v 25iaie

© 222 die: evi-e varee

(D) 51¢3 AH HABH2 HIZ 2WIAR 321 AR
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116.

117.

118.

119.

120.

1. Signatories to the Convention on Biological Diversity (CBD) meet annually to work on a global
plan to halt biodiversity loss and restore natural ecosystems.

2. The 15th Conference of the Parties to the Convention on Biological Diversity (CBD) delivered
a new agreement called the Global Biodiversity Framework (GBF), which contains goals and
targets that need to be achieved by 2030.

3. Convention on Biological Diversity (CBD) was the outcome of the 1992 Rio Earth Summit.

Consider the following statements.

Which of the above statement/s is/are correct?
A)1,2 3B)1,3
@:.: D) 1,2,3

Consider the following statements.

1. Fortification is the practice of deliberately increasing the content of an essential micronutrient,
i.e. vitamins and minerals in food.

2. Biofortification aims to increase nutrient levels in food crops mainly through manual means
during processing of the crops.

3. Biofortification of rice, beans, sweet potato and legumes is possible.
Which of the above statements are correct?

(A) 1,2 @:.;
02,3 MD1,2,3

Consider the following statements regarding S-400 air defence system.
1. It is a long-range surface-to-air missile system.

2.S-400 can engage intruding aircraft, unmanned aerial vehicles, cruise missiles, and
ballistic missiles.

3. India became the first country to receive S-400 missile from Russia.
Which of the above statements are correct?

@, B)1,3

(©)2,3 D123

Consider the following statements.
1. The ocean warming increases the frequency of tropical cyclone winds and rainfall.

2. The productivity of the oceans increases when the carbon emission from the atmosphere are
sunk by it.

Which of the above statement/s is/are correct?

.1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

Phytorid Technology is related to
(A) Producing nuclear fusion energy, or imitating the way energy is produced in the Sun.
(B) Facial recognition technology
.Waste water treatment plant

(D) Temperature data logger for cold chain management
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121.

122.

123.

124.

1012 Y& [Agl - (el euqni al.

1. 219 SiAHl GualaL 6is3iR (wesal erauon) vi-iadl W2 A 8 2l 853 Y8l A2as-l ndawdl
(access) wuil as.

2. Al [Qudld, szl dlxd 2 glid WA 8, 3 s1ugAR s19A gLl s 6ied Wl
[Rizew o) Rzenui 4sa 52 ©.

Gu-L Ul £y (A / sa [Qanl aca 69 ?
(A)HA 1 (B) HaA 2
@1 = 2eid (D) 1 247 24iefl 25 w4l

A& Al Zl‘i%{\l (Urban heat island) (43l 121 [Qan-l Luqui al.

1. 2R A8l e 2135 [ARURL, d % [Bad 2uawL (ARl s2qdi ay 21l 2ig™d © R a8l
4] 21yl v 2y 8.

2. d 20 2 seustedl g e,

3. 6L H-l SHIRAA tled gl SHIRdLT, tlitsim AS<) oMl 21y B21sdHi HeE 3 9.
Gua-u U4 5y [Aanq / sun Qs uea 69 ?

(A) WA 1 @:.: ©1,3 D 1,23

A 2 Qe sl
1. INS (A2 (uRdd Al uam 22l [AHtass w81 (Indigenous Aireraft Carrier) (IAC-T) €.

2. Agni-P s 5-k2AS%8 (Canisterised) (360lgd) Fmuda 8, % 2000 (5.4 YO usia nalel
4214 8.

3. P adg s-zead3an (Canisterisation) (¥ollsw) 2 Buda-u AuU (storage) 2 Al
ALAHL YHIRL 52 9 27 drll UAUR 521 HI2 w33 AU 8213 8.

Guru U4 5y (At / sun Qs uea 9 ?
(A) W12 2 B)1,3
©)2,3 @123

India Innovation Index 2022 (R Adl-dl yasis 2022) (@2l Al [Qau-l Lunui @l

1. India Innovation Index ¥ 312023 A 151 UM cl$0L HoUAU (Ministry of Statistics and
Programme Implementation) (MOSPI) gl A3 sUML 204 69,

2.4 C’M—Ql‘{l?‘l e (sub-national level) adlal (innovation)'ﬂ BHALAL 55 52 69,
3. dlus Adlndl YASTSHL S1A IR 21Ax1L 25 2] amde 2394 6,
GuR- WSl sy [Aanq / s [l aea 9 ?

(A)1,2 @2
(©)2,3 D13
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121.

122.

123.

124.

1. Trojan horses are used to create back-doors so that a hacker can have access to the secure

Consider the following statements regarding cyber security.

network.

2. Unlike viruses, computer worms are malicious programs that copy themselves from system to

system, rather than infiltrating legitimate files.
Which of the above statement/s is/are correct?
(A) 1 only (B) 2 only
.Both 1 and 2 (D) None of the above

Consider the following statements regarding Urban heat island.

1. An urban heat island is experienced when certain areas within a city experience higher heat

load than surrounding areas on the same day.
2. It is a local and temporary phenomenon.

3. Construction of high-rise buildings rather than two storey building help in reducing the Urban

heat island.
Which of the above statement/s is/are correct?

(A) 1 only @:.2
©)1,3 D) 1,2,3

Consider the following statements.
1. INS Viraat is India’s first Indigenous Aircraft Carrier (IAC-I).
2. Agni-P is a canisterised missile that has a range of upto 2000 km.

3. Canisterisation of missiles reduces the time required to launch the missile while improving the

storage and ease of handling.
Which of the above statement/s is/are correct?
(A) 2 only 31,3
(©)2,3 @123

Consider the following statements regarding India Innovation Index, 2022.

1. India Innovation Index was released by the Ministry of Statistics and Programme
Implementation (MOSPI)

2. It determines innovation capacities at the sub-national level.

3. At present India is among the top 25 nations in the Global Innovation Index.
Which of the above statement/s is/are correct?

(A)1,2 @2 only

©)2,3 D) 1,3
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125.

126.

127.

128.

Adl [AsuA, 2511412 244 SHidan Hlld (The new Science, Technology and Innovation Policy) (STI)
A Yoo flld &

@sRISHTI 2 curd w2 2udlardl & d yeu A L .

(B) 1 Buid gesllami 3uidRa sau-l €.

(C) 15 Aulia LA 24208 [Qewardl 2au- s sudl 8.

(D) BURLSd A

2 2uuen Qe U sy Qe 0 4l ?
@) sz AN 512 1 sedldan 2ils Wy Qud S22 1964 Hi ey,
(B) 199241 d -uH tiedll 191252 A2l A2 (Agharkar Research Institute) (ART) $2UML U,

(C) s1aHi A s ualai welldsun, yaumaig [Asiq 241 anzuld [Asuq (Animal Science, Microbial
Science and Plant Science) Gu: S[~d saumi 2ud 6.

(D) ARI $-8lu-t 516014 2iis »illseud dud (ICAR) €60 8Bl Aat-, Al At 244 sia-il
datL Al wa Y 5 8.
A 2udcn (el a5l

1. )4 Al 26221 (National Innovation Foundation) G1Rd 42512+ [t 21 2 -1l [Qeuai-l
QAT AL . NIF a¥ 2010 Hi MURd 4512+ [Asue 244 25l [Qeudr-l 2aiun A ol

2. NIFq, 244 Wil 251l s Adlisalzil 1 QU 214 21510 dsq [Qegd 5307 G A% ens 21
S AU RA AW G-l HEE Sl ©.

3. NIF 2uouit susi-l 42 -icus 2 Adldi-l iasia dnaa w2 <IGNITE?, alils lu 2usi- uel
A% $3 69,

4. NIF 2,00,000 9l ay 2sldlsa vaidl, Adlidizil i1 u3uRlold s ueafdzi-l 32610 sirudl
a3d €9, SIDBI -l usugl NIF vitd W 5ia-A42 S-Uda §3 (MVIF) awdd 89, 33 193 Wgse
v Y\ (risk capital) UEl- 53 €9, ¥ A (incubation) ~U [Ald4 doissiHi €.

AL Bl S8 URAE 43U :

(A) 1,2 21 3 0120 89, (B) 2, 3 1 4 01 89,
(O) 1,31 401 69, @1, 2,3 211 4 8.
A WA 56 oAl =l el ?
AT AR, UH N
(A) Aryabhatta Research Institute of Observational Sciences (ARIES)
(e Aa [sun 2tac Aan) Al

(B) International Advanced Research Centre for Powder

Metallurgy of New Materials (ARCI)

(Sr2anda w3l AU A2 $12 WA Hedd) i3 = wlduet) (ARCI)  8gl6Ue
(C) Centre for Nano and Soft Matter Sciences (CeNS)

(-l e yg uerel [Asun 5) oloy3
.Raman Research Institute (RRI)
(e 2B A1) ([Aza-dayH

[CSP-2] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


125. The main policy goal for The new Science, Technology and Innovation Policy (STI) is:
.SRISHTI is the main policy goal to led path for India.
(B) To transform this action into vision.
(C) A dedicated Policy Research Cell is yet to be established.
(D) All of the above.

126. From the statements mentioned below, which statement is not correct?

.The Maharashtra Association for the Cultivation of Science Research Institute was founded in
1964.

(B) It was renamed in 1992 as the Agharkar Research Institute (ARI)
(C) The current research activities focus on Animal Science, Microbial Science and Plant Science.

(D) The ARl is also a main research centre under Indian Council of Agricultural Research (ICAR)
for Wheat breeding, Soybean breeding and grape breeding. .

127. Evaluate the below mentioned statements.

1. National Innovation Foundation - India - NIF is an autonomous body of the Department of
Science and Technology, Government of India. NIF became an autonomous body of the
Department of Science and Technology, Government of India in the year 2010.

2. NIF’s mission is to help India become a creative and knowledge-based society by expanding
policy and institutional space for grassroots technological innovators.

3. NIF also organizes IGNITE, an annual national competition to harness the creative and
innovative spirit of school children.

4. NIF has been able to build up a database of more than 2,00,000 technological ideas, innovations
and traditional knowledge practices. Micro Venture Innovation Fund (MVIF), set up at NIF
with the support of SIDBI has provided risk capital to 193 projects which are at different stages
of incubation.

Select the correct answer code :
(A) 1, 2 and 3 are correct (B) 2, 3 and 4 are correct
(O) 1, 3 and 4 are correct. .1, 2, 3 and 4 are correct

128. From the following, which pair is not correct ?

Name of the Autonomous Body Place
(A) Aryabhatta Research Institute of Observational Nainital
Sciences (ARIES)
(B) International Advanced Research Centre for Powder
Metallurgy & New Materials (ARCI) Hyderabad
(C) Centre for Nano and Soft Matter Sciences (CeNS) Bengaluru
.Raman Research Institute (RRI) Thiruvananthapuram
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129.

130.

131.

132.

A2 ol [Qa-l >uda 9.

Qe 1 : [QalfQenauini 2120u-212000 S1sHIML 2010 ICTL Guaial vl ulReuHina 2w
ol &ML 8R1d €9,

(At 2 : 2AUHS HEUS AUA-21U 1AL JRIATL AHIRAHT HEEZU A .
Gui [t uqni vl Alefl uloy [Ase uaie s3u.

(A) @8 1 azn [Qan 2 oid 0 69,

@ Curt 1 qu Qe 2 vid vl 8.

(C) [ 1 013 €9 ug (At 2 wig €.

(D) [ 1w € ug [Asnq 2 02 €.

A UL s (Al a9 ?

1. N.K.N. 1, u3 -u4 New Knowledge Network €.

2. MOOCs U5 QS ARUIRASHL €9

3. AU YuR 5120l [Mat ®ird w5 uda 8.

4. Param Shivay (U# [i1a) YuR sivye: ©.

2 2uuen [Qseuinid) il Fast wrie 5.

@327 4 (B) HiA 2 A1, 3
(C) WA 1 241 4 (D) HsL 1 244 2

AL AUA USIR-U S-o1arry Aluir (E-Governance steps) :

1. §-H [QanH AAA g1R1 42512 AU AHH WH YARAA VSAT 20824 “Broadband” 31al
YA uIgAL 8,

2. AR 2 SRR A ARSI A5 Al Y widl A3 d W dH WM AR SRR,
[Bired 24 244 201425 S1$AR YA WSUHI 2L 8,

3. A% A1 6000 QUHIHL S1HA A4 AreR (CSC) AL 158l 54 8. Axu Wida RS [y
Al HEHll [Aridl L5129l 214 ApUHL Glsoi-sdl AJAA H YARAL | CSCs | AAGR 515 Bl
212014 AL 121 21 Al Y2l wisel.

Gu-u U4l st [t wed © ?
(A) 112 (B) 2 A 3
(C)1du3 @1, 2 qus3

- UA sl 84101 (hacking) w[GAM € Frusdl WwaeiR doun Yadlél s2a1 1A aHl 218ls
(Traffic) Wonaa 2 5dl dozd 2 2adl Yl (Pages) 315+ 53 €9 ?

.Pharming (B) Website-Duplication

(C) Mimicking (D) Spamming
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129.

130.

131.

132.

Statement 1 : The use of ICT in organizing teaching-learning programmes in the universities has

Given below are two statements

the potential to optimise the learning outcomes

Statement 2 : Formative assessment provides support to enhancing the quality of teaching-learning

sessions.
In light of the above statements, choose the most appropriate answer from the options given below
(A) Both Statement 1 and Statement 2 are correct
.Both Statement 1 and Statement 2 are incorrect
(C) Statement 1 is correct but Statement 2 is incorrect

(D) Statement 1 is incorrect but Statement 2 is correct

Which of the following statements are correct?

1. N.K.N stands for New Knowledge Network

2. MOOC:s are offline courses

3. National Supercomputing Mission is a Government of India initiative
4. Param Shivay is a super computer

Choose the correct answer from the options given below:

.3 and 4 only (B) 2 and 3 only

(C) 1 and 4 only (D) 1 and 2 only

E-Governance steps by Government of Gujarat

1. Government has provided VSAT-based “Broadband” connectivity to all the Village Panchayats
in the State through e-Gram Vishwagram Society.

2. All Village Panchayats have been provided with the computers, printers and other necessary
hardware so as to enable the village level computer operators to deliver government services to

the people.

3. State government has also decided to set up Common Service Centres (CSCs) in 6000 villages.
State Portal will accept citizen’s request for various services and deliver these services through

front ends such as broadband connected village panchayats/ CSCs/ cyber cafes in the State.
From the above statements, which statements are correct?
(A)1and2 (B)2 and 3
(C)12and 3 @1.22ana3

Which of the following is the hacking approach where cyber-criminals design fake websites or

pages for tricking or gaining additional traffic?
.Pharming (B) Website-Duplication
(C) Mimicking (D) Spamming
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133.

134.

135S.

136.

A2 2 [Qa-l sl

([Qtun 1 : et wRAiarumi 3 ucuiL ads gnq 3 [Ba-i man we 400 (30 saumi wailia s394
2 dHA MRl AHEBNHE Bl YR8 JuHi yedl u: ud cidl Hina vidlka B3 axd-l
el uRseuu saumi 2udl 9.

(A1 2 : NASA - ISRO SAR (NISAR) %1 NASA i1 ISRO gL dysd 3u [Asaaani 2udl 284l
215 (A3 04880 (low earth orbit) (LEO) dH2uvl 8 NISAR 12 [2auui yedl Ayul ool
A5 AUR 529 1 yedll [Radnidat, o1Rs uys, arulds Famal, ayg-l a4l alE,
@RLR{t 24 45U, Yrudl, scnouypll 24 epRuan Al ugldas seid anaar v xasisl
(Spatially) 1 2Rl (Temporarily) QQ @2{°ld 321 ugln 44l

A1 BT 513 U e 52U :
(A) HIAL 1 99, (B) HIA 2 13 €9,
@1 a2 vid i 8. (D) 1z 2 6iA 2 4,

A2 2 [Qa-l asil.

1. COP26 vild asmaiddl osudd 24434, dl 24 y: ww Gl donqu, ad 2030 ydlwi
[Brrt-24[gH01d 2l dlmiell 500 GW 22l Jloofl-l el siud a1 12 S19RqA 9.

2. 1R Yz Qo 2auid axdami ([Qeun sus gl Alda) Als 2l ollog 54, uan Glod andiui olloa s34
247, A2 Glol A 243 22 qR1d 8.

1AL BiR 18 uRie 53U :
@109 0. (B) Hist 2 01 8.
(C) 1 AL 2 6i A1 L 6. (D) 1 a2 6id i -4,

A2 2udan [l asl.

1. Y[R 24 HIGAAR T, AL 2 AU cll. 9-10-2022+1 A AL IR, UAH 6123) 2213% 24
ARGl 2uaRa “ylaun” “HidL”, vz aulfd sy,

2. AU B Gl S105H : AU B Bl S1ASHAL L. 2-11-2022+11 A% WM ScUML UL,
3. Hirtd A (s dlorril vidold afeL 2in gnfEa slac (s siisy 2022 | a3 scH 2ue.

4. PM-KUSUM o+ : uauid-il (B Glod 321 viam Geannt Heal®ai (PM-KUSUM) : Got i
oo Yra Yl wsal 12 5 And -doaadn s x4 AR Gy Bawent s30H vigdl e aridl
a5 uelL Gedl 54,

1AL Bl 513 e 52U :

@1, 2,3 214 4 am B, (B) 1,2 %1 3 i 8.

(C) 2,331 4 A 8. (D) 1,3 21 4 1AL 89,
‘i&:ﬂ"ll Glsrami 28l Gy (Trapped heat inside the earth) X IR 58 69,
(A) Gwu Got (B) 2ld G

@110 GoA (D) 444 (Thermal) Gt
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133.

134.

135.

136.

1. Gaganyaan project envisages demonstration of human spaceflight capability by launching
crew of 3 members to an orbit of 400 km for a 3-day mission and bring them back safely to
earth, by landing in Indian sea waters

2. NASA-ISRO SAR (NISAR) is a Low Earth Orbit (LEO) observatory being jointly developed
by NASA and ISRO. NISAR will map the entire globe in 12 days and provide spatially and
temporarily consistent data for understanding changes in Earth’s ecosystems, ice mass,
vegetation biomass, sea level rise, groundwater and natural hazards including earthquakes,
tsunamis, volcanoes and landslides.

Evaluate the below mentioned statements.

Select the correct answer code :
(A) only 1 is correct (B) only 2 is correct
.both 1 and 2 are correct (D) both 1 and 2 are not correct

Evaluate the below mentioned statements.

1. In line with Prime Minister’s announcement at COP26, Ministry of New and Renewable Energy
is working towards achieving 500 GW of installed electricity capacity from non-fossil sources by
2030

2. India stands 2nd globally in Renewable Energy Installed Capacity (including Large Hydro),
2nd in Wind Power capacity & 24th in Solar Power capacity

Select the correct answer code :
.only 1 is correct (B) only 2 is correct
(C) both 1 and 2 are correct (D) both 1 and 2 are not correct.

Evaluate the statements

1. Solarisation of sun-temple and town of Modhera, Gujarat: On 09.10.2022, Prime Minister
dedicated to the nation, India’s first Battery Storage and Solar Power-based ‘Suryagram’ -
“Modhera”.

2. National Bioenergy Programme: The National Bioenergy Programme was launched on
2.11.2022.
3. Vayumitra and Jalmitra Skill Development Programmes under Human Resource Development

Scheme were launched in 2022.

4. PM-KUSUM Scheme: Pradhan Mantri Kisan Urja Suraksha evam Utthaan Mahaabhiyan
(PM-KUSUM): To provide energy and water security, de-dieselise the farm sector and also
generate additional income for farmers by producing solar power.

Select the correct answer code :

.1, 2, 3 and 4 all are correct (B) 1, 2 and 3 are correct
(C) 2,3 and 4 are correct (D) 1, 3 and 4 are correct

Trapped heat inside the earth is known as
(A) Heat energy (B) Kinetic energy
.Geothermal energy (D) Thermal energy
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137.

138.

139.

140.

yuiaelly AR 211 yutaella AR A A2l DA 2uua 9. 58 A =l 4 ?

(A) AHU AHAr

(B) Blas Ala urd Auan :

(C) (@~ dHan :

() EESTERERE

o d gclldd &l (wetlands) (A2 AHA s8a 8.
o d SAr AHUR ASWHL 197141 AUUAUH] 20 8.
o d 197541 AHAH] U,

o d las Alar- Aee W AHA e,
* d 199241 AU-UAUH] AU,
o d 19934 AHAU] 2U,

o d AR R 818 WS ARAA 8.
o d 198541 2AU-iaAcUMl 20,
* d 19884 AHHAHI 20,

o d Blas Alaua AHan (Convention on Biological Diversity) (CBD)
Al AidAdlA uaiaella wieisia © o 2Ry qua-Hl Guasd)
i, dril Guaiodl adl dueifl Ruu Add 2 A adusll sustd-l €.

* d 201041 AU UAURIPULY,
o d 201441 AHAH] 20,

AU UAR HI2f HIRd B SWAELSLA Y : aruza 2 iRl Adad il
1. 423 oimiRell YRl AU, 1976 : At 214 ol el den uall e A wgluidl ana

AEIHL dotgldd saUnl 2,

2. 6i1RR1Al 544 51A(b) QAd 53 € 5 22l At U Ay DAl AR gEdl wUlaRBL, Bt 53 A1 d-ll
anRew 54l d e uels ALRsHl yeid 529 W4l

3. Al Holeels Rsaidi-l san 48(b) 2ugel 2ud 8 5 AU YA, Fdrl 2 dHL YaIReW
5L 2L 2L %Al A AUl AR 5L WAL 523,

BurL WAL sy [Aanq / s (sl aea 9 ?

@1

(C) WA 3

(B) {12t 2
(D) 1,241 3

$4L HaUAA ‘“National Mission for a Green India’ $14 434 ¢9 ?

(A) el s d-nan

@) uuiaze 217 aq douan

(C) yell [Asu- Honaa (D) Buisd U4 i v =l

2023+l UN ostnay, ulRad ulRng - g, Aysd 2020t 214l1d (United Arab Emirates) (UAE) i
AAS, d oo agls ueL wnen 9.

(A) COP27 @ cor 23

(C) COP 29 (D) COP 30
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137. Pairs showing Environment treaties and Environmental Conventions are mentioned below. Which
pair is not correct?
(A) Ramsar Convention o It is called the Convention on Wetlands.
* It was adopted in the city of Iran, Ramsar in 1971.
e It came into force in 1975.

(B) Convention on Biological

Diversity (CBD)
* It is a convention for the conservation of biological diversity.
* It was adopted in 1992.
* It came into force in 1993.
(C) Vienna Convention e It is a convention for the Protection of Ozone Layer.

* It was adopted in 1985.

o It came into force in 1988.

.Rotterdam Convention < It is an international environment protocol on Access to Genetic
Resources and the Fair and Equitable Sharing of Benefits Arising
from their Utilization (ABS) to the Convention on Biological
Diversity (CBD).

e It was adopted in 2010.

¢ It came into force in 2014.

138. India’s Domestic Legal Framework for Wildlife Conservation: Constitutional Provisions for
Wildlife.

1. The 42" Amendment Act, 1976 : Forests and Protection of Wild Animals and Birds was
transferred from State to Concurrent List.

2. Article 51 A(b) of the Constitution states that it shall be the fundamental duty of every citizen to
protect and improve the natural environment including forests and Wildlife.

3. Article 48(b) in the Directive Principles of State policy mandates that the State shall endeavour
to protect and improve the environment and to safeguard the forests and wildlife of the country

Which of the above statement/s is/are correct?

.only 1 (B) only 2
(C) only 3 (D) 1,2 and 3
139. Which Ministry has undertaken the National Mission for a “Green India”?
(A) Ministry of Rural Development .Ministry of Environment & Forest
(C) Ministry of Earth Sciences (D) None of the above

140. The 2023 UN Climate Change Conference was convened in Dubai, United Arab Emirates (UAE).
It is also known as

(A) COP 27 @cor2s
(C) COP29 (D) COP 30
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141. 2 (Bacteria) W4E DNAA .......... A4 [At12d 5301 Ul [Qwgy (Viruses)oll Y(8id 2 €.
(A) Ligase .Endonuclease
(C) Exonuclease (D) Gyrase
142, Gewg- $AML 20 NAH 211 -lS 913 (Plant) .......... Sdll.
(A) Aot &)y
(C) 3id1R (D) sWA
143. %lln-l 98w vaadl (B .......... 58 69,
(A) U2 50l @ 245 2i-w-udo
(C) uA4 54 (D) @+ 4l
144. 3i0RUL SSNMH [Geuan .......... vild-L A s a8 sidl [Asaaami sudl.
(A) 2ul3st (B) el x134R 41
@5 (D) 33\
145. Nano (A-ll) %% .......... il uicul.
@05 a0e (B) Sarcllun 20g
(C) al2+ ave (D) 34 g
146. 2UHIR R (base layer)Hidl 215 viac ay (ANl gL 2 2ivar ulsa .......... .
(A) Georeference (B) Geoid
(C) GIS @ Geocode
147. 221, [AAIR MYl A HUR A8 5L HI2 QURAAL A$1521 Uit U Al Fdl AL ......... 8.
.Pylon (B) Pilose
(C) Boot (D) Cabin
148. Gl onldui Aaui @A QAidRd s GualdHi Adldl 4ad .......... 58 69,
.Agrobacterium tumefacians (B) E. Coli
(C) Acetobacter (D) Bacillus thuringiensis

149. Ri$4s (infections) A2l olof Un g & ?
(A) (Brr-2 L 2101 (Non-Communicable diseases)
.ﬁlﬂ 21l (Communicable diseases)
©) (Bir-nuRi8m 2121 (Non-transmissible diseases)
(D) ARA12Ld A2 (Heredity diseases)

150, SLAMi A2 Al €2 viot % dlst Al adfl 811 €9 24 dHixL Hi21MdIAL «............ A1 AL 69,
.Carcinogens (3[[{{'1]"3 "2{) (B) Invigorating (ﬁ\[:lﬁl?-l!x)
(C) Organic farming (Q{@Cl "\{cﬂ) (D) Balanced diet (Q{Q[Qd :bllé.R)
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141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

Bacteria protect themselves from viruses by fragmenting viral DNA with

(A) Ligase .Endonuclease

(C) Exonuclease (D) Gyrase

The first transgenic plant produced was .

(A) Brinjal . Tobacco

(C) Rice (D) Cotton

Excision and insertion of a gene is called

(A) Biotechnology .Genetic engineering
(C) Cytogenetics (D) Gene therapy

The concept of SSNM in rice was developed in cooperation with researchers across

(A) Africa (B) South America
.Asia (D) Europe

The word Nano came from
@ Greek word (B) Italian word
(C) Latin word (D) French word

The process of identifying a location by one or more attributes from a base layer is

(A) Georeference (B) Geoid

(C) GIS @) Geocode

A pillar like structure on the wing of an aircraft used for carrying an engine, weapon or other load
is

@ryion (B) Pilose

(C) Boot (D) Cabin

The organism which is used for gene transfer in higher organism is
.Agrobacterium tumefacians (B) E. coli
(C) Acetobacter (D) Bacillus thuringiensis

What is the other name for infectious diseases?

(A) Non-communicable diseases .Communicable diseases

(C) Non-transmissible diseases (D) Heredity diseases

The current rates of disease are increasing at alarming speeds and most are closely
linked with

.Carcinogens (B) Invigorating

(C) Organic farming (D) Balanced diet
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151.

152.

153.

154.

158.

156.

157.

158.

cuRdly @25l gilRued At HSREAS (AAA el SlEl HRAAUR MaH HRa st 69 ?
(A) HR ¥R WY si-lles: (B) Ag2+1r2 %Re Y[Rl 1211
(C) u% sy visHlE Aan A @12 uela a-u 2. waR

MRAT 54 A% 3L 237 53 Al Gewe ylas wmand uaiern 5308 6 ?
@::n (B) dha-ug
(C) $aul2s (D) 2AiaMe

sul g2 [Aa-u Al wie *Hél"l\l s &30[1'1 (Nutrino-detecting telescope) ‘Trident’ < Ruiw 53
/U ?

@ (B) Ui

(C) yrusses R (D) A

56 e Bl 200UdHi GURd A18 AU AY S AUsL s 12 42 gd) ?
@:10uq Y[R (EU)

(B) ¥ysd A2 (UN)

(C) el Aean-dls Jé sidl-ud 3 (NATO)

-\

(D) WS SR AUS DA (SCO)

cucdla Al Al van adlsa -3 21a (VWT) sui 2uddl €9 ?
(A) B, 211 s19412 (B) Briawvis
@3 aa uza (D) A3R0A4 U

A N

2L Q¥ =4l {val Al D12 2 ugiaa e sul 22 adl [Auas diellz 521521 um-l 530 8 9 ?
(A) 2Awn (B) o4+l

(C) A @S54

5§ 37U 2R w2 Sulad iis2iorR 202341 AAUUHE RS AUl aial [t A s
(@125 (HAL) 18 MoU YR ScléR $ul 8l ?

(A) sui¢2 [A2231 (Dassault Systemes)

(B) ¥i2¢1 (Airbus)

.2-‘\13'1 U152 B (Safran Aircraft Engines)

D) AR YU (Thales Group)

37401 A 2l 2023+ Ut Nl s su-l 58 8dl ?

(A) Google Pay .PhonePe
(C) Paytm (D) Amazon Pay
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151.

152.

153.

154.

155.

156.

157.

158.

Who is the first woman to hold the position of Director General Hospital Services (Armed Forces)

in the Indian military?
(A) Major General Madhuri Kanitkar (B) Lieutenant General Punita Arora
(C) Surgeon Vice Admiral Sheila Samanta .Air Marshal Sadhna S Nair

Which Indian State is planning to set up a ¥ 237 crore graphene production facility?
@ xerala (B) Tamil Nadu
(C) Karnataka (D) Andhra Pradesh

Which country is building the world’s largest neutrino-detecting telescope, “Trident”?

.China (B) Japan
(C) United States (D) Russia

Which organization conducted a first joint naval exercise with India in the Gulf of Guinea?
.European Union (EU)

(B) United Nations (UN)

(C) North Atlantic Treaty Organization (NATO)

(D) Shanghai Cooperation Organisation (SCO)

Where is the Indian Army’s first Vertical Wind Tunnel (VWT) located?
(A) Jammu and Kashmir (B) Uttarakhand
.Himachal Pradesh (D) Arunachal Pradesh

Which country is experiencing a severe demographic crisis, with the number of births hitting a

new low this year?
(A) Japan (B) Germany
(C) China @12ty

Which French aero engine company signed an MoU with Hindustan Aeronautics Limited (HAL)

in October 2023 to enhance industrial cooperation in aerospace?
(A) Dassault Systémes (B) Airbus
.Safran Aircraft Engines (D) Thales Group

Which company was the official sponsor of the 37th National Games in 2023?
(A) Google Pay .PhonePe
(C) Paytm (D) Amazon Pay
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159.

160.
161.

162.

163.

164.

165.

166.

quilad 24 Su-l % s sl (Philanthropy and Corporate Social Responsibility) W2 2023+
USISPF dlAs g Y512 st Houl ?

(A) %8I+ A3 (John Chambers) (B) 452 {608l (Mukesh Ambani)
@ vicus (Nita Ambani) (D) 4352 28] (Mukesh Aghi)

€35 [reauni slamslol A2 Rlad MiRddg uau A% 54 6 ?

(A) dlRa-ug ERIED

(C) HIRg @3

AT Al [ AHAA (Safety Summit) 2023 0l s 89 3 8 ?

(A) USA (B) Al

(C) *ud ®uk

UNESCO &R0 dlB 4l 5Ul IRl 28 A8 A8 UM 2iucumi 20y § % 28 21 [Aldre -un
HNAUR MIRAT, UAH ASR 61 €9 ?

A) Bedl (B) A~usS (- BRIPK (D) y8l

202341 Halloween Day 8 dilvi Goracuui el ?
@52k 31 (B) AR 1 (C) AMAR 2 (D) 4R 3

aal AU SivsA4, 20231 Al A5 Yo [AuUag (Theme) g ¢l ?

@)\ wsiuorR ngani RS yrau : ucdum-a gRUS walsdiziia usdlol Ar Juasui 3uidRd

sl (Maritime security common maritime priorities region : Converting common maritime
priorities into collaborative mitigating frameworks)

(B) e[Ru Y2au v BMRAl [Biri-uudid AviHl : TOR U Ar 12 ul3u ¢y[Rs1 WS- A (Maritime
security and emerging Non-Traditional Threats : A case for proactive role for IOR Navies)

(C) IOR Hi udamu sRay waadl x4 wells eRud g el ¥38ud (Common
maritime priorities in IOR and need for regional maritime strategy)

(D) BURisd WS 218 vt 1l

®IRd-UL Deep Ocean Mission (DOM) Hi Gualoiui daudd AetHHoiad un g o ?

(A) AR K6 (B) A5
(C) BA-HRY () BXEDIE]
‘592 (Kavach) 26€ % TR AHIRARIHL AL WL 89, di ......... -l Gedu 53 69,

@220 Ad [QsRia 21 2asme Rara ueudl
(B) Ml A HIZ A5 UsR [Asudg sivaR

(C) &L AWHA 241 [A512 A28 (Defence Research and Development Organisation) (DRDO)
g1 [Asuda Rnda [@aid waud

(D) MRdla v1asa iUl AL (Indian Space Research Organisation) (ISRO) glll [asnaami
2udd Guus.
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159.

160.

161.

162.

163.

164.

165.

166.

Who received the 2023 USISPF Global Leadership Award for Philanthropy and Corporate Social
Responsibility?

(A) John Chambers (B) Mukesh Ambani

.Nita Ambani (D) Mukesh Aghi

Which Indian State is the first to have a hallmarking center in every district?
(A) Tamil Nadu (B) Karnataka
(C) Maharashtra .Kerala

Which country had hosted the AI Safety Summit 2023?
(A) USA (B) China
(C) India @ ux

Which Indian city was recently named the ‘City of Literature’ by UNESCO, making it the first
city in India to receive this distinction?

(A) Delhi (B) Chennai
.Kozhikode (D) Pune

On what date was Halloween Day celebrated in 2023?
.October 31 (B) November 1
(C) November 2 (D) November 3

What was the theme of the 4th edition of Goa Maritime Conclave 2023?

.Maritime Security in the Indian Ocean Region: Converting Common Maritime Priorities into
Collaborative Mitigating Frameworks.

(B) Maritime Security and Emerging Non-Traditional Threats: A Case for Proactive Role for IOR
Navies

(C) Common Maritime Priorities in IOR and Need for Regional Maritime Strategy
(D) None of the above

What is the name of the submersible used in India’s Deep Ocean Mission (DOM)?
(A) Sagar Ké (B) Rounaq
(C) JAL-Matsya .Samudrayaan

The term “Kavach” often seen in the news refers to
.The indigenously developed train collision avoidance system
(B) A new type of armour developed for the Indian Army

(C) An anti-missile system developed by the Defence Research and Development Organisation
(DRDO)

(D) The satellite developed by the Indian Space Research Organisation (ISRO)
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167.

168.

169.

170.

171.

172.

173.

174.

175.

sUL 22 dril t{IRRME ATiUR Ad w1, AR uRRAlAA erma s34 69 ?

INER] B) [

(©) et silRuy @G siku

Daumiddl 58 A dd, As ave, 25 ALl WeslH a3 saduR 9 ?

(A) *urdla 2ell Y2 @0:u aollell 2uuia

(C) curdlu AAnd 6ivs (D) AU Hira 2512 2010

US-u Ql‘%}l[?l A tuad- gL WldAlsd White House National Medal for Technology and Innovation
dal The National Medal of Science Aal$dl sid A=A $c0Hi 2 ?

@205 ousolla 27 you yia (B) e M2 27 uean -udean
(C) ¢2(Ag [Fwu 21 i A (D) YA AANA 241, Al HigH

(G2 202104 24221 (World Health Organisation) (WHO) 121 84 191 12 The Strategic and Technical
Advisory Group (STAG) il g4 d313 si-l [Augls sl 2udl ?

(A) BA Axd (B) el Wl
@i 2a (D) B uda

DA VA 56 AlZ2A Uil uaH Yas S S[Ra §2d-3, yad S[RuL2ivs 4 2w viis AR’
w2 2023 Hi Alus AlRslAs un U [Bréla w0534 Yras Y512 el ?

(A) x%ua (B) AgA viir

(C) B aul @) e

(2221 (Statista) g2, QMU (3125 YRS Avuni (ia-dl sH 50 6 ?
& (B) o0l

(C) uau (D) uial

A U4 54 28R A ‘MuRdd Al ASR’ (Tea city of India) dl5 2vua €9 ?

(A) slastl (B) il

(C) el (o (1) AR

an] 20230 Y3l W2l sladin LR (Ballon d’Or) 513 ¢y ?

(A) Cristiano Ronaldo .Lionel Messi
(C) Kylian Mbappe (D) Erling Haaland

HIRAL MAH Wi-Fi-6 38 ell36iw3 d2asl 3o a1 WIS 541 Als dsllE A4 TATA-ESI9R 018
aullerdl 531 ?

(A) AHRI2L (Samsung) (B) ¥ud (Apple)
@i (Nokia) (D) &2048$ (Huawei)
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167.

168.

169.

170.

171.

172.

173.

174.

175.

Which country has officially embedded its nuclear weapons status in its Constitution?

(A) China (B) Russia

(C) South Korea .North Korea

Which of the following organizations is set to launch its “One Nation, One Registration platform”?
(A) Election Commission of India .National Medical Commission

(C) Reserve Bank of India (D) National Human Rights Commission

Who were awarded the prestigious White House National Medal for Technology and Innovation
and the National Medal of Science by US President Joe Biden?

.Ashok Gadgil and Subra Suresh
(B) Sundar Pichai and Satya Nadella
(C) Arvind Krishna and Shantanu Narayen
(D) Parag Agrawal and Neal Mohan

Who has been appointed as a member of the Strategic and Technical Advisory Group (STAG) for
Tuberculosis by the World Health Organization (WHO)?

(A) Rajesh Sharma (B) Anjali Mehta
.Sarang Deo (D) Priya Patel

Who won the British Academy Book Prize for Global Cultural Understanding in 2023 for his / her
debut book, ‘Courting India: England, Mughal India, and the Origins of Empire’?

(A) Arjun Patel (B) Rahul Khan

(C) Priya Sharma @ ~andini Das

According to Statista, what is India’s rank in the number of fintech unicorns worldwide?
@ hira (B) Second

(C) First (D) Fourth

Which city is known as the “Tea City of India”?

(A) Kolkata (B) Guwahati

(C) Darjeeling @ pibrugarh
Who won the 2023 Ballon d’Or for men?

(A) Cristiano Ronaldo .Lionel Messi
(C) Kylian Mbappe (D) Erling Haaland

Which global technology leader partnered with TATA Play Fiber to launch India’s first
WiFi6-ready broadband network?

(A) Samsung (B) Apple
@ ~okia (D) Huawei

[CSP-2] rro. [



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


176.

177.

178.

179.

180.

181.

182.

183.

QA U4 sal "13-1_}:@ RUAS Gway ant (The Orionid meteor shower) <13 ueL snena ¢ ?

(A) Hyakutake (B) Hale-Bopp

(C) Neowise .Halley’s

MRAlL A 214 g YRa A (ICAR - Indian Institute of Soil and Water Conservation)
(ICAR - IISWC) 4 Hvuiau sui Rad ¢ ?

(A) A3WH @iz

(C) dgueug (D) Rmen

Y Y

iU UL HdlL 202341 F64 28l 61269 554 [ 3518 518 disl ?

(A) 2drs MxRu (B) Y& [Rs o2

(C) ndlwL sHR @)1q 2l

HRa ualsase vadi a3 59 vua (Food) RlAadl sivl3uqd ulde ddladl cuollel w2 uyld
dlHl 3 sul ?

(A) Swiggy (B) DoorDash

.Zomato (D) Foodpanda

c

cudly A-ul 764 N [Ba sui wrteal ?
@+ 217 510z (B) WAt
(C) slRumn (D) [Bwaa uga

TAF 2 Al 244 Wif32di 428 uR 52¢ll $-400 212 [35 -4 Mnda 25digq d-id 3 6 ?

@ (B) AR

(C) i (D) &9

Sr2ruqd (Ben §28lad s SR (IFFI) L 5440 202530 112 Sv2A2d 2yl Und (AidA)U
[Rauus Une) - v siesd ?

(A) ¥lax ]3] (Steven Spielberg)

.Q\l"R $YR (Shekhar Kapur)

©) &g"él"l 21174\l (Qeuntin Tarantino)

D) Wl 2814 (Martin Scorsese)

56 ARl AAUA A2 U52101R 202341 d-l [Asu-1 vslled A2 x-narR 53 8d ?
(A) S[R3u 19 A 2SR (cudly vidla Aaa- f2an)

(B) MR &4 Sasdlsen dldl2s

(C) *uRd sruA[Bs dQldl2s

Py

@)-51u22 210
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176.

177.

178.

179.

180.

181.

182.

183.

Which comet is also known as the Orionid meteor shower?

(A) Hyakutake (B) Hale-Bopp

(C) Neowise .Halley’s

Where is the headquarters of the ICAR-Indian Institute of Soil and Water Conservation
(ICAR-IISWC) located?

(A) Gurugram .Dehradun

(C) Hyderabad (D) Shimla

Who broke the world record in the javelin throw in the F64 category at the 2023 Asian Para

Games?
(A) Devendra Jhajharia (B) Sundar Singh Gurjar
(C) Praveen Kumar .Sumit Antil

Which food delivery app introduced maternity insurance for women delivery partners AS A STEP
FOR WOMAN EMPOWERMENT?

(A) Swiggy (B) DoorDash
.Zomato (D) Foodpanda

Where did the Indian Army mark the 76th ‘Shaurya Diwas’?
.Jammu and Kashmir (B) Punjab
(C) Haryana (D) Himachal Pradesh

How many S-400 air defense missile squadrons has the IAF deployed along the borders with

China and Pakistan?

.Three (B) Four

(C) Five (D) Six

Who was the chairman of the international jury panel for the 54th edition of the International
Film Festival of India (IFFI)?

(A) Steven Spielberg .Shekhar Kapur

(C) Quentin Tarantino (D) Martin Scorsese

Which Indian aerospace organization unveiled its Vikram-1 orbital rocket in October 2023?
(A) Indian Space Research Organisation

(B) Bharat Heavy Electricals Limited

(C) Bharat Dynamics Limited

.Skyroot Aerospace
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184.

185.

186.

187.

188.

189.

190.

191.

MURAHE 21U [2grer 244 Adldin Ueis 2auar Hi2 58 cndly NeiDid) e (SiRuq S-deye
2§15 25UAl®) A A0 Wd cwlletdl 53 69 ?

(A) IIT 63 (B) IIT [2&d)

(C) IIT 451 @t sy

dedittd AR WS 2023 (Alus Qs wRdils 2023) w2 sa cudlu Qg vildn wigolui uie
SAAHL 2L Sl ?

@:\u v (B) 2@ [Bud
(C) Al aidIYS (D) 2A2[dg o

IR $UL ABUHL HQlQH*ﬂ dl wenld ‘Candolleomyces albosquamosus’ wufl 2udl ?

(A) sRU25 (B) HSIRIN
@::0 (D) aAa-ug
u+2 ;191 12 (Paintbrush swift) (Baoris farri) 9 © ?

(A) udll (B) Yt
@by (D) WY

A& ASs S12115 s 4 Su (WPY) uaiui ‘10 avl 244 defl -l Gu’ i quogami Adiza S-uu
sl ey ?

(A) s~ AxL (B) U4 u2d

(C) HRL v () [EERICIEPEY

QR A WAL 1 AU FHRAA 3H eigdds Al HG HogEl Hold 8 5 g yal $a W2 HIRd
AR 3L 1557 53 s100 8 ?

(A) Ruaa uga @Grris
(C) sRuu (D) A=A

21521042 202341 U1 AWM A 2Ll simsdadg 2l sRAUNL 2U 8 ?

(A) Ausidl @ 2ucilo

(C) %814 (D) &ari#R

PRAGATI, 434 2520 Wiri-lld asiiannsii-l z1eagdiui alond, Bui cuzd- [Qldy osal we Radus
Al 216 Al alen sl udl 8dl. PRAGATI 216€ 9 yad € ?

(A) Performance Review and Action Group for Infrastructure

(B) Public Grievance Redressal and Internal Security

(C) Project Review and Analysis for Growth and Investment

.Pro-Active Governance and Timely Implementation
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184.

18S.

186.

187.

188.

189.

190.

191.

Which Indian Institute of Technology has partnered with Airbus to promote aerospace education

and innovation in India?
(A) IIT Bombay (B) IIT Delhi
(C) IIT Madras @it Kanpur

Which Indian teacher was named a finalist for the Global Teacher Prize 2023?
.Deep Narayan (B) Ranjitsinh Disale
(C) Sonam Wangchuk (D) Arvind Gupta

In which Indian State was a new mushroom species ‘Candolleomyces albosquamosus’ discovered?
(A) Karnataka (B) Maharashtra
.Kerala (D) Tamil Nadu

What is the paintbrush swift (Baoris farri)?
(A) Bird (B) Flower
.Butterﬂy (D) Snake

Who won the top prize in the '10 years and under' category at the Wildlife Photographer of the
Year (WPY) competition?

(A) Rohan Sharma (B) Aarav Patel

(C) Zara Khan .Vihaan Talya Vikas

Which Indian State has received approval for the Jamrani Dam Multipurpose Project, with the

Indian government allocating Rs. 1,557 crore for its completion?
(A) Himachal Pradesh .Uttarakhand
(C) Haryana (D) Rajasthan

Which city hosted the Green Tourism Conclave in October 2023?
(A) Guwahati @) shiliong
(C) Imphal (D) Bhubaneswar

The 43rd edition of PRAGATI, chaired by Hon’ble Prime Minister, involved a review of eight
projects that are crucial for various States in India. What does PRAGATI stand for?

(A) Performance Review and Action Group for Infrastructure
(B) Public Grievance Redressal and Internal Security
(C) Project Review and Analysis for Growth and Investment

.Pro-Active Governance and Timely Implementation
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192.

193.

194.

195.

196.

197.

198.

199.

200.

-1 WS 53 A8R ‘Sweet City of India’ als onelld & ?

(A) uevu (B) 21l

@552 (D) €26

2l WS sul 221/ 5L eell AYSd A 1L HIY el ?

(A) Sealand (B) Christiania

(C) Crimea .@‘i@lfn‘l dHIH

‘Champions of Earth’ Y2512 -1l UL 56 422 6121 AA-Udd $UH] 20l ?

(A) a¢S SRS 5124 @524 Aa-u -uri-d-e uw
(C) 24t irnui-Hre Sl (D) A& Givs

aud- g2l yad (Sasaq slaq wis S[RuL (ECT), UdslRiA Udeit 12 9l s @A d-
‘National Icon’ d<l3 [Rysd sul & ?

(A) W83 v (B) 2[R 12

(C) 2012 vt @)1 2

AR $UL Sa[Ad U2 26 2522 A%A AR [BAU (Accession Day) dZls Gogasll 53 ¢ ?
@)+ 211 sl (B) 4gw

(C) dglas (D) aalgu
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192.

193.

194.

195.

196.

197.

198.

199.

200.

Which city is known as the “Sweet City of India”?
(A) Patna (B) Gaya
.Muzaffarpur (D) Darbhanga

Which of the following countries is/are not recognized by the United Nations?

(A) Sealand (B) Christiania

(C) Crimea @Al of these

The “Champions of Earth” award was conferred by which of the following organisation?

(A) World Economic Forum .United Nations Environment Programme
(C) Global Environment Facility (D) World Bank

Which actor is appointed by The Election Commission of India (ECI) as its ‘National Icon’ to
inspire voters to cast votes?

(A) Shah Rukh Khan (B) Amitabh Bachchan
(C) Aamir Khan .Rajkummar Rao
Which Union territory of India celebrates Accession Day on October 26?
.Jammu and Kashmir (B) Ladakh

(C) Chandigarh (D) Lakshadweep

Which village of Gujarat is awarded as the Best Tourism Village by the United Nations World
Tourism Organization (UNWTO).

.Dhordo (B) Saputara

(C) Kalali (D) Vamaj

Hon’ble CM of Gujarat recently unveiled the warship of Indian Navy named after a city of
Gujarat. What is the name of that warship?

(A) Surat (B) Mundra

.Hazira (D) Veraval

On which date is World Polio Day celebrated every year to raise awareness about the importance

of polio vaccination?
.October 24 (B) October 26
(C) October 27 (D) October 25

Who won the women’s singles event at the Abu Dhabi Masters 2023?
.Unnati Hooda (B) Ankita Raina
(C) Aditi Sinha (D) Lakshya Sen
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